# **UNITED STATES BANKRUPTCY COURT** FOR THE NORTHERN DISTRICT OF ALABAMA SOUTHERN DIVISION

)

) )

In re:

WALTER ENERGY, INC., et al.,<sup>1</sup>

Chapter 11

Case No. 15-02741-TOM11

**Debtors.** 

(Jointly Administered)

Objection Deadline: October 6, 2015, at 4:00 p.m. (CT)

# NOTICE OF FIRST MONTHLY FEE APPLICATION OF BABC FOR PERIOD FROM 7/15/15 THROUGH 8/31/15

TO: (I) THE DEBTORS, (II) COUNSEL TO THE DEBTORS, (III) COUNSEL TO THE STEERING COMMITTEE, (IV) THE OFFICE OF THE BANKRUPTCY ADMINISTRATOR, (V) COUNSEL TO THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS, (VI) COUNSEL TO THE SECTION 1114 COMMITTEE, AND (VII) DIRECT FEE REVIEW, LLC, PROPOSED FEE EXAMINER

The First Monthly Fee Application of Bradley Arant Boult Cummings LLP ("BABC") as Counsel for the Debtors and Debtors-in-possession for Allowance of Compensation and Reimbursement of Expenses Incurred for the Period from July 15, 2015 through August 31, 2015 (the "Application") has been served on the Notice Parties in accordance with the Order Pursuant to Sections 105(a) and 331 of the Bankruptcy Code Establishing Procedures for Interim Compensation and Reimbursement of Expenses entered on September 3, 2015 (the "Interim Compensation Order") [Docket No. 650].<sup>2</sup> The Application seeks allowance of fees in the amount of \$967,874.50 and expenses in the amount of \$10,853.19.

<sup>2</sup> Capitalized terms not otherwise defined herein shall have meanings provided in the Interim Compensation Order.



Desc

ඊෂීණ්¹්෪ී-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36

Main Document Page 1 of 166

The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Walter Energy, Inc. (9953); Atlantic Development and Capital, LLC (8121); Atlantic Leaseco, LLC (5308); Blue Creek Coal Sales, Inc. (6986); Blue Creek Energy, Inc. (0986); J.W. Walter, Inc. (0648); Jefferson Warrior Railroad Company, Inc. (3200); Jim Walter Homes, LLC (4589); Jim Walter Resources, Inc. (1186); Maple Coal Co., LLC (6791); Sloss-Sheffield Steel & Iron Company (4884); SP Machine, Inc. (9945); Taft Coal Sales & Associates, Inc. (8731); Tuscaloosa Resources, Inc. (4869); V Manufacturing Company (9790); Walter Black Warrior Basin LLC (5973); Walter Coke, Inc. (9791); Walter Energy Holdings, LLC (1596); Walter Exploration & Production LLC (5786); Walter Home Improvement, Inc. (1633); Walter Land Company (7709); Walter Minerals, Inc. (9714); and Walter Natural Gas, LLC (1198). The location of the Debtors' corporate headquarters is 3000 Riverchase Galleria, Suite 1700, Birmingham, Alabama 35244-2359.

Pursuant to the Interim Compensation Order, written objections to the Application, if any, are required to be served on BABC and each other Notice Party so as to be received on or before **October 6, 2015 at 4:00 p.m. (CT)** (the "<u>Objection Deadline</u>"). BABC and the objecting party will have ten (10) days from service of the objection to resolve the objection (the "<u>Resolution Deadline</u>"). If BABC and the objecting party do not resolve the objection by the Resolution Deadline, the objecting party shall file an objection (the "<u>Objection</u>") with the Court within three (3) business days of the Resolution Deadline and serve such Objection on BABC and each of the Notice Parties.

PLEASE TAKE FURTHER NOTICE THAT PURSUANT TO THE INTERIM COMPENSATION ORDER, IF NO OBJECTIONS ARE FILED AND SERVED IN ACCORDANCE WITH THE ABOVE PROCEDURE, THE DEBTORS WILL BE AUTHORIZED TO PAY 80% OF REQUESTED INTERIM FEES AND 100% OF REQUESTED INTERIM EXPENSES WITHOUT FURTHER ORDER OF THE COURT. ONLY IF AN OBJECTION IS PROPERLY AND TIMELY FILED IN ACCORDANCE WITH THE ABOVE PROCEDURE WILL A HEARING BE HELD ON THE APPLICATION.

Dated: September 22, 2015 Birmingham, Alabama BRADLEY ARANT BOULT CUMMINGS LLP

By: /s/Patrick Darby Patrick Darby Jay Bender Cathleen Moore James Bailey James P. Watkins One Federal Place 1819 Fifth Avenue North Birmingham, Alabama 35203 Telephone: (205) 521-8000 Email: pdarby@babc.com, jbender@babc.com, ccmoore@babc.com, jbailey@babc.com

Counsel to the Debtors and Debtors-in-Possession

# UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF ALABAMA SOUTHERN DIVISION

In re:

WALTER ENERGY, INC., et al.,<sup>3</sup>

Debtors.

Chapter 11

Case No. 15-02741-TOM11

(Jointly Administered)

Objection Deadline: October 5, 2015, at 4:00 p.m. (CT)

# SUMMARY OF FIRST MONTHLY FEE APPLICATION OF BRADLEY ARANT BOULT CUMMINGS LLP FOR COMPENSATION EARNED AND EXPENSES INCURRED AS ATTORNEYS FOR DEBTORS FOR THE PERIOD <u>FROM JULY 15, 2015 THROUGH AUGUST 31, 2015</u>

) )

)

Name of Applicant:

Authorized to Provide Professional Services to:

Date of Retention:

Period for which Compensation and reimbursement are sought:

Amount of Compensation sought as actual, reasonable, and necessary:

Bradley Arant Boult Cummings LLP

Debtors and Debtors-in-Possession

September 4, 2015 (*Nunc Pro Tunc* to July 15, 2015)

July 15, 2015 through August 31, 2015

\$967,874.50

Čීස්ජ්1්පී-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 3 of 166

<sup>&</sup>lt;sup>3</sup> The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Walter Energy, Inc. (9953); Atlantic Development and Capital, LLC (8121); Atlantic Leaseco, LLC (5308); Blue Creek Coal Sales, Inc. (6986); Blue Creek Energy, Inc. (0986); J.W. Walter, Inc. (0648); Jefferson Warrior Railroad Company, Inc. (3200); Jim Walter Homes, LLC (4589); Jim Walter Resources, Inc. (1186); Maple Coal Co., LLC (6791); Sloss-Sheffield Steel & Iron Company (4884); SP Machine, Inc. (9945); Taft Coal Sales & Associates, Inc. (8731); Tuscaloosa Resources, Inc. (4869); V Manufacturing Company (9790); Walter Black Warrior Basin LLC (5973); Walter Coke, Inc. (9791); Walter Energy Holdings, LLC (1596); Walter Exploration & Production LLC (5786); Walter Home Improvement, Inc. (1633); Walter Land Company (7709); Walter Minerals, Inc. (9714); and Walter Natural Gas, LLC (1198). The location of the Debtors' corporate headquarters is 3000 Riverchase Galleria, Suite 1700, Birmingham, Alabama 35244-2359.

Amount of Expense Reimbursement sought as actual, reasonable, and necessary:

<u>x</u> monthly

\$10,853.19

This is a:

\_\_\_\_ interim

\_\_\_final application.

Prior Applications Filed: None

# Schedule 1

Walter Energy, Inc., et al.

Compensation by Professional for the period July 15, 2015 through August 31, 2015

Name of Professional Person	Hourly Billing Rate (\$) (including	Total Billed Hours	Total Compensation (\$)
	changes)		
Jason C. Avery	405.00	6.80	2,754.00
James Bailey	375.00	190.00	71,250.00
Charles A. J. Beavers, Jr.	535.00	1.60	856.00
Jay R. Bender	610.00	235.9	143,899.00
Dylan C. Black	580.00	70.60	40,948.00
Zeke Couch	205.00	21.30	4,366.50
Patrick Darby	725.00	225.00	163,125.00
Christopher R. Grissom	530.00	11.60	6,148.00
John W. Hargrove	515.00	51.90	26,728.50
Denetra Hartzog	325.00	31.60	10,270.00
Veronica C. Henley	240.00	210.30	50,472.00
Kimberly A. Kirsch	235.00	58.60	13,771.00
James E. Long	430.00	19.50	8,385.00
Koni McBride	280.00	7.90	2,212.00
Jennifer D. McGahey	465.00	.20	93.00
Sarah Merkle	310.00	40.40	12,524.00
John K. Molen	575.00	81.10	46,632.50
Cathleen C. Moore	495.00	337.90	167,260.50
Cheryl K. Muglach	230.00	8.50	1,955.00
Robert E. Poundstone	485.00	.60	291.00
Tracy M. Thompson	495.00	67.60	33,462.00
Jim Thurman	205.00	25.60	5,248.00
Sid J. Trant	630.00	55.60	35,028.00
Jay Watkins	330.00	157.20	51,876.00
John D. Watson	480.00	139.60	67,008.00

Meade Whitaker, Jr.	585.00	.30	175.50
Kenneth T. Wyatt	575.00	.80	460.00
Harvey Yarborough	260.00	2.60	676.00
Grand Total:		2,060.60	967,874.50

# Schedule 2

Walter Energy, Inc., *et al.* Compensation by Category for the period July 15, 2015 through August 31, 2015.

Project Category	<b>Total Hours</b>	Total Fees (\$)
Case Administration (B110)	543.30	195,894.50
Asset Analysis and Recovery (B120)	110.30	48,381.50
Asset Disposition (B130)	236.60	134,928.50
Relief from Stay Proceedings (B140)	44.10	19,666.50
Fee/Employment Applications (B160)	112.00	55,332.50
Business Operations (B210)	93.10	52,593.50
Employee Benefits/Pensions (B220)	8.30	5,389.50
Tax Issues (B240)	54.30	23,134.00
Labor and Union Matters (B250)	119.90	64,186.00
Lease/Executory Contract Issues (B260)	60.20	26,097.00
Creditor Inquiries (B280)	16.80	9,201.00
Claims Administration and Objections (B310)	26.50	10,942.50
Plan and Disclosure Statement (B320)	111.30	54,067.00
Cash Collateral/Exit Financing (B330)	75.30	39,752.00
Litigation (B910)	448.60	228,308.50
TOTALS	2,060.60	967,874.50

# **COMPENSATION BY PROJECT CATEGORY**

# Schedule 3

Walter Energy, Inc., *et al.* Summary of Expenses for the period July 15, 2015 through August 31, 2015.

Expenses Category	Total Expenses (\$)
Court Costs and Litigation Expenses	1,349.40
Information Retrieval Services	2,091.50
Travel	1,197.10
Document Services	5,878.81
Overtime Expenses	204.65
Communications	35.38
Mail and Messengers	8.19
Business Expenses	88.16
TOTAL	10,853.19

# UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF ALABAMA SOUTHERN DIVISION

In re:

Walter Energy, Inc., et al.,<sup>1</sup>

Debtors.

Chapter 11

Case No. 15-02741-TOM11

(Jointly Administered)

Objection Deadline: October 5, 2015, at 4:00 p.m. (CT)

# FIRST MONTHLY FEE APPLICATION OF BRADLEY ARANT BOULT CUMMINGS LLP FOR COMPENSATION EARNED AND EXPENSES INCURRED AS ATTORNEYS FOR DEBTORS FOR THE PERIOD FROM JULY 15, 2015 THROUGH AUGUST 31, 2015

)

)

Pursuant to sections 330 and 331 of title 11 of the United States Code (the "<u>Bankruptcy</u> <u>Code</u>"), Rule 2016 of the Federal Rules of Bankruptcy Procedure, and the Order Pursuant to Sections 105(a) and 331 of the Bankruptcy Code Establishing Procedures for Interim Compensation and Reimbursement of Expenses [Docket No. 650], entered on September 3, 2015 (the "<u>Interim Compensation Order</u>"), Bradley Arant Boult Cummings LLP ("<u>BABC</u>"), attorneys for Walter Energy, Inc. and its affiliated debtors and debtors-in-possession (each a "<u>Debtor</u>" and, collectively, the "<u>Debtors</u>"), hereby files its First Monthly Fee Application for compensation earned and expenses incurred (the "<u>Application</u>") for the period of July 15, 2015 through August

<sup>&</sup>lt;sup>1</sup> The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Walter Energy, Inc. (9953); Atlantic Development and Capital, LLC (8121); Atlantic Leaseco, LLC (5308); Blue Creek Coal Sales, Inc. (6986); Blue Creek Energy, Inc. (0986); J.W. Walter, Inc. (0648); Jefferson Warrior Railroad Company, Inc. (3200); Jim Walter Homes, LLC (4589); Jim Walter Resources, Inc. (1186); Maple Coal Co., LLC (6791); Sloss-Sheffield Steel & Iron Company (4884); SP Machine, Inc. (9945); Taft Coal Sales & Associates, Inc. (8731); Tuscaloosa Resources, Inc. (4869); V Manufacturing Company (9790); Walter Black Warrior Basin LLC (5973); Walter Coke, Inc. (9791); Walter Energy Holdings, LLC (1596); Walter Exploration & Production LLC (5786); Walter Home Improvement, Inc. (1633); Walter Land Company (7709); Walter Minerals, Inc. (9714); and Walter Natural Gas, LLC (1198). The location of the Debtors' corporate headquarters is 3000 Riverchase Galleria, Suite 1700, Birmingham, Alabama 35244-2359.

31, 2015 (the "<u>Fee Application Period</u>"). Specifically, BABC seeks allowance of \$967,874.50 in fees earned and \$10,853.19 in expenses incurred during the Fee Application Period. In support of its Application, BABC respectfully represents as follows:

#### **Background**

1. On July 15, 2015 (the "<u>Petition Date</u>"), each of the Debtors filed voluntary petitions for relief under chapter 11 of the Bankruptcy Code, thereby commencing the instant cases (the "<u>Chapter 11 Cases</u>"). The Debtors continue to manage and operate their businesses as debtor-in-possession under sections 1107 and 1108 of the Bankruptcy Code.

2. The Bankruptcy Administrator for the Northern District of Alabama has appointed two official committees in the Chapter 11 Cases: a statutory committee of unsecured creditors; and a committee of retired employees pursuant to sections 1114(c)(2) and 1114(d) of the Bankruptcy Code (the "Section 1114 Committee").

3. On August 12, 2015, the Debtors filed their Application for an Order Authorizing the Retention and Employment of Bradley Arant Boult Cummings LLP as Attorneys for the Debtors and Debtors-In-Possession *Nunc Pro Tunc* to the Petition Date [Docket No. 446] (the "<u>Retention Application</u>"). On September 4, 2015 this Court entered its Order Authorizing the Retention and Employment of Bradley Arant Boult Cummings LLP as Attorneys for the Debtors and Debtors-In-Possession *Nunc Pro Tunc* to the Petition Date [Docket No. 653] (the "<u>Retention Order</u>").

## Statement of Final Reconciliation of Prepetition Fees and Expenses

4. BABC was specifically retained by the Debtors to assist with the Debtors' reorganization efforts, including the preparation and filing of the Chapter 11 Cases, pursuant to an engagement letter dated April 9, 2015. BABC received an advance retainer from the Debtors in the amount of \$300,000 on April 17, 2015. After final reconciliation and application of the prepetition charges, BABC held a retainer balance in the approximate amount of \$116,932.21 and was not a creditor of the Debtors. The remainder of the retainer will constitute a general retainer as security for postpetition services and expenses.

### **Relief Requested**

5. Pursuant to the Retention Order, BABC is entitled to compensation for fees incurred and reimbursement of expenses. During the Fee Application Period, BABC earned fees in the amount of \$967,874.50 and incurred expenses in the amount of \$10,853.19. All services for which compensation is requested by BABC were performed for or on behalf of the Debtors.

#### **Summary of Services Rendered**

6. <u>Schedule 1</u> above is a summary of fees earned for services rendered by BABC's professionals during the Fee Application Period. This attachment references the names of the professionals that performed work on behalf of the Debtors during the Fee Application Period and their corresponding hourly billing rates and number of hours worked.

7. <u>Schedule 2</u> above is a summary of compensation earned, arranged by project category.

8. <u>Schedule 3</u> above is a summary of expenses incurred by BABC in connection with its role as attorneys in the Chapter 11 Cases during the Fee Application Period. Such expenses include, without limitation, travel expenses, working meals, mailing and postage charges,

3

secretarial overtime, and copy charges. Details of such expenses are attached hereto in **Exhibit** 

<u>A.</u>

9. Also included in **Exhibit A** is a listing, arranged chronologically, of detailed time entries for services provided by BABC's professionals in the Chapter 11 Cases during the Fee Application Period.

# Valuation of Services

10. Attorneys and paraprofessionals of BABC have expended a total of 2060.60 hours in connection with this matter during the Fee Application Period.

11. The amount of time spent by each attorney and paraprofessional providing services to the Debtors for the Fee Application Period is fully set forth in detail in attached <u>Exhibit A</u>. The enumerated hourly rates are BABC's normal hourly rates for work of this character. The reasonable value of the services rendered by BABC as counsel for the Debtors in the Chapter 11 Cases during the Fee Application Period is \$967,874.50.

12. BABC believes that the time entries and expense breakdown included in <u>Exhibit A</u> are in compliance with the requirements of Local Rule 2016-1.

13. In accordance with the factors enumerated in 11 U.S.C. § 330, the amount requested is fair and reasonable given (a) the complexity of these cases, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title.

14. This Application covers the period from July 15, 2014 through and including August 31, 2015. BABC has and will continue to perform additional necessary services subsequent to August 31, 2015, for which BABC will file separate fee applications.

## Summary of Services

15. The compensation BABC seeks is appropriate for the time spent in connection with the Chapter 11 Cases, and sets forth a brief narrative description of the services rendered, for or on behalf of the Debtors, as follows:

# A. Case Administration (B110)

16. Among other services provided in this category during the Fee Application Period, BABC prepared and filed numerous motions and supporting documents seeking relief vital to the Debtors' continued operations; addressed service and notice issues and communicated with the Debtors' other professionals regarding same; communicated with the Debtors, co-counsel, opposing counsel, creditors, and interested parties about the case status; communicated with the Court's staff and the Bankruptcy Administrator about administrative issues; identified and docketed case deadlines; reviewed docket for recently filed pleadings; communicated with numerous parties regarding scheduling issues; prepared amendments to the list of Top 50 creditors; reviewed proposed orders; and assisted with reporting requirements.

# **B.** Asset Analysis and Recovery (B120)

17. Among other services provided in this category during the Fee Application Period, BABC assisted researched and analyzed the Debtors' property interests and worked with the Debtors' other professionals in finalizing the Debtors' schedules and statement of financial affairs.

## C. Asset Disposition (B130)

18. Among other services provided in this category during the Fee Application Period, BABC analyzed issues related to the proposed section 363 sale of the Debtors' assets; advised the Debtors on various section 363 sale issues; assisted the Debtors in negotiating an asset purchase agreement for the sale of the Debtors' assets; and responded to inquiries from potential bidders for the Debtors' assets.

# **D. Relief from Stay Proceedings (B140)**

19. Among other services provided in this category during the Fee Application Period, BABC analyzed the scope of the automatic stay with respect to various matters; prepared motions for and obtained stay relief for various matters; and responded to stay relief motions.

# **E. Fee/Employment Applications (B160)**

20. Among other services provided in this category during the Fee Application Period, BABC conducted an extensive conflicts review to disclose necessary information in connection with its employment application; assisted certain of the Debtors' other professionals in preparing employment applications; and assisted with the development of interim compensation procedures for the Debtors' professionals, including ordinary course professionals.

## **F. Business Operations (B210)**

21. Among other services provided in this category during the Fee Application Period, BABC assisted the Debtors in maintaining business operations and in efficiently and effectively administering the Chapter 11 Cases to preserve the value of the Debtors' assets and maximize returns to creditors; advised the Debtors on, among other things, board governance, vendor and supply issues, and credit issues; reviewed and analyzed key contracts to the Debtors' business and negotiated with vendors to maintain post-petition operations; and negotiated adequate assurance issues with various utility providers to maintain utility services.

## **G. Employee Benefits/Pensions (B220)**

Page 14 of 166

Main Document

Desc

22. Among other services provided in this category during the Fee Application Period, BABC worked with the Debtors, pension representatives, labor unions, and the bankruptcy administrator on section 1114 issues and the appointment of the Section 1114 Committee.

## H. Tax Issues (B240)

23. Among other services provided in this category during the Fee Application Period, BABC worked on the appeal of various state tax assessments, researched the scope of the automatic stay regarding certain tax matters, and conducted discovery on state tax matters.

## **I. Labor and Union Matters (B250)**

24. Among other services provided in this category during the Fee Application Period, BABC assisted the Debtors in negotiations with labor unions; researched and analyzed issues with respect to sections 1113 and 1114 of the Bankruptcy Code and advised the Debtors regarding the same; and advised the Debtors regarding labor contingency strategies.

## J. Lease/Executory Contract Issues (B260)

25. Among other services provided in this category during the Fee Application Period, BABC analyzed various agreements to determine their treatment in the Chapter 11 Cases and communicated with the Debtors regarding the same, and began work on motions under section 365 of the Bankruptcy Code.

#### **K. Creditor Inquiries (B280)**

26. Among other services provided in this category during the Fee Application Period, BABC responded to many creditor inquiries concerning, without limitation, the status and purpose of the Chapter 11 Cases and as credit and payment issues, and analyzed various trade creditor, vendor, and utility issues, and advised the Debtors regarding the treatment of creditor claims.

## L. Claims Administration and Objections (B310)

27. Among other services provided in this category during the Fee Application Period, BABC reviewed various claims filed in the Chapter 11 Cases and worked with the Debtors and the Debtors' other professionals to determine the treatment of certain claims; researched legal issues related to certain claims; advised the Debtors on scheduling and noticing potential claimants; and worked on the claims bar date order.

# M. Plan and Disclosure Statement (B320)

28. Among other services provided in this category during the Fee Application Period, BABC worked with co-counsel and the Debtors' other professionals in preparing the Debtors' disclosure statement and plan and prepared a motion to approve the disclosure statement, solicitation procedures, and related orders.

## <u>N. Cash Collateral/Exit Financing (B330)</u>

29. Among other services provided in this category during the Fee Application Period, BABC analyzed and advised the Debtors on issues related to the use of cash collateral, including, without limitation, adequate protection issues; worked with co-counsel in preparing responses to various objections and motions to the proposed cash collateral order; assisted the Debtors in obtaining authorization to use of cash collateral to maintain operations and preserve asset values; and participated in depositions and prepared for trial on cash collateral issues.

## O. Litigation (B910)

30. Among other services provided in this category during the Fee Application Period, BABC represented the Debtors in connection with all contested matters, including, without limitation, defending claims asserted against the Debtors by Dominion Resources Black Warrior Trust ("Dominion"). The work performed included legal analysis of underlying issues and

8

briefing related thereto, negotiations with parties; depositions; and extensive discovery related to various motions, adversary proceedings, and creditor inquiries.

## <u>Conclusion</u>

31. The fee and expense structure set forth in the Retention Order was designed to compensate BABC for its services and to cover fixed and routine overhead expenses. BABC's rates are consistent with those of other comparable firms that render services under similar circumstances. The compensation requested in this Fee Application is for actual and necessary services and expenses incurred in the Chapter 11 Cases.

32. BABC submits that the Application and the description of services set forth herein are in compliance with the Interim Compensation Order. A true and correct copy of the Verification of Patrick Darby is attached hereto as **Exhibit B**.

33. This Application covers the period from July 15, 2015 through August 31, 2015. Although every effort was made to include all fees and expenses from the Fee Application Period in this Application, some fees and/or expenses from the Fee Application Period might not be included in this Application due to delays in processing time and receipt of invoices for expenses and/or for preparation of the instant Application subsequent to the Fee Application Period. Accordingly, BABC reserves the right to submit further applications to the Court for allowance of fees and expenses not included herein.

## **Notice**

34. Notice of this Application has been or will be provided to (i) those parties entitled to receive notice in accordance with the Interim Compensation Order, and (ii) Direct Fee Review, LLC, the proposed fee examiner.

WHEREFORE, BABC respectfully requests allowance of compensation for professional

services in the amount of \$967,874.50 and reimbursement for expenses incurred in the amount of

\$10,853.19 during the Fee Application Period, pursuant to the Interim Compensation Order.

Dated: September 22, 2015 Birmingham, Alabama BRADLEY ARANT BOULT CUMMINGS LLP

By: /s/ Patrick Darby Patrick Darby Jay Bender Cathleen Moore James Bailey James P. Watkins **One Federal Place** 1819 Fifth Avenue North Birmingham, Alabama 35203 Telephone: (205) 521-8000 Email: pdarby@babc.com, jbender@babc.com, ccmoore@babc.com, jbailey@babc.com

Counsel to the Debtors and Debtors-in-Possession

# <u>Exhibit A</u>

Fee and Expense Detail



Walter Energy, Inc. c/o Earl H. Doppelt Senior Vice President and General Counsel 3000 Riverchase Galleria Suite 1700 Birmingham, AL 35244 SEPTEMBER 21, 2015 0W1525-301028

INVOICE # 1055703

FED ID NO. 63-0243316

FOR LEGAL SERVICES AND COSTS POSTED THROUGH 08/31/15

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Meeting with J.Watson, P.McCain on file and document security procedures (.40); conference with P.McCain on security issues (.10)	B110	JKM	.50	575.00	287.50
07/15/15	Meeting with P.Darby, S.Zelin on 363 sale process issues (.30); conference with T.Thompson on 363 sale process permit issues (.10); conference with S.Trant on 363 sale process environmental of permit issues (.10); multiple communications with Blackstone and Paul Weiss on 363 planning issues (.60)	B130	JKM	1.10	575.00	632.50
07/15/15	Meeting with P.McCain and J.Molen regarding establishing security on matter files and documents	B110	JDWA	.40	480.00	192.00
07/15/15	Prepare for and attend first day motion hearing	в110	JDWA	2.60	480.00	1,248.00
07/15/15	Calls to and from attorneys to gather information needed for retention disclosures	в160	JDWA	1.50	480.00	720.00
07/15/15	Review petitions "as-filed" and e-mails and conferences with P.Darby and J.Bender regarding petition details	B110	JDWA	.80	480.00	384.00



PAGE 2 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Review UMWA press statement as related to Section 1113, 1114 motion (.10); e-mail with J.Woodrum regarding UMWA statement (.10)	B250	JDWA	.20	480.00	96.00
07/15/15	Draft e-mail to firm personnel to ascertain relationships to debtor for security "wall" purposes (0.2); review responses to security e-mail (0.4)	B110	JDWA	.60	480.00	288.00
07/15/15	Review labor agreement issues and proposals in preparation for conference call with all bankruptcy attorneys	B250	JWH	1.10	515.00	566.50
07/15/15	Telephone conference with J.Molen regarding bankruptcy issues and potential environmental issues regarding restructuring process or sale process (.10) and review J.Molen emails summarizing issues to discuss and scheduling call (.10)	в130	SJT	.20	630.00	126.00
07/15/15	Attend hearing on first day motions	B110	JPD	2.60	725.00	1,885.00
07/15/15	Attend to filing and notice issues regarding first day motions	B110	JPD	.70	725.00	507.50
07/15/15	Meet with client and co-counsel to prepare testimony for first day hearing comprehensive review of final motions to prepare for first day hearings (.80); review research and background materials for same (.70); prepare arguments and presentation for first day hearing (1.20)	B910	JPD	2.70	725.00	1,957.50



PAGE 3 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Coordinate and oversee filing of petitions and first days (.9); confer with clerk's office regarding filing issues and coordinate transfer of Atlantic Leaseco case from Anniston to Birmingham (.4); work on venue transfer motion and proposed order (.3); prepared for first day hearings (.9); work on revisions to orders and first day follow up items (1.1)	B110	JRB	3.60	610.00	2,196.00
07/15/15	Attend first day hearing	B110	JRB	2.60	610.00	1,586.00
07/15/15	Conference with J.Molen regarding 363 sale process (.10) and review permitting issues (.10)	в130	ТМТ	.20	495.00	99.00
07/15/15	Conference with A.K.Averitt and telephone conference with J.Ezelle regarding filing notice of bankruptcy with state and federal courts in derivative cases	В910	DCB	.30	580.00	174.00
07/15/15	Review and finalize for filing notice of bankruptcy and suggestion of stay	в910	JDJ	.20	465.00	93.00
07/15/15	Review WBWB oil and gas leases in preparation for Schedule G	B110	VCW	1.40	240.00	336.00
07/15/15	Review boxes from G.Hensley regarding leases and contracts in preparation for Schedules	В320	VCW	2.70	240.00	648.00



PAGE 4 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Electronically file six petitions of bankruptcy, six joint administration motions, five pro hac vice motions (2.90), pay all court filing charges (1.30), electronically file twenty three corporate disclosure statements (1.40), list all court case numbers for all petitions (.40) assist with preparing notebooks of pleadings for hearing (.80)	B110	KAK	6.80	235.00	1,598.00
07/15/15	Prepared documents for first day hearings (.50); appeared at first day hearings (2.6)	В110	ССМО	3.10	495.00	1,534.50
07/15/15	Respond to email from CSX attorney regarding delivery in transit and his request for assurances that CSX will get paid (.10); discussions with Ann Young regarding payment to CSX (.10)	B280	ССМО	.20	495.00	99.00
07/15/15	Correspondence with co-counsel and lender counsel regarding submissions of order granting expedited hearing on first day motions to court	B110	CCMO	.20	495.00	99.00
07/15/15	Reviewed filed copies of pro hac motions (.10) and prepare proposed orders (.10)	в110	ССМО	.20	495.00	99.00
07/15/15	Correspondence with opposing counsel regarding first day pleadings and hearings	В110	ССМО	.30	495.00	148.50
07/15/15	Prepare and file motions for joint administration	в110	ССМО	.40	495.00	198.00



PAGE 5 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Conference with court regarding transfer of subsidiary case erroneously assigned to Anniston	B110	ССМО	.20	495.00	99.00
07/15/15	Correspondence with Kristine Manoukian and Ann Young regarding final approvals from Administrative Agent and filing of cash collateral pleadings	B330	ССМО	.20	495.00	99.00
07/15/15	Revised proposed case management order to include new notice parties	в110	ССМО	.20	495.00	99.00
07/15/15	Conference with opposing counsel regarding comments to proposed surety bond order	B110	ССМО	.20	495.00	99.00
07/15/15	Prepared and finalized proposed orders on first day motions and submitted same to Court	B110	ССМО	1.60	495.00	792.00
07/15/15	Edited and revised cash collateral motion and order and prepared for filing (.30); calls and emails with D.Meyers (.20) and lender counsel regarding same (.20)	B330	ССМО	.70	495.00	346.50
07/15/15	Correspondence regarding NOL Motion and finalizing same for filing	в110	ССМО	.20	495.00	99.00
07/15/15	Correspondence with Ann Young regarding filing of Motion to Assume RSA Agreement	в110	ССМО	.20	495.00	99.00
07/15/15	Work regarding filing of first day motions and corporate ownership disclosures (.30); revise statement of assets and liabilities on Walter Energy petition (.10)	B110	ССМО	.40	495.00	198.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 24 of 166



PAGE 6 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/15/15	Emails with Judge Mitchell's courtroom deputy regarding submission of proposed	B110	ССМО	.20	495.00	99.00
	orders and copy of amended exhibit A to Walter Energy petition					
07/15/15	Finalize and file petitions and first day motions and orders	в110	JB	4.20	375.00	1,575.00
07/15/15	Prepare exhibits and assist with preparations for first day hearing	В910	JB	2.70	375.00	1,012.50
07/15/15	Review service of first day pleadings and conferences with KCC regarding same	B110	JB	.60	375.00	225.00
07/15/15	Finalize and file petitions and motions for joint administration for multiple bankruptcy cases	в110	JW	2.30	330.00	759.00
07/15/15	Draft notices of bankruptcy and suggestions of stay for multiple pending litigation	В910	JW	.80	330.00	264.00
07/15/15	Revise and finalize orders for first day motions	B110	JW	1.20	330.00	396.00
07/15/15	Draft and revise motion to transfer venue and proposed order for Atlantic Leaseco case (.90); file and submit motion to transfer venue and proposed order for Atlantic Leaseco case (.40)	B110	ΨŪ	1.30	330.00	429.00
07/15/15	Review WBWB oil and gas leases in preparation for Schedule G listing	в120	SME	1.70	310.00	527.00



PAGE 7 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Review Watco and Alabama Warrior Railway discovery responses in Williams v. Walter Coke et al.	B120	SME	.30	310.00	93.00
07/16/15	Conference with L.Kennedy regarding review of WBWB leases for Schedules (.20); review and analyze WBWB leases in Quorum land database (3.7); phone call with client regarding status of lease review (.20)	B320	SME	4.10	310.00	1,271.00
07/16/15	Review and file notices of bankruptcy in pending litigation (.90); conference with co-counsel regarding same (.20)	В910	SME	1.10	310.00	341.00
07/16/15	Review letter regarding royalty recipient (.10) and respond to client (.10) research black lung benefit checks (.20) and discuss with client (.20)	B280	SME	.60	310.00	186.00
07/16/15	Review and analyze first day orders for issues and important deadlines and dates and draft summary of deadlines and dates for debtors' counsel	B110	ΜŪ	6.20	330.00	2,046.00
07/16/15	Attend team meeting regarding first day hearing and motions and follow up assignments and case strategy	в110	JW	.80	330.00	264.00
07/16/15	Research pending litigation and prepare notices of bankruptcy for G.Hensley and other various local counsel	В910	JW	2.10	330.00	693.00
07/16/15	Respond to multiple inquiries from client, co-counsel and advisors regarding case administration	в110	JW	1.20	330.00	396.00

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 26 of 166



PAGE 8 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Conference with counsel for creditors regarding critical vendor motion (.50); review first day orders and analyze obligations under same (.30); conference with client and advisors regarding critical vendor process (.60)	B210	JB	1.40	375.00	525.00
07/16/15	Review KCC certificate of service on first day motions (.20); emails with KCC regarding same (.30); work on updates to KCC case website (.30)	B110	JB	.80	375.00	300.00
07/16/15	Research related to formation of unsecured creditors committee	B110	JB	.20	375.00	75.00
07/16/15	Research and analysis of various deadlines and prepare memorandum	B110	JB	.30	375.00	112.50
07/16/15	Draft and revise NOL notice per first day order	B110	JB	.40	375.00	150.00
07/16/15	Begin drafting motion to set 341 hearing and approve publication notice	B110	JB	.60	375.00	225.00
07/16/15	Emails with clerk representative and KCC regarding filing of proofs of claim	B110	JB	.20	375.00	75.00
07/16/15	Review various notices of appearance filed on docket and update service of first day orders and service to creditors	B110	JB	.60	375.00	225.00
07/16/15	Reviewed wages motion and proposed orders to ascertain mechanism for seeking entry of supplemental order and correspondence regarding severance and bonus plan	в120	ССМО	.30	495.00	148.50



PAGE 9 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Reviewed message from and call with Judge Mitchell's law clerk regarding net operating loss order (.20); reviewed net operating loss order to verify objection process (.20); correspondence regarding service and publication of net operating loss order and entry of interim order (.20)	B110	ССМО	.60	495.00	297.00
07/16/15	Review ECF notices of subsidiary filings (.20) and email P.Tarry and C.Tobler regarding same (.20)	B110	ССМО	.40	495.00	198.00
07/16/15	Call with CSX counsel regarding status of payment to CSX (.20); follow-up email regarding payment and delivery (.10)	B210	ССМО	.30	495.00	148.50
07/16/15	Correspondence with outside counsel regarding status conference in derivative actions and applicability of automatic stay to same	B910	ССМО	.20	495.00	99.00
07/16/15	Correspondence with KCC to ensure proper service of first day pleadings (.40); review website updates regarding same (.30)	B110	ССМО	.70	495.00	346.50
07/16/15	Conflicts analysis and clearance for retention application and prepare declaration and disclosure	B160	ССМО	.80	495.00	396.00
07/16/15	Call with C.Callies regarding error on KCC website and follow up regarding correction of same	в110	ССМО	.20	495.00	99.00



PAGE 10 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Correspondence regarding filing of employment applications by debtors' team of professionals	B160	ССМО	.20	495.00	99.00
07/16/15	Correspondence with D.Myers regarding interim cash collateral order	B330	ССМО	.20	495.00	99.00
07/16/15	Correspondence regarding handling inquiries from vendors, suppliers, customers and other stakeholders (.20); discuss with client (.20); and AlixPartners (.20)	B210	ССМО	.60	495.00	297.00
07/16/15	Review parties in interest and update disclosure analysis	B160	ССМО	.40	495.00	198.00
07/16/15	Meeting with team regarding numerous case issues, status and strategy	B110	ССМО	.80	495.00	396.00
07/16/15	Reviewed voice mail and email from S.Baker at Regions regarding escrow agreement (.10); phone call with S.Baker regarding escrow agreement and Regions' question about whether automatic stay applies (.20)	B110	ССМО	.30	495.00	148.50
07/16/15	Reviewed USX escrow (.30) coal mining lease underlying escrow agreement (.50) and analysis regarding whether disbursements to Jim Walter under escrow agreement are stayed under section 362 (.90)	B140	ССМО	1.70	495.00	841.50
07/16/15	Obtain electronic copies of all first day motions and interim orders and organize for counsel	B110	KAK	2.60	235.00	611.00

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 29 of 166



PAGE 11 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Communications with V.Wilhite regarding treatment of workers' compensation settlement checks (.40); prepare replacement checks (.50)	B120	CKM	.90	230.00	207.00
07/16/15	Communications with counsel regarding preparation and court filing of individual Notices of Bankruptcy and Suggestion of Stay in Jim Walter Resources, Inc.'s active workers' compensation matters in Jefferson and Tuscaloosa Counties (.40); prepare and file same (.30)	B110	СКМ	.70	230.00	161.00
07/16/15	Review documents from G.Hensley regarding leases and contracts in preparation of Schedules	в110	VCW	3.30	240.00	792.00
07/16/15	Review order from Judge Proctor and email correspondence with County counsel to prepare for appearance at status conference	B910	DCB	.10	580.00	58.00
07/16/15	Confer with co-counsel regarding first-day follow-up and general case administration (.80); confer with AlixPartners regarding creditor inquiries and case administration issues (1.0)	B110	JRB	1.80	610.00	1,098.00
07/16/15	Meet with co-counsel regarding trade vendor, utility, and other first operational issues (.9); review final cash management order and circulate same to Regions counsel (.2)	B210	JRB	1.10	610.00	671.00



PAGE 12 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Review and revise draft motion for relief from Simpson Thacher regarding class action settlement (.40); e-mail to co-counsel regarding motion for relief (.20); prepare stay relief motion (.20)	B140	JRB	.80	610.00	488.00
07/16/15	Review research regarding workers comp insurance treatment in bankruptcy (.2); e-mail to C.Tobler regarding same (.2)	B210	JRB	.40	610.00	244.00
07/16/15	E-mails with client and AlixPartners regarding schedules and SOFAs project	в110	JRB	.20	610.00	122.00
07/16/15	Phone call from R.Carmody regarding retiree committee questions	в250	JRB	.40	610.00	244.00
07/16/15	Review and evaluate interim compensation procedures, including issues raised by bankruptcy administrator and revise	в110	JRB	.40	610.00	244.00
07/16/15	Confer with G.Hensley regarding litigation matters and stay relief issues (.3); confer with E.Doppelt at company regarding same issue (.2)	B140	JRB	.50	610.00	305.00
07/16/15	Review updated case timeline and confer with co-counsel regarding calendaring RSA and case planning and strategy	в110	JRB	.30	610.00	183.00
07/16/15	Review correspondence regarding sale process (.2); phone call with J.Molen regarding sale process (.4)	в130	JRB	.60	610.00	366.00
07/16/15	Review KCC website and filings in case regarding notice compliance	B110	JRB	.40	610.00	244.00



PAGE 13 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Respond to multiple client questions regarding treatment of creditor claims	В310	JRB	.60	610.00	366.00
07/16/15	Attend board meeting (1.20); prepare for same (.60)	B210	JPD	1.80	725.00	1,305.00
07/16/15	Review asset purchase offer and email to S.Zelin with comments	в130	JPD	.30	725.00	217.50
07/16/15	Analyze sale process issues (.60); multiple emails to co-counsel regarding M & A structure (.30)	в130	JPD	.90	725.00	652.50
07/16/15	Review inquiry from Steel Workers Union (.20); discuss response with client and labor counsel (.30); draft and revise response (.40); email client regarding data collection (.20)	B250	JPD	1.10	725.00	797.50
07/16/15	Calls from multiple creditors regarding notice, claims, procedure and outcome of first-day motions	B280	JPD	1.30	725.00	942.50
07/16/15	Calls from multiple vendors regarding post-petition credit (.60); conference call with coal supplier regarding status and terms of shipment (.40)	B120	JPD	1.00	725.00	725.00
07/16/15	Attend to entry of first day orders and process with banks	B110	JPD	.20	725.00	145.00
07/16/15	Review form notice of stay (.10); review list of pending litigation (.20); attend to filing (.10); analyze stay issues on derivative claim (.20); discuss hearing preparation with litigators (.20)	B910	JPD	.80	725.00	580.00



PAGE 14 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	Calls to and from coal lessors regarding royalty payments (.30); emails to and from coal lessors regarding royalty status (.30); email AliPartners regarding accounting (.10)	B260	JPD	.70	725.00	507.50
07/16/15	Review environmental issues in regards to potential sale	в130	SJT	.20	630.00	126.00
07/16/15	Draft and file bankruptcy stay notices in 16 workers compensation cases	в910	JWH	.70	515.00	360.50
07/16/15	Review order in federal derivative cases and e-mails regarding order with P.Darby, J.Bender, A.Averitt (.30); e-mails with S.Torres, J.Bender, C.Tobler regarding securities litigation settlement (.50)	В910	JDWA	.80	480.00	384.00
07/16/15	E-mails and work regarding stay notices and orders in WIMC, Van Mulvehill, B.Williams cases (.40) and email opposing counsel regarding same (.30)	B910	JDWA	.70	480.00	336.00
07/16/15	Confer with client regarding litigation and stay issues (.60) and discuss with co-counsel (.20)	В910	JDWA	.80	480.00	384.00
07/16/15	Research regarding Black Lung issues in pending litigation (.20) and discuss with client (.10)	В910	JDWA	.30	480.00	144.00
07/16/15	Review e-mail from Jury regarding USW representation (.10); discuss with client and co-counsel (.60) and analyze 1114 and 1113 issues (.30)	B250	JDWA	1.00	480.00	480.00



PAGE	15	5	
SEPTEMB	ER	21,	2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/16/15	E-mails with A.Arffa and J.Woodrum regarding expert retention for 1113 litigation	в250	JDWA	.30	480.00	144.00
07/16/15	E-mail with E.Doppelt regarding publicity related to possible 1113 motion	B250	JDWA	.20	480.00	96.00
07/16/15	E-mails with P.McCain, C.Moore regarding potential conflict list for employment application and disclosure	B160	JDWA	.30	480.00	144.00
07/16/15	Conference with litigation team regarding case status and planning	B910	JDWA	.90	480.00	432.00
07/16/15	Telephone conference with D.Meyers on 363 process planning (.20); conferences with J.Bender on 363 process planning (.20); multiple calls and emails on coordinating 363 planning process (.30)	B130	JKM	.70	575.00	402.50
07/17/15	Review stay order in state court cases	в910	JDWA	.10	480.00	48.00
07/17/15	E-mails with D.Black, J.Ezelle regarding status conference order in federal derivative cases and prepare for hearing	В910	JDWA	.20	480.00	96.00
07/17/15	E-mails from and to J.Woodrum, S.Schwartz, A.Arffa, J.Hargrove regarding expert and witness preparation	в250	JDWA	.60	480.00	288.00
07/17/15	Review response to USW letter regarding retiree claims and comment	B250	JDWA	.30	480.00	144.00
07/17/15	E-mails with S.Merkle, J.Bender, C.Moore regarding letter to royalty recipients	B210	JDWA	.30	480.00	144.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 34 of 166



PAGE 16 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	E-mails with G.Hensley, S.Merkle, J.Watkins, J.Bender regarding stay questions from lawyers in litigation	в910	JDWA	.50	480.00	240.00
07/17/15	Review e-mails regarding 10-Q comments (.20); review draft and revise (.20)	B210	JDWA	.40	480.00	192.00
07/17/15	Review WIMC orders (.20); e-mails with J.Hinchey and C.Sacco regarding arbitration stay in WIMC (.20)	В910	JDWA	.40	480.00	192.00
07/17/15	Review expert documents in preparation for meeting involving labor lawyers and bankruptcy litigators to prepare 1113 strategy	B250	JWH	1.20	515.00	618.00
07/17/15	Review royalty issues (.10); discuss with client (.20); respond to creditor inquiries (.30)	B210	JPD	.60	725.00	435.00
07/17/15	Review demand regarding utility deposit (.10); review order regarding response (.10); email client regarding same (.20)	B210	JPD	.40	725.00	290.00
07/17/15	Review union plan documents regarding requests for claims and retiree representation (.40); discuss committee issues with client and advisors (.20)	B250	JPD	.60	725.00	435.00
07/17/15	Respond to multiple creditor inquiries regarding claims and process	В310	JPD	.30	725.00	217.50
07/17/15	Calls from multiple lawyers regarding stay issues in pending litigation (.70); review stay issues in workers compensation matters (.20)	B910	JPD	.90	725.00	652.50



PAGE 17 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Review and respond to inquiries about 1114 committee (.30); review legal standards and conflicts (.20); email client regarding same (.20)	B220	JPD	.70	725.00	507.50
07/17/15	Review documents regarding case deadlines and summarize	в110	JPD	.20	725.00	145.00
07/17/15	Review reclamation demand (.10); draft and email explanation to client (.20)	в310	JPD	.30	725.00	217.50
07/17/15	Prepare plan and disclosure statement	в320	JPD	.60	725.00	435.00
07/17/15	Review board and governance issues (.20); discuss with client (.30)	B210	JPD	.50	725.00	362.50
07/17/15	Review letter to send to royalty recipient and offer comments to same (.3); review other comments regarding same (.2); e-mails with client and co-counsel to finalize draft (.3)	B210	JRB	.80	610.00	488.00
07/17/15	Confer with litigation counsel regarding stay and litigation issues	в910	JRB	.20	610.00	122.00
07/17/15	Review client request regarding insert for 10-Q and comment	В210	JRB	.20	610.00	122.00
07/17/15	Review reclamation claims	в310	JRB	.10	610.00	61.00
07/17/15	Review and respond to correspondence regarding creditors and vendors	B280	JRB	.30	610.00	183.00
07/17/15	Respond to bankruptcy administrator inquiry regarding procedural issues	B110	JRB	.10	610.00	61.00

# Case 15-02741-TOM11 Doc 769 Filed 09

# Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 36 of 166



PAGE 18 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Review inquiries from interested asset buyers and forward to investment banker	B130	JRB	.20	610.00	122.00
07/17/15	Respond to correspondence from client and debtors' advisors regarding operational and creditor issues	B210	JRB	.40	610.00	244.00
07/17/15	Review order from state court in derivative cases staying cases	B910	DCB	.10	580.00	58.00
07/17/15	Email exchange with J.Ezelle regarding preparation for status hearing before Judge Proctor in federal derivative cases	B910	DCB	.20	580.00	116.00
07/17/15	Review additional leases concerning Taft Coal Sales & Associates, Inc. to determine parties for notice information and enter data in preparation for Schedule G (3.1); review additional leases concerning Jim Walter Resources, Inc. to determine parties for notice information and enter data in preparation for Schedule G (1.2); review additional leases concerning Walter Energy, Inc. to determine parties for notice information and enter data in preparation for Schedule G (1.4);	B110	VCW	5.70	240.00	1,368.00
07/17/15	Research regarding 363 asset sale for mining company	B130	TMT	1.10	495.00	544.50
07/17/15	Research and compile litigation information and prepare Notice of Bankruptcy and Suggestion of Stay with Exhibits for multiple pending lawsuits	В910	СКМ	4.20	230.00	966.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 37 of 166



PAGE 19 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Finish electronic compilation of all first day motions and orders	в110	KAK	1.40	235.00	329.00
07/17/15	Call with Chris Callies regarding hearing dates (.20); multiple calls and emails with client, co-counsel and advisors regarding pending matters and scheduling of hearings and expedited hearings (.80); review pleadings and RSA regarding same (.60)	B110	ССМО	1.60	495.00	792.00
07/17/15	Research conflicts clearance issues and preparation of employment applications and disclosure (.30); discuss with co-counsel (.20)	B160	ССМО	.50	495.00	247.50
07/17/15	Call with Mitch Mataya and Claudia Tobler regarding executory contracts and vendor issues (.40); review coal supply contracts (.30); follow up call with M.Mataya (.20); research regarding treatment of agreement in bankruptcy (.70)	В260	ССМО	1.60	495.00	792.00
07/17/15	Conference with Tom Corbett, Jon Dudeck and Bobby Gaines regarding 341 meeting and 1114 Committee (.40); research scheduling issues regarding 341 (.60); prepare motion to extend and set 341 (.90); multiple follow up call and emails with BA (.60) and co-counsel regarding the same (.30)	B110	ССМО	2.80	495.00	1,386.00
07/17/15	Correspondence regarding vendors and customers regarding filing	в210	ССМО	.20	495.00	99.00



PAGE 20 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Correspondence regarding letter to royalty recipients about pre-petition obligations (.10); reviewed draft letter (.20); discuss comments with K.Love (.20) and revise (.20)	B210	ССМО	.70	495.00	346.50
07/17/15	Correspondence regarding pro hac vice orders (.10); review and finalize motions for filing (.20)	В110	ССМО	.30	495.00	148.50
07/17/15	Correspondence with Claudia Tobler regarding committee formation meeting	в110	ССМО	.10	495.00	49.50
07/17/15	Emails with Judge's courtroom deputy regarding KCC website issues	в110	ССМО	.10	495.00	49.50
07/17/15	Emails with KPMG regarding its employment application (.20); review same (.10)	B160	ССМО	.30	495.00	148.50
07/17/15	Correspondence with Guy Hensley regarding negotiations with stakeholders and questions relating to bankruptcy filing (.20); review shareholder demand (.10)	B210	ССМО	.30	495.00	148.50
07/17/15	Correspondence with Michael Riela regarding Ernst & Young employment application	В160	ССМО	.10	495.00	49.50
07/17/15	Reviewed correspondence from Earl Doppelt regarding automatic stay language for second quarter 10Q (.10) and comment (.10)	B210	ССМО	.20	495.00	99.00



PAGE 21 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Reviewed correspondence from Guy Hensley and update ordinary course professionals list	B160	ССМО	.20	495.00	99.00
07/17/15	Correspondence from Dan Sparks regarding status of payments to Cowin & Company	В210	ССМО	.10	495.00	49.50
07/17/15	Correspondence to Tom Corbett regarding Top 50 creditor information	в110	ССМО	.10	495.00	49.50
07/17/15	Drafted motion for expedited hearing on supplement order authorizing severance and bonus payments	В110	ССМО	.60	495.00	297.00
07/17/15	Conferences with BA and courtroom deputy regarding 341 hearing and motion to extend deadline regarding notice of commencement	B110	JB	.70	375.00	262.50
07/17/15	Draft and revise motion to extend 341 hearing date, motion to extend deadline to serve notice of commencement, and motion to revise publication notice	B110	JB	3.20	375.00	1,200.00
07/17/15	Review letter filed on docket purporting to assert claim for fraud and email client to discuss	в310	JB	.20	375.00	75.00
07/17/15	Research filings by shareholder (.30); email to client regarding same (.10)	в310	JB	.40	375.00	150.00
07/17/15	Research regarding disclosures of stayed litigation	в110	JB	.20	375.00	75.00

Case 15-02741-TOM11

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 40 of 166



PAGE 22 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Review proposed letters to contract counterparties regarding bankruptcy (.10) and revise (.20)	B260	JB	.30	375.00	112.50
07/17/15	Review various notices of appearance in case (.20); review and revise motions to expedite hearings (.40); emails with KCC regarding proper service of orders and other notices (.30)	B110	JB	.90	375.00	337.50
07/17/15	Correspondence with counsel regarding negotiations with Comerica regarding cash management order (.30); reviewed cash management order to identify language covering Comerica (.20) and draft revisions (.20)	B110	ССМО	.70	495.00	346.50
07/17/15	Reviewed reclamation demand from Harbison-Walker Refractories Co. (.10); emails with Alix team regarding reclamation demand (.10)	В310	ССМО	.20	495.00	99.00
07/17/15	Reviewed section 1114 motion for facts supporting expedited hearing (.20); drafted motion for expedited hearing on section 1114 committee motion (.40)	B110	ССМО	.60	495.00	297.00
07/17/15	Meeting with G.Hensley and M.Parris regarding notices of bankruptcy and multiple stay and litigation issues and responding to plaintiff inquiries	B910	JW	2.70	330.00	891.00
07/17/15	Review and analyze first day orders and court notices for important dates and deadlines and update memorandum	B110	JW	2.90	330.00	957.00



PAGE 23 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Analyze financial reporting requirements regarding pending litigation and prepare 10-Q	В210	ΜŪ	.90	330.00	297.00
07/17/15	Research and prepare interim compensation procedures	B160	JW	.60	330.00	198.00
07/17/15	Call with counsel for Comerica regarding cash management order (.20); analyze cash management order regarding potential objection (.40)	B110	JW	.60	330.00	198.00
07/17/15	Emails with K.Love, E.Doppelt, and J.Bender regarding letter to royalty recipients (1.10); phone call with K.Love regarding same (.20)	B210	SME	1.30	310.00	403.00
07/17/15	Conference with V.Henley regarding review of WBWB oil and gas leases for Schedule G (.30); review contracts provided by WBWB and determine need for inclusion on Schedule G (.10)	B110	SME	.40	310.00	124.00
07/17/15	Phone call with Florida District Court regarding stay filed in WIMC matter (.10); conference with C.Caston regarding same (.10)	B910	SME	.20	310.00	62.00
07/17/15	Phone call with G.Hensley regarding questions from outside counsel related to bankruptcy (.10); phone call with J.Watkins regarding same (.10)	B910	SME	.20	310.00	62.00



PAGE 24 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/17/15	Edit client response to counter-party inquiry regarding bankruptcy (.60); conference with C.Caston regarding same (.20); email J.Barlow regarding same (.10)	B260	SME	.90	310.00	279.00
07/18/15	Develop 341 meeting and location strategy	B110	JB	.20	375.00	75.00
07/18/15	Emails with Claudia Tobler regarding expedited hearing motions	B110	ССМО	.20	495.00	99.00
07/18/15	Prepared and submitted to Court pro hac vice orders for Paul Weiss attorneys	B110	ССМО	.20	495.00	99.00
07/18/15	Prepared motion for expedited hearing on severance relief for filing and filed same	B110	ССМО	.70	495.00	346.50
07/18/15	Prepared Motion for Expedited Hearing on section 1114 motion for filing and filed same	B110	ССМО	.20	495.00	99.00
07/18/15	Draft analysis on whether escrow funds are property of the estate	B120	ССМО	.40	495.00	198.00
07/18/15	Prepare ordinary course professionals motion	B160	ССМО	.40	495.00	198.00
07/18/15	Review critical vendor list from Walter Energy, Inc. and subsidiaries to identify missing leases and contracts in preparation of Schedule G (.90); review additional leases concerning Brule Coal Partnership to determine parties for notice information and enter data into spreadsheet in preparation for Schedule G (1.3); review additional leases	B110	VCW	4.70	240.00	1,128.00



PAGE 25 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	concerning Willow Creek Coal Partnership to determine parties for notice information and enter data into spreadsheet in preparation for Schedule G (.80); review additional leases concerning Wolverine Coal Partnership to determine parties for notice information and enter data into spreadsheet in preparation for Schedule G (.80); review additional leases concerning Brule Walter Coke, Inc. to determine parties for notice information and enter data into spreadsheet in preparation for Schedule G (.90)					
07/18/15	Email exchange with P.Darby and J.Watson in preparation for status conference before Judge Proctor	В910	DCB	.20	580.00	116.00
07/18/15	Review multiple sales inquiries and discuss with Blackstone	в130	JPD	.40	725.00	290.00
07/18/15	Review stay issues regarding derivative claim (.20); prepare for hearing (.20)	в140	JPD	.40	725.00	290.00
07/18/15	Call from pension reps regarding 1114 issues, nature of claims, and committee	B220	JPD	.30	725.00	217.50
07/18/15	Research stay issues regarding workers compensation (.20); respond to plaintiff inquiry (.10)	B140	JPD	.30	725.00	217.50
07/18/15	Call from union reps regarding 1113 issues, contingent claims and committee participation	B250	JPD	.30	725.00	217.50



PAGE 26 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/18/15	Review and comment on royalty letter to lessors	В210	JPD	.20	725.00	145.00
07/18/15	Research 341 notice and hearing issues and investigate alternatives per BA request	B110	JPD	.80	725.00	580.00
07/18/15	Review open cash collateral issues and prepare for final hearing	B330	JPD	.30	725.00	217.50
07/18/15	Review 10Q public filing regarding contingency notes and comment	B210	JPD	.20	725.00	145.00
07/18/15	Analyze 363 sale issues regarding credit bid and transfer of assets	B130	JPD	.70	725.00	507.50
07/18/15	Update status of severance and bonus funding and prepare for final hearing	B110	JPD	.20	725.00	145.00
07/18/15	Review vendor communication and comment	в210	JPD	.20	725.00	145.00
07/18/15	Review background materials for 1113 negotiation	B250	JPD	.20	725.00	145.00
07/18/15	Review background materials for 1114 motion	B220	JPD	.10	725.00	72.50
07/18/15	Review escrow agreement and research and analysis of stay (.20); email client regarding effect of bankruptcy (.10)	B140	JPD	.30	725.00	217.50
07/18/15	E-mails with client regarding stay issues	в910	JDWA	.20	480.00	96.00
07/18/15	E-mails with E.Doppelt, A.Arffa regarding UMWA negotiations	B250	JDWA	.20	480.00	96.00



PAGE 27 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/18/15	E-mails with P.Darby, D.Black regarding hearing in derivative cases	В910	JDWA	.20	480.00	96.00
07/18/15	E-mails regarding UMWA presentation with P.Darby, E.Doppelt	B250	JDWA	.20	480.00	96.00
07/18/15	E-mails with P.Darby, S.Merkle regarding letters to royalty recipients	B210	JDWA	.30	480.00	144.00
07/19/15	E-mails with A.Young, C.Moore, A.Woodruff regarding employment application and disclosure information	B110	JDWA	.40	480.00	192.00
07/19/15	E-mails with client and co-counsel regarding 10-Q issues	B210	JDWA	.20	480.00	96.00
07/19/15	E-mails with S.Torres, L.Ahari regarding draft bankruptcy settlement motion in securities matter	В910	JDWA	.20	480.00	96.00
07/19/15	E-mails from J.Bender, E.Doppelt regarding UMWA proposals (.10); review UMWA proposals and comparison (.50)	B250	JDWA	.60	480.00	288.00
07/19/15	Review claims information regarding committee formation (.20); email counsel (.10)	в110	JPD	.30	725.00	217.50
07/19/15	Respond to client inquiry regarding board governance	B210	JPD	.10	725.00	72.50
07/19/15	Prepare UMWA presentation regarding modification offer	B250	JPD	.40	725.00	290.00
07/19/15	Drafted email to Paul Weiss team regarding employment applications	в160	ССМО	.20	495.00	99.00

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 46 of 166



PAGE 28 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/19/15	Revised BABC employment application (.70); revised proposed order on employment application (.20)	B160	ССМО	.90	495.00	445.50
07/19/15	Research authorization of debtors' retention of ordinary course professionals in large national chapter 11 cases (.30); research local chapter 11 cases authorizing debtors to retain ordinary course professionals (.30); edited and revised ordinary course professionals motion (1.4); Drafted e-mail to client regarding ordinary course professionals retention (.20)	В160	ССМО	2.20	495.00	1,089.00
07/19/15	Draft declaration in support of BABC employment application and reviewed list of searched parties in interest for disclosure	B160	ССМО	1.40	495.00	693.00
07/19/15	Research regarding disclosure of financial data required by Code and Rules (.30); prepare exhibits to employment application (.40)	B160	ССМО	.70	495.00	346.50
07/19/15	Analyze financial reporting requirements regarding pending litigation	в910	JW	1.10	330.00	363.00
07/19/15	Review and analyze compensation procedures for ordinary course professionals	В160	JW	.20	330.00	66.00
07/20/15	Call with local counsel regarding scope of automatic stay (.40); e-mails with client and litigators regarding notices of bankruptcy and scope of the automatic stay (.40); e-mails with local counsel	B910	JW	1.10	330.00	363.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 47 of 166



PAGE 29 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	regarding notices of bankruptcy and the automatic stay (.30)					
07/20/15	Review and analyze deadlines and important dates for various motions and proposed orders and update memo	B110	JW	.30	330.00	99.00
07/20/15	Draft interim compensation procedures and research precedent	B160	JW	1.10	330.00	363.00
07/20/15	Research and analyze scope of automatic stay on pending litigation and administrative proceedings	B910	JW	4.90	330.00	1,617.00
07/20/15	Review documents for responsiveness to CID 1 and CID 2 in preparation supplemental production	B910	SME	3.20	310.00	992.00
07/20/15	Conferences with deputy clerk regarding 341 meeting scheduling and logistics	B110	JB	.30	375.00	112.50
07/20/15	Revisions to draft motion to set 341 meeting and emails with co-counsel regarding same	B110	JB	1.60	375.00	600.00
07/20/15	Review orders setting expedited hearings, arrange for calendaring deadlines, and ensure KCC service of same	B110	JB	.30	375.00	112.50
07/20/15	Conference with contact from Prime Hydraulics regarding status of case and payment of open invoices	B210	JB	.20	375.00	75.00
07/20/15	Emails with BA regarding 341 meeting	в110	JB	.10	375.00	37.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 48 of 166



PAGE 30 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Draft and revise motion to set bar date, order, notices, and proof of claim forms (1.0); filing and service of same (.10)	в110	JB	1.10	375.00	412.50
07/20/15	Conferences with BA regarding 341 hearing and motion to extend 341 hearing deadline	B110	JB	.40	375.00	150.00
07/20/15	Research regarding revisions to Top 50 list and effect of contingency (.50); prepare amendment (.40)	B110	JB	.90	375.00	337.50
07/20/15	Review order setting hearing on 341 motion and emails regarding hearing and telephonic appearances	в110	JB	.30	375.00	112.50
07/20/15	Emails with KCC regarding status of service of various motions and orders and interim NOL order	в110	JB	.20	375.00	75.00
07/20/15	Emails with BA regarding 1114 committee motion and email client and team update on committee formation	в110	JB	.20	375.00	75.00
07/20/15	Review potential negative notice procedures and analyze procedure for requested changes to interim orders	в110	JB	.40	375.00	150.00
07/20/15	Email counsel and court reporter regarding hearing transcripts	B110	JB	.20	375.00	75.00
07/20/15	Review entry of orders granting motions to appear pro hac (.20); email update regarding status of debtor pro hac motions and orders (.10)	B110	JB	.30	375.00	112.50



PAGE 31 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Reviewed revised section 341 motion (.20); correspondence with Tom Corbett and Jon Dudeck regarding section 341 motion (.10); incorporate comments (.20); reviewed notice of hearing on 341 extension motion (.10); emails with Claudia Tobler and Jay Bender regarding hearing on 341 extension motion (.10); email from Judge Mitchell's courtroom deputy regarding hearing on 341 motion (.10);	B110	ССМО	.80	495.00	396.00
07/20/15	Emails with Claudia Tobler and Mitch Mataya regarding supplier and customer negotiations (.20); prepare guidelines for vendor negotiations (.30); follow-up discussions with client (.20)	B210	ССМО	.70	495.00	346.50
07/20/15	Correspondence with Claudia Tobler regarding RSA compliance (.10); review revised RSA (.20); emails with Paul Weiss team and James Bailey regarding mechanism for onus pleading (.20); draft language (.20)	B110	ССМО	.70	495.00	346.50
07/20/15	Reviewed correspondence regarding amendment of Top 50 list (.10); Reviewed amendment to top 50 list (.10); discuss with client (.10); preparation, execution, and filing of amended top 50 list (.20)	B110	ССМО	.50	495.00	247.50
07/20/15	Reviewed order setting expedited hearing on section 1114 motion and email client	B110	ССМО	.10	495.00	49.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 50 of 166



PAGE 32 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Reviewed order setting expedited hearing on severance and bonus issues and email client regarding hearing preparation	B110	ССМО	.20	495.00	99.00
07/20/15	Phone call regarding prepetition fees and expenses for employment application disclosures (.20); review amended top 50 creditors and develop conflicts review and clearance for employment disclosures (.40)	B160	ССМО	.60	495.00	297.00
07/20/15	Conference call with client and co-counsel regarding workers' comp issues and procedures for seeking modification of orders	B210	ССМО	.70	495.00	346.50
07/20/15	Multiple calls to Regions Bank regarding escrow account	в120	ССМО	.30	495.00	148.50
07/20/15	Correspondence with counsel regarding status of pro hac receipts and entry of orders	В110	ССМО	.10	495.00	49.50
07/20/15	Correspondence with Claudia Tobler regarding billing guidelines for fee applications	B160	ССМО	.20	495.00	99.00
07/20/15	Correspondence with James Bailey regarding KCC service of expedited hearing motions and orders (.10); multiple emails to KCC regarding notice and service (.40); emails to co-counsel regarding SEC negotiations on NOL notice (.20); email KCC regarding SEC issues (.20)	B110	ССМО	.90	495.00	445.50



PAGE 33 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Correspondence with counsel regarding CSX delivery	B210	CCMO	.10	495.00	49.50
07/20/15	Emails with Paul Weiss and Alix team regarding section 1114 committee selection process and creditors committee formation	B110	ССМО	.30	495.00	148.50
07/20/15	Emails with client and counsel regarding ordinary course professionals motion	B160	ССМО	.20	495.00	99.00
07/20/15	Research regarding issues with location of 341 meeting	в110	ССМО	.10	495.00	49.50
07/20/15	Email to Kristine Manoukian at Akin transmitting copy of cash collateral order	в330	ССМО	.10	495.00	49.50
07/20/15	Correspondence with John Watson regarding status conference and applicability of automatic stay to derivative actions	B910	ССМО	.10	495.00	49.50
07/20/15	Correspondence with Tom Corbett regarding section 1114 committee solicitation process	в110	ССМО	.10	495.00	49.50
07/20/15	Reviewed proposed amendment to cash collateral order to address issues raised by Comerica, comment, analyze procedures and respond	B110	ССМО	.40	495.00	198.00
07/20/15	Emails with counsel regarding Babst Calland and ordinary course professionals issues	B160	ССМО	.10	495.00	49.50



PAGE 34 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Emails with Patrick Darby and Claudia Tobler regarding wages order and lifting of stay to allow unliquidated workers' compensation claims to proceed	B140	ССМО	.30	495.00	148.50
07/20/15	Correspondence regarding information regarding payments needed for declaration in support of employment application and to clear conflicts inquiries	B160	ССМО	.30	495.00	148.50
07/20/15	Emails with Patrick Darby, Jay Bender and James Bailey regarding treatment of coal leases under Alabama and West Virginia law (.10); research same (.60)	B160	ССМО	.70	495.00	346.50
07/20/15	(.30) Prepare for call with Paul Weiss and Blackstone regarding environmental and mining issues in plan reorganization or 363 sale; (.90) call with Paul Weiss and Blackstone regarding environmental and mining permit issues regarding bankruptcy reorganization or sale; (.20) conference with J.Bender, J.Molen and T.Thompson regarding outline of environmental and mining permit transfer issues; (.20) follow up meeting with J.Molen and T.Thompson to address schedule and tasks for permit transfer issues; (.40) revise memo regarding environmental permit transfers in Alabama and forward to T.Thompson; (.20) review ASMC materials and forward to T.Thompson with note regarding license, permit and bond for potential transfer in bankruptcy (.20)	B130	SJT	2.40	630.00	1,512.00



PAGE	35		
SEPTEMBI	ER	21,	2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Prepare negotiating proposal to UMWA	B250	JPD	1.10	725.00	797.50
07/20/15	Review state law transfer issues regarding potential credit bid (.30); comment on term sheet (.10)	B130	JPD	.40	725.00	290.00
07/20/15	Emails to and from counsel regarding critical vendor and supply issues and credit negotiation	B210	JPD	.30	725.00	217.50
07/20/15	Call from J.Goodchild regarding retiree committee and 1114 process	в220	JPD	.20	725.00	145.00
07/20/15	Prepare motion regarding 341 hearing (.10); discuss process and procedure with T.Corbett (.20); work on entry of order (.40)	B110	JPD	.70	725.00	507.50
07/20/15	Conference with B.Harvey regarding credit and vendor issues	в210	JPD	.20	725.00	145.00
07/20/15	Conference call with client and professional team regarding committee membership and creditor requests and amendment of top 50 (.30); research and prepare amendment (.50)	B110	JPD	.80	725.00	580.00
07/20/15	Call regarding bank procedures (.10); prepare amended language for cash management order (.10)	B110	JPD	.20	725.00	145.00
07/20/15	Research Steel Worker's standing regarding union claims	в310	JPD	.20	725.00	145.00

Case 15-02741-TOM11



PAGE 36 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	Research application of stay to workers compensation and black lung (.40); discuss with J.Woodrum regarding CBA issues (.20); review CBA regarding same (.20); multiple conference with outside counsel regarding stay (.40); discuss with client (.10)	В910	JPD	1.30	725.00	942.50
07/20/15	Conference call with plaintiff and defendant attorneys in preparation for status conference in federal derivative cases (.40); e-mail to and from E.Doppelt regarding same (.20); review caselaw in preparation for status conference (.60)	В910	JDWA	1.20	480.00	576.00
07/20/15	Correspondence with insurers and counsel regarding draft order for settled securities fraud class action and derivative cases (.40); review and revise orders (.20); e-mails with S.Torres, P.Critchell, L.Ahari regarding draft motion (.20)	В910	JDWA	.80	480.00	384.00
07/20/15	Discussion with E.Doppelt regarding meeting with 1113 expert	B250	JDWA	.20	480.00	96.00
07/20/15	Preparation for meeting with 1113 expert in DC	B250	JDWA	.30	480.00	144.00
07/20/15	Research regarding stay applicability to workers' compensation/black lung cases and NLRB proceedings (.80); discuss with client counsel (.30)	B140	JDWA	1.10	480.00	528.00



PAGE 37 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/20/15	E-mails with opposing counsel regarding stayed litigation	В910	JDWA	.20	480.00	96.00
07/20/15	Research analyze and compile disclosure information for employment application	B160	JDWA	.40	480.00	192.00
07/20/15	E-mails to and from L.Ahari, S.Torres regarding status conference in derivative cases	В910	JDWA	.20	480.00	96.00
07/20/15	E-mails with G.Hensley regarding Walter Coke litigation insurance coverage	в910	JDWA	.20	480.00	96.00
07/20/15	Prepare for and conference call with Paul Weiss and Blackstone on 363 sale process issues (1.0); post call review with BABC participants on issues and assignments (.60); telephone conference with C.Theil, R.Takla on Alabama asset transfer tax issues on 363 sales (.20); email memo to E.Doppelt on 363 process issues (.20)	B130	JKM	2.00	575.00	1,150.00
07/20/15	Review of UMWA proposals in preparation for meeting with expert	в250	JWH	.60	515.00	309.00
07/20/15	Research NLRB issue regarding stay	в140	JWH	.40	515.00	206.00
07/20/15	Email exchange with J.Watson and P.Darby in preparation for status conference tomorrow with Judge Proctor	В910	DCB	.10	580.00	58.00
07/20/15	Telephone conference with working group regarding 363 sale (.6); conference with J.Bender, J.Molen and S.Trant regarding same (.3); further conference with S.Trant and J.Molen regarding memorandum	B130	TMT	6.70	495.00	3,316.50

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 56 of 166



PAGE 38 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	on regulatory questions (.3); research regarding regulatory issues for asset transaction (5.5)					
07/20/15	Phone call with co-counsel and other advisors regarding the sale process (.8); follow up phone call with J.Molen regarding sale process and Alabama issues (.4)	B130	JRB	1.20	610.00	732.00
07/20/15	Confer with M.Mataya regarding ordinary course operational issues	в210	JRB	.50	610.00	305.00
07/20/15	Confer with co-counsel regarding case administration and scheduling issues	в110	JRB	.20	610.00	122.00
07/20/15	Review comments to proposed NOL order	B110	JRB	.20	610.00	122.00
07/20/15	Review Restructuring Support Agreement and list of Sales Trigger dates and Support Termination dates	В110	KAK	1.60	235.00	376.00
07/21/15	Review of Restructuring Support Agreement and supporting memo and list Sales Trigger dates and Support Termination events	B110	KAK	3.70	235.00	869.50
07/21/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	В110	VCW	6.90	240.00	1,656.00
07/21/15	Correspondence with Ann Young regarding consolidation of parties in interest for employment application (.30); conference call with professionals to finalize employment applications (.80); follow-up emails and calls with each professional	B160	ССМО	1.70	495.00	841.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 57 of 166



PAGE 39 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	regarding same (.60)					
07/21/15	Reviewed transcript of first day hearings and compare and update RSA deadlines	в110	ССМО	.60	495.00	297.00
07/21/15	Email with Claudia Tobler regarding billing procedures for fee applications	B160	ССМО	.10	495.00	49.50
07/21/15	Research and drafting for regulatory issues memorandum	B130	TMT	3.80	495.00	1,881.00
07/21/15	Conferences with J.Watson and C.Moore, and phone call with J.Ezelle, to prepare for status hearing before Judge Proctor in derivative cases (.50); review pertinent case law and statutes regarding application of stay (.40)	B910	DCB	.90	580.00	522.00
07/21/15	Attend status hearing before Judge Proctor (1.0); prepare email reporting to client on hearing before Judge Proctor (.20) ; review order resulting from status hearing and email to client regarding same (.20)	B910	DCB	1.40	580.00	812.00
07/21/15	Calls with co-counsel regarding insurance, self-insurance and vendor issues (.5); conference call with client regarding same (.8)	B210	JRB	1.30	610.00	793.00
07/21/15	Confer with client on various trade creditor, vendor and royalty payment issues (1.1); field phone calls and e-mails from trade creditors regarding lien or critical vendor issues (.70)	B210	JRB	1.80	610.00	1,098.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 58 of 166



PAGE 40 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Analyze utility adequate assurance requests and confer with company and AliPartners regarding same (.5); e-mails with client regarding utility procedures (.3)	В210	JRB	.80	610.00	488.00
07/21/15	Review analysis of compensation procedure issues (.20); and comment (.10)	B160	JRB	.30	610.00	183.00
07/21/15	Phone call from attorney regarding retiree committee motion (.20); e-mails with client and co-counsel regarding committee formation issues (.30); respond to potential 1114 counsel inquiries (.20)	B110	JRB	.70	610.00	427.00
07/21/15	Work on preparation for hearings on 341 notices and other case administration matters	B110	JRB	.30	610.00	183.00
07/21/15	Review draft 10-Q language and comment	в210	JRB	.30	610.00	183.00
07/21/15	Review stay issues as they relate to pending workers' compensation cases in Alabama	B140	JWH	.70	515.00	360.50
07/21/15	Review agenda and follow-up tasks from CBA negotiations in preparation for conference call (.50); attend call (1.40)	B250	JWH	1.90	515.00	978.50
07/21/15	Conference with D.Black regarding status conference (Israni) (.10); e-mails from and to D.Black, E.Doppelt regarding status conference (Israni) (.10); review order on stay (Israni) (.10)	В910	JDWA	.30	480.00	144.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 59 of 166



PAGE 41 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Attend conference call with J.Woodrum and negotiation team regarding union negotiation issues (4.4); organize and e-mail notes of conference call (.30)	B250	JDWA	4.70	480.00	2,256.00
07/21/15	Respond to email question from Paul Weiss on document recording taxes on asset transfers	B130	JKM	.10	575.00	57.50
07/21/15	Respond to email question from J.Bender on Form 10-Q disclosure	В210	JKM	.10	575.00	57.50
07/21/15	Research and prepare employment application disclosure	B160	JDWA	.30	480.00	144.00
07/21/15	E-mails from J.Woodrum regarding proposal to union	в250	JDWA	.20	480.00	96.00
07/21/15	Preparation for possible 1113/1114 hearing	в250	JDWA	.60	480.00	288.00
07/21/15	Research Steel Workers claim (.30); email to D.Jury regarding same (.10)	в250	JPD	.40	725.00	290.00
07/21/15	Prepare presentation for UMWA negotiation (.60); conference call with client and professionals to prepare negotiation team (1.20)	B250	JPD	2.30	725.00	1,667.50
07/21/15	Prepare for and attend hearing on motion to set 341 meeting (.40); review revised notices and comment (.20)	в110	JPD	.60	725.00	435.00
07/21/15	Review open notice issues regarding claims and committee (.20); finalize and file amended top 50 list (.10)	В110	JPD	.30	725.00	217.50

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 60 of 166



PAGE 42 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Calls and emails from vendors regarding credit issues (.20); discuss with client (.10) and respond (.10)	B210	JPD	.40	725.00	290.00
07/21/15	Review draft 10-Q (.20); research related stay issues and comment (.10)	B210	JPD	.30	725.00	217.50
07/21/15	Respond to professional inquiries regarding retention procedures	B160	JPD	.30	725.00	217.50
07/21/15	Call with co-counsel regarding workers' compensation obligations and procedural strategies going forward (.80); discuss with client (.20); review background information (.20)	B210	ССМО	1.20	495.00	594.00
07/21/15	Phone call with attorney for ACE American Insurance regarding request for modification of insurance order (.20); review insurance order regarding same (.20) and review and comment on proposed revision and attach authority (.40); discuss with co-counsel (.20); follow up discussion with ACE counsel (.30)	В110	ССМО	1.30	495.00	643.50
07/21/15	Conference with litigation counsel regarding bankruptcy case in preparation for status conference on derivative action (.30); review orders (.10)	B910	ССМО	.40	495.00	198.00
07/21/15	Meeting with conflicts team regarding conflicts clearance issues for employment application (.50); in-depth review and analysis of disclosure materials (1.0); revise disclosure (.60)	B160	ССМО	2.10	495.00	1,039.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 61 of 166



PAGE 43 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Call with Babst Calland attorney regarding ordinary course professionals motion	B160	ССМО	.20	495.00	99.00
07/21/15	Research on treatment of coal purchasing agreements	B260	ССМО	.30	495.00	148.50
07/21/15	Emails with Kip Power regarding proposed modification to Ordinary Course Professionals procedures	B160	ССМО	.20	495.00	99.00
07/21/15	Emails with KCC regarding service of amended list of top 50 unsecured creditors	B110	ССМО	.10	495.00	49.50
07/21/15	Received and reviewed E&Y's retention papers	B160	ССМО	.20	495.00	99.00
07/21/15	Reviewed draft ad proofs for required publications and emails regarding same	B110	ССМО	.30	495.00	148.50
07/21/15	Reviewed consolidated matrix of parties in interest for employment applications and emails regarding same	B160	ССМО	.30	495.00	148.50
07/21/15	Correspondence with Mitchell Mataya and Jay Bender regarding utilities issues	B210	ССМО	.30	495.00	148.50
07/21/15	Emails with Jay Bender and Pilar Tarry regarding ordinary course professionals	B160	ССМО	.30	495.00	148.50
07/21/15	Emails with John Watson regarding case timeline	в110	ССМО	.20	495.00	99.00
07/21/15	Emails with Bobby Gaines and James Bailey regarding UMWA contacts	в110	ССМО	.10	495.00	49.50

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 62 of 166



PAGE 44 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Emails with Mitchell Mataya regarding creditor issues	B210	ССМО	.40	495.00	198.00
07/21/15	Conference with BA office regarding status of amendment to top 50 list	B110	JB	.10	375.00	37.50
07/21/15	Conferences and emails with BA office regarding status of proposed order and notice on 341 meeting motion	B110	JB	.30	375.00	112.50
07/21/15	Emails and discussion with steering committee counsel regarding proposed order and notice on 341 meeting motion	B110	JB	.50	375.00	187.50
07/21/15	Draft revisions to Top 50 list and prepare for filing	B110	JB	.20	375.00	75.00
07/21/15	Advise on form of NOL interim trading notice and issues regarding same	в110	JB	.20	375.00	75.00
07/21/15	Update debtor representatives regarding amended Top 50 list	в110	JB	.10	375.00	37.50
07/21/15	Research and draft memorandum regarding obligations under first day motions and RSA	B110	JB	5.20	375.00	1,950.00
07/21/15	Prepare for and attend hearing on 341 meeting motion	в110	JB	.90	375.00	337.50
07/21/15	Multiple revisions to proposed publication notice in accordance with requests of court	B110	JB	.60	375.00	225.00

Case 15-02741-TOM11

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 63 of 166



PAGE 45 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Emails with debtor contacts and KCC regarding price and form of publication notice	B110	JB	.30	375.00	112.50
07/21/15	Calls with Tom Corbett regarding section 1114 motion (.20); correspondence with team regarding section 1114 committee solicitation issues (.10); review creditor lists regarding solicitation and service (.50)	B110	ССМО	.80	495.00	396.00
07/21/15	Reviewed section 341(c) and checked for interpreting case law (.30); emails with team regarding 341 meeting issues (.10); work on entry of order and service of revised notice (.30)	B110	ССМО	.70	495.00	346.50
07/21/15	Emails regarding pro hac receipts for Paul Weiss (.10); reviewed orders grating pro hac motions for co-counsel (.10); email from James Bailey regarding pro hac orders (.10)	B110	ССМО	.30	495.00	148.50
07/21/15	Conference call with client, co-counsel and Jay Bender regarding workers' compensation and self-insurance issues (.80); email from client regarding updates on workers' compensation issues after call with State (.10)	B140	ССМО	.90	495.00	445.50
07/21/15	Review WBWB leases in preparation for filing Schedule G	B110	SME	2.20	310.00	682.00
07/21/15	Research the scope of automatic stay on various litigation	в910	JW	2.70	330.00	891.00



PAGE 46 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/21/15	Call with local litigation counsel regarding scope of stay and notices of bankruptcy	B910	JW	.40	330.00	132.00
07/21/15	Conference call with client and co-counsel regarding workers' compensation obligations and ordinary course operations	B210	JW	.80	330.00	264.00
07/21/15	Call with G.Hensley regarding notices of bankruptcy and the scope of the automatic stay	В910	JW	.50	330.00	165.00
07/21/15	E-mail J.Molen and J.Bender regarding financial reporting requirements	B210	JW	.10	330.00	33.00
07/21/15	Analyze workers' compensation obligations and the Debtors' authority under the current order (.80); draft provisions for supplemental motion and order regarding workers' compensation obligations (.60)	B210	JW	1.40	330.00	462.00
07/22/15	Research cases granting relief from the automatic stay regarding workers' compensation matters (.90); discuss with multiple defense counsel (.40)	B140	ΨŪ	1.30	330.00	429.00
07/22/15	Draft and revise motion to modify the stay regarding workers' compensation matters	B140	JW	3.60	330.00	1,188.00
07/22/15	Research consumer deposit limits under the Bankruptcy Code	в310	JW	.20	330.00	66.00



PAGE 47 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Review and analyze deadlines and important dates from first day orders and pending motions	в110	ΜŪ	.20	330.00	66.00
07/22/15	Call with J.Long regarding notice of bankruptcy for tax matters	B240	JW	.10	330.00	33.00
07/22/15	Calls with local litigation counsel regarding scope of stay and notices of bankruptcy	В910	JW	.30	330.00	99.00
07/22/15	Emails with M.Mataya and V.Henley regarding review of WBWB leases	в110	SME	.40	310.00	124.00
07/22/15	Discussions and emails regarding motion to modify automatic stay to extent necessary to allow workers' compensation claims to proceed (.20); draft motion to modify stay to allow workers' compensation claims to go forward (.70)	B140	ССМО	.90	495.00	445.50
07/22/15	Reviewed order setting 341 meeting and related relief (.10); reviewed notice of commencement of chapter 11 case and notice of meeting of creditors (.10)	B110	ССМО	.20	495.00	99.00
07/22/15	Analysis regarding Blackstone retention application (.20); Research applicability of Rule 2016 in connection with retentions under section 328 (.50) and emails to Michael Rudnick regarding the same (.20)	B160	ССМО	.90	495.00	445.50



PAGE 48 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Conference with C.Grissom regarding modification of stay for Alabama income tax refund appeal pending before the Alabama Tax Tribunal	в240	JEL	.30	430.00	129.00
07/22/15	Conference with J.Watkins regarding requirement to notify Alabama Tax Tribunal of automatic stay provisions	B240	JEL	.10	430.00	43.00
07/22/15	Conference with J.Molen and C.Grissom regarding Alabama sales and use taxes and exemptions for certain reorganizations	в130	JEL	.20	430.00	86.00
07/22/15	Conference with co-counsel regarding proposed final orders on first day motions	B110	JB	.40	375.00	150.00
07/22/15	Revise draft notice of proposed NOL order	в110	JB	.40	375.00	150.00
07/22/15	Draft and revise claims bar date motion and emails regarding proposed procedures	B110	JB	2.20	375.00	825.00
07/22/15	Emails with clerks office regarding case status	B110	JB	.10	375.00	37.50
07/22/15	Conference with BA regarding proposed order and form of notice of 341 hearing	B110	JB	.40	375.00	150.00
07/22/15	Review order entered on 341 (.20) and work on publication and service of same with KCC (.30) and review additional notice parties (.10)	B110	JB	.60	375.00	225.00



PAGE 49 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Formulate strategy for providing notice of certain amendments to proposed orders and revise drafts of same	B110	JB	1.10	375.00	412.50
07/22/15	Emails with Pilar Tarry regarding updates to matrix	B110	ССМО	.20	495.00	99.00
07/22/15	Research disclosure issues for employment application (1.2); reconcile retainer and prepetition payments for disclosure (.20); review engagement letter regarding the same (.40); update conflicts search for litigation partners (.60); discuss with AliPartners (.20); research disclosure thresholds (.30); revise exhibits to employment application (.70)	B160	ССМО	3.60	495.00	1,782.00
07/22/15	Emails with Mitchell Mataya and James Bailey regarding publication notice	в110	ССМО	.20	495.00	99.00
07/22/15	Emails with Mitchell Mataya regarding 503(b)(9) claims (.30); research claims (.40)	В310	ССМО	.70	495.00	346.50
07/22/15	Emails with J.Bender, P.Darby and C.Tobler regarding creditors' committee formation meeting	В110	ССМО	.20	495.00	99.00
07/22/15	Emails with C.Tobler and J.Bender regarding interim compensation procedures motion and setting up meeting with BA to discuss interim compensation procedures	B160	ССМО	.30	495.00	148.50



PAGE 50 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Email from John Watson regarding commitments and contingencies footnote for Q2'15 10-Q	B120	ССМО	.20	495.00	99.00
07/22/15	Emails with P.Tarry regarding execution of retention applications by company and filing of same	B160	ССМО	.20	495.00	99.00
07/22/15	Email from Ann Young regarding Paul Weiss retention pleadings (.10) and reviewed pleadings (.30)	В160	ССМО	.40	495.00	198.00
07/22/15	Emails with C.Tobler, J.Bender, A.Young and J.Watkins regarding ACE insurance and revisions to order	в140	ССМО	.20	495.00	99.00
07/22/15	Calls with Kip Power at Babst Calland regarding ordinary course professionals procedures	B160	ССМО	.30	495.00	148.50
07/22/15	Revise ordinary course professionals motion and update exhibit listing ordinary course professionals	B160	ССМО	1.10	495.00	544.50
07/22/15	Email from P.Tarry regarding AlixPartners retention package (.10) and reviewed same (.30)	B160	ССМО	.40	495.00	198.00
07/22/15	Call with Mitchell Mataya regarding credit issues	в210	ССМО	.20	495.00	99.00
07/22/15	Emails with C.Tobler and K.Manoukian regarding ordinary course professionals motion	B160	ССМО	.10	495.00	49.50



PAGE 51 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Emails with A.Young regarding revisions to exhibits to employment application	B160	ССМО	.20	495.00	99.00
07/22/15	Revise BABC employment retention pleadings	B160	ССМО	.20	495.00	99.00
07/22/15	Correspondence with Mitchell Mataya regarding basis in court orders and Bankruptcy Code for postpetition payments in the ordinary course of business	B210	ССМО	.30	495.00	148.50
07/22/15	Revised interim compensation motion	B160	CCMO	.60	495.00	297.00
07/22/15	Email from B.Gaines regarding proposed operating order (.10) and reviewed operating order (.20) and discuss with Alix and legal team (.20)	B110	ССМО	.50	495.00	247.50
07/22/15	Reviewed summary of recently filed pleadings from KCC	B110	ССМО	.20	495.00	99.00
07/22/15	Prepare amended top 50 list (.10) and discuss with N.Kramer (.20)	B110	ССМО	.30	495.00	148.50
07/22/15	Reviewed proposed amendment to cash management order to address Comerica's objection and discussions with J.Bender and J.Bailey regarding the same	B110	ССМО	.40	495.00	198.00
07/22/15	Conference with D.Jury (United Steelworkers) regarding retiree benefits and 1114 issues	B220	JPD	.20	725.00	145.00
07/22/15	Conference with E.Doppelt regarding plan formulation and related issues	в320	JPD	.30	725.00	217.50

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 70 of 166



PAGE 52 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Calls from outside counsel regarding committee formation (.40); email regarding procedure (.20)	B110	JPD	.60	725.00	435.00
07/22/15	Review reclamation demand and respond	в310	JPD	.20	725.00	145.00
07/22/15	Review noticing issues and finalize 341 notice	B110	JPD	.20	725.00	145.00
07/22/15	Prepare employment applications	B160	JPD	.80	725.00	580.00
07/22/15	Review BA operating order and explain to client	B110	JPD	.30	725.00	217.50
07/22/15	Examine 363 sale issues	B130	JPD	.20	725.00	145.00
07/22/15	Call from methane gas well - owner regarding bankruptcy issues	В210	JPD	.30	725.00	217.50
07/22/15	Calls from various vendors regarding critical vendor status and credit terms and discuss with client	В210	JPD	1.10	725.00	797.50
07/22/15	Conference with D.Jury regarding union claims (.20); conference with client regarding committee membership (.30); prepare amended 50 largest (.20); research claims (.50)	B250	JPD	1.20	725.00	870.00
07/22/15	Review and comment on litigation aspects of 10-Q	В910	JPD	.30	725.00	217.50
07/22/15	Conference with disclosure team regarding employment application issues (.30); review and analyze materials and comment (.60)	B160	JDWA	.90	480.00	432.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 71 of 166



PAGE 53 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Conference with counsel regarding motion to lift stay in compensation case	в140	JDWA	.20	480.00	96.00
07/22/15	Conference with J.Bender on 10Q discussion of effects of bankruptcy stay	B210	JKM	.10	575.00	57.50
07/22/15	Conference with T.Thompson on sale process issues (.20); email K.Love on sales process questions (.10); conference with C.Grissom on transfer tax issues (.20); conference with M.Whitaker on transfer recording fee issues (.30); email to R.Takla on transfer process issues (.60)	B130	JKM	1.40	575.00	805.00
07/22/15	Call with client, AliPartners , and bankruptcy co-counsel regarding vendor issues (.70); review, analyze, and respond to inquiries from various trade vendors, mineral interest owners, and other creditors regarding bankruptcy (1.80); confer with client regarding various critical vendor and other trade issues (.70)	B280	JRB	3.20	610.00	1,952.00
07/22/15	Review proposed amended order regarding Comerica concerns about cash management order (.3); confer with client and bankruptcy co-counsel regarding same and develop strategy (.5)	B110	JRB	.80	610.00	488.00
07/22/15	Analyze issues regarding workers comp program and confer with client and bankruptcy co-counsel regarding same (.9); evaluate stay issues concerning workers comp claims (.2)	B210	JRB	1.10	610.00	671.00



PAGE 54 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Confer with creditors regarding creditors committee questions (.2); confer with client and bankruptcy co-counsel regarding local procedures for formation of committees (.2); review correspondence regarding parties wishing to serve on committee (.2)	B110	JRB	.60	610.00	366.00
07/22/15	Review proposed insert to 6/30/15 10-Q (.10) and discuss with J.Watson (.10)	В210	JRB	.20	610.00	122.00
07/22/15	Review operating order (.2); review proposed orders and notices, and review pleadings and notices filed with court (.2);	B110	JRB	.40	610.00	244.00
07/22/15	Work on disclosures relating to employment application (4); analyze interim comp procedures issues (.2)	B160	JRB	.60	610.00	366.00
07/22/15	Research and draft memorandum on regulatory procedures for asset transfers in 363 sale (1.7); conference with J.Molen regarding same (.2)	B130	TMT	1.90	495.00	940.50
07/22/15	Conference with J.Molen regarding recording taxes on transfer of assets	в130	MWJR	.30	585.00	175.50
07/22/15	Review and cross-match state court orders, placing Jim Walter Resources, Inc.'s Jefferson County, Bessemer Division and Tuscaloosa workers' compensation matters on administrative docket, pursuant to defendant's filed notices of bankruptcy and suggestion of stay	B910	СКМ	.70	230.00	161.00



PAGE 55 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/22/15	Review WBWB leases to determine parties and notice provisions	B110	VCW	5.90	240.00	1,416.00
07/22/15	Conference with J.Long and J.Molen to discuss sales/use tax consequences of asset sales for Walter entities	в130	CRG	.20	530.00	106.00
07/22/15	Conference with J.Long on 2009 preliminary assessment from Alabama Department of Revenue and appeal options	B240	CRG	.30	530.00	159.00
07/22/15	Telephone conference with M.Hurley on Alabama Department of Revenue assessments and appeal options	B240	CRG	.30	530.00	159.00
07/22/15	Revise summary of case deadlines	B110	KAK	.40	235.00	94.00
07/23/15	Revise summary of case deadlines and obligations	в110	KAK	2.90	235.00	681.50
07/23/15	Review WBWB leases to determine parties and notice provisions and preparation of Schedule G	В110	VCW	9.60	240.00	2,304.00
07/23/15	Conference with J.Molen regarding 363 sale analysis (.1); draft memorandum regarding regulatory processes (2.7); further research and analysis of regulations (.5); conference with J.Molen regarding draft memorandum (.1); revise memorandum (.2); review e-mail correspondence with K.Love regarding regulatory process questions (.1)	B130	TMT	3.70	495.00	1,831.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 74 of 166



PAGE 56 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Review correspondence regarding Comerica requested amendments to cash management order and confer with bankruptcy co-counsel regarding same (.5); phone call with Comerica counsel (.4); review correspondence from Comerica counsel regarding requested transfer (.2); confer with client and co-counsel regarding Comerica request (.5)	B210	JRB	1.60	610.00	976.00
07/23/15	Meet with client and AlixPartners at client offices regarding schedules and SOFA's (2.6); work on internal procedures for organizing information and handling other case-related issues (.7)	B110	JRB	3.30	610.00	2,013.00
07/23/15	Respond to inquiries from vendors, trade creditors, and lease parties regarding bankruptcy issues	B210	JRB	.80	610.00	488.00
07/23/15	Phone call with client regarding issues pertaining to mineral leases (.20) and research same (.40)	B260	JRB	.60	610.00	366.00
07/23/15	Review correspondence regarding Walter Coke permits and confer with client regarding same	В210	JRB	.30	610.00	183.00
07/23/15	Confer with client and counsel regarding labor strike and security issues	B250	JRB	.60	610.00	366.00
07/23/15	Work on employment applications for debtors' professionals (.2); assess interim compensation procedures and various options relating to same (.2)	B160	JRB	.40	610.00	244.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 75 of 166



PAGE 57 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Work on revisions to disclosure statement draft and coordinate with bankruptcy co-counsel regarding same	в320	JRB	.40	610.00	244.00
07/23/15	Confer with client and AlixPartners regarding utility claims and potential treatment of same	В310	JRB	.30	610.00	183.00
07/23/15	Analyze issues concerning workers comp claims, settlement of same, and stay issues	B210	JRB	.30	610.00	183.00
07/23/15	Analyze issues concerning proposed 363 sale process and confer with corporate counsel regarding same	B130	JRB	.60	610.00	366.00
07/23/15	Conference with T.Thompson on 363 process memo (.10); review draft 363 project outline and email to J.Bender regarding same (.30); review draft memo on permit process to working group and conference with S.Trant regarding same (.70); conference with J.Bender on memo and 363 process (.30); review 363 term sheet with respect to memo (.30); conference with T.Thompson on permit memo issues (.70); email memo to K.Love on permit process issues (.60); conference with S.Trant on permit issues (.10); review K.Love response to question (.10)	В130	JKM	3.20	575.00	1,840.00
07/23/15	E-mails to and from J.Woodrum regarding meeting with coal expert	в250	JDWA	.30	480.00	144.00



PAGE 58 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Conferences with counsel and client regarding security, strike contingency plans	В250	JDWA	.60	480.00	288.00
07/23/15	E-mails with E.Doppelt, J.Bender, B.Chopin regarding 10-Q	B210	JDWA	.30	480.00	144.00
07/23/15	Review transcripts and declarations in Patriot in preparation for meeting with 1113 expert	B250	JDWA	1.20	480.00	576.00
07/23/15	E-mails with counsel regarding air pollution/permit matters	B210	JDWA	.10	480.00	48.00
07/23/15	Compile information for employment application	B160	JDWA	.40	480.00	192.00
07/23/15	Review draft employment application and declaration	B160	JDWA	.40	480.00	192.00
07/23/15	Telephone conference with client D.Gruzca about strike and security concerns	B250	JWH	.60	515.00	309.00
07/23/15	Review issues of transfer of explosives permit for inclusion in memo regarding asset transfer	B130	SJT	.30	630.00	189.00
07/23/15	Review Oil & Gas Board issue for memo regarding asset transfer	в130	SJT	.30	630.00	189.00
07/23/15	Review checklist from Paul Weiss for 363 process (.10) and conference with J.Molen regarding environmental issues (.10)	B130	SJT	.20	630.00	126.00



PAGE 59 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Review current research regarding mining permits and reclamation bonds in 363 sale and review memo regarding same from T.Thompson	B130	SJT	.60	630.00	378.00
07/23/15	Review issues and open items for 363 sale (.20); analyze recording and transfer tax issues (.30); analyze sales taxes on personal property (.10)	B130	JPD	.60	725.00	435.00
07/23/15	Prepare professional retention applications	B160	JPD	.60	725.00	435.00
07/23/15	Multiple conferences with vendors regarding claims and trade credit	B210	JPD	.80	725.00	580.00
07/23/15	Review stay issues regarding account transfers (.20); discuss with client (.10)	B140	JPD	.30	725.00	217.50
07/23/15	Prepare revised union presentation (.70); review background and prepare trial and research outline (1.40)	B250	JPD	2.10	725.00	1,522.50
07/23/15	Review 1114 issues and research regarding rejection of benefits	в220	JPD	.40	725.00	290.00
07/23/15	Call with James Bailey, Tom Corbett, Paul Weiss and AlixPartners regarding section 1114 solicitation procedures (.50); reviewed section 1114 motion in preparation for call (.20)	B110	ССМО	.70	495.00	346.50
07/23/15	Reviewed draft operating order (.20); correspondence with legal team and Pilar Tarry regarding operating order (.10)	B110	ССМО	.30	495.00	148.50



PAGE 60 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Reviewed draft of electronic proof of claim form (.20); correspondence with Pilar Tarry and James Bailey regarding comments to electronic proof of claim (.10)	B110	ССМО	.30	495.00	148.50
07/23/15	Reviewed new case activity and revise summary of obligations, consents, and deadlines	B110	ССМО	.40	495.00	198.00
07/23/15	Reviewed Amended and Restated Coal Handling Agreement with Alabama State Port Authority (.30); call with Mitch Mataya regarding Alabama State Port Authority Critical Vendor Agreement (.10); reviewed and revised critical vendor agreement with Alabama State Port Authority (.30)	B210	ССМО	.70	495.00	346.50
07/23/15	Call with Mitch Mataya regarding critical vendor agreements (.30); reviewed form critical vendor agreements (.30); drafted form critical vendor agreement to track language of interim order approving critical vendor payments (.60)	B210	ССМО	1.20	495.00	594.00
07/23/15	Correspondence with Claudia Tobler and James Bailey regarding UMWA's willingness to serve on section 1114 committee (.10); review law regarding the same (.20) and reviewed letter from USW affirming that it will serve as authorized representative for purposes of section 1114(b) and (c) of the Code (.10); research and prepare agenda for call regarding section 1114 committee	B110	ССМО	.60	495.00	297.00



PAGE 61 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	solicitation issues (.20)					
07/23/15	Correspondence with KCC regarding draft bar date motion (.20); review draft motion (.30); discuss related issues with AlixPartners (.20)	B110	ССМО	.70	495.00	346.50
07/23/15	Correspondence with Pilar Tarry and legal team regarding 1114 committee and USW's position regarding representation on same	B110	ССМО	.30	495.00	148.50
07/23/15	Revised motion for relief from stay to permit workers' compensation claims to proceed in the ordinary course (.40); review case law regarding same (.40); discuss with co-counsel (.10)	B140	ССМО	.90	495.00	445.50
07/23/15	Correspondence with client regarding collateral posting for self insurance and related agreements	B210	ССМО	.20	495.00	99.00
07/23/15	Correspondence with Mitch Mataya, Michael Griffin, and Joe Mazzoti regarding Murray Guard agreement	B210	ССМО	.20	495.00	99.00
07/23/15	Call with Ann Young regarding employment applications (.10); review exhibits and comment (.20)	B160	ССМО	.30	495.00	148.50
07/23/15	Correspondence with Jayna Lamar regarding employment applications	B160	ССМО	.10	495.00	49.50
07/23/15	Correspondence with John Woodrum regarding Ogletree employment application and declaration	B160	ССМО	.20	495.00	99.00

# Case 15-02741-TOM11

## 1 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 80 of 166



PAGE 62 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Correspondence from KPMG regarding employment application	В160	ССМО	.10	495.00	49.50
07/23/15	Correspondence with Claudia Tobler and Pilar Tarry regarding ordinary course professional retention	В160	ССМО	.20	495.00	99.00
07/23/15	Correspondence with Michael Rudnick regarding interim compensation procedures motion	B160	ССМО	.20	495.00	99.00
07/23/15	Revise schedule 2 to declaration in support of BABC's retention (.30); revise application (.20) and declaration	B160	ССМО	.70	495.00	346.50
07/23/15	Reviewed list of OCPs to confirm completeness and accuracy of same and revise motion	B160	ССМО	.60	495.00	297.00
07/23/15	Draft and revise bar date motion	в110	JB	5.10	375.00	1,912.50
07/23/15	Review on ECF noticing issues (.20); prepare form of notice of motion cover and emails regarding same (.20)	В110	JB	.40	375.00	150.00
07/23/15	Conference with AlixPartners regarding bar date (.30); conference and emails with KCC regarding proposed bar date procedures (.50)	B110	JB	.80	375.00	300.00
07/23/15	Conference with BA regarding proposed 1114 procedures (.60); conference with USW regarding 1114 procedures (.30); emails to multiple parties regarding proposed 1114 procedures (.30)	B110	JB	1.20	375.00	450.00



PAGE 63 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	Respond to emails regarding USW and 1114 committee	B220	JB	.20	375.00	75.00
07/23/15	Advise KCC on noticing of proposed NOL order regarding SEC comments	в110	JB	.20	375.00	75.00
07/23/15	Research disclosure obligations under bankruptcy rule 2015.3	B110	JB	.30	375.00	112.50
07/23/15	Revise case management memo on important deadlines and hearings	в110	JB	.80	375.00	300.00
07/23/15	Call with Michael Rudnick regarding Blackstone retention application (.20); research applicability of rule 2016 to retentions authorized under section 328 of the Code (.80); reviewed Blackstone retention application and supporting declaration (.60) and revise (.30)	B160	ССМО	1.90	495.00	940.50
07/23/15	Call with G.Hensley regarding settlement procedures (.30) and analyze same and draft memo (.50)	в110	JW	.80	330.00	264.00
07/23/15	Research and analyze scope of stay regarding administrative proceedings (.70) and appeals (.20)	B140	JW	.90	330.00	297.00
07/23/15	Revise motion to modify stay regarding workers' compensation matters	в140	JW	.30	330.00	99.00
07/23/15	Review comments regarding important dates and deadlines (.30) and work on updating memorandum (.80)	В110	JW	1.10	330.00	363.00



PAGE 64 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/23/15	E-mail from J.Molen regarding plan and sale procedures (.10); discuss with J.Bender (.20); research and analysis regarding plan and sale procedures (2.4); draft and revise summary of research and analysis (.60)	B110	JW	3.30	330.00	1,089.00
07/23/15	Emails with M.Mataya and V.Henley regarding status of oil and gas lease review for Schedule G listing (.40); conference with V.Henley regarding same (.50)	B110	SME	.90	310.00	279.00
07/24/15	Review status of 1113/1114 discovery preparations (.20); conference with J.Watson regarding same (.10)	B250	SME	.30	310.00	93.00
07/24/15	Research cases regarding treatment of coal mining leases in bankruptcy	B260	ZC	1.60	205.00	328.00
07/24/15	Incorporate revisions to the motion to modify the stay regarding workers' compensation matters	B140	JW	.20	330.00	66.00
07/24/15	Research and analysis regarding plan and sale procedures	в320	JW	1.10	330.00	363.00
07/24/15	Draft and revise summary of additional research and analysis regarding plan and sale procedures	в320	JW	1.60	330.00	528.00
07/24/15	Draft and revise agenda for July 28, 2015 hearing	в110	JW	.30	330.00	99.00
07/24/15	Analyze workers' liquidation compensation procedures	B210	JW	.40	330.00	132.00



PAGE 65 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	E-mail from G.Hensley regarding pending litigation (.10); call with J.Hargrove regarding the scope of the automatic stay on workers' compensation matters (.10); e-mails with G.Hensley, J.Watson and J.Bender regarding the scope of th automatic stay on workers' compensation matters (.10); call with local litigation counsel regarding the scope of the automatic stay (.30)	B910	JW	.60	330.00	198.00
07/24/15	Revise schedule 1 to employment application	B160	ССМО	.20	495.00	99.00
07/24/15	Email A.Young regarding comments to PW employment application (.10); reviewed draft PW employment application (.20)	В160	ССМО	.30	495.00	148.50
07/24/15	Email from J.Bender regarding overriding royalty interests (.10); research of issue of how minerals leases are treated in bankruptcy (.20)	B260	CCMO	.30	495.00	148.50
07/24/15	Emails with P.Darby regarding disclosures for declaration (.20); revisions to BABC employment retention pleadings (.70)	B160	CCMO	.90	495.00	445.50
07/24/15	Calls to court to set omnibus hearing dates and emails to counsel regarding same	в110	JB	.60	375.00	225.00
07/24/15	Review docket and advise client and co-counsel on objection status for pending motions	В110	JB	.10	375.00	37.50

Case 15-02741-TOM11



PAGE	66	5	
SEPTEMBE	ER	21,	2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Research issues related to pending section 1114 committee motion and upcoming hearing	В220	JB	.20	375.00	75.00
07/24/15	Review notices of appearance and pro hac motions regarding service issues	в110	JB	.20	375.00	75.00
07/24/15	Revise proposed agenda for hearing and emails regarding same	в110	JB	.20	375.00	75.00
07/24/15	Conference with co-counsel and KCC regarding bar date motion and strategy regarding same	B310	JB	.80	375.00	300.00
07/24/15	Respond to emails regarding potential claim objection procedures	в310	JB	.10	375.00	37.50
07/24/15	Conference with clerk's office regarding filing of proofs of claim	в310	JB	.10	375.00	37.50
07/24/15	Review AEP objection to utilities motion and order and e-mail summary of same	В210	JB	.70	375.00	262.50
07/24/15	Conference and emails with opposing counsel regarding expedited hearing on 1114 committee and supplemental wage order and potential objections	B110	JB	.20	375.00	75.00
07/24/15	Review inquiries regarding asset sales and forward to Blackstone (.20); research regarding treatment of certain assets in bankruptcy (.40)	B130	JB	.60	375.00	225.00
07/24/15	Review self insurance collateral and related issues	B210	ССМО	.20	495.00	99.00



PAGE 67 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Emails with M.Mataya regarding acknowledgement forms for changes to postpetition credit terms (.20); review revised form and comment (.20)	B210	ССМО	.40	495.00	198.00
07/24/15	Respond to email from M.Mataya regarding 503(b)(9) letter	В310	ССМО	.20	495.00	99.00
07/24/15	Research open issue for declaration (.20) and work regarding conflicts clearance issues for employment retention application (1.20)	B160	ССМО	1.40	495.00	693.00
07/24/15	Reviewed objection to utilities order filed by Appalachian Power Co. and outline responses	B110	ССМО	.40	495.00	198.00
07/24/15	Emails with client regarding Comerica issue on cash management	B110	ССМО	.20	495.00	99.00
07/24/15	Calls and emails with D.Ferretti, Regions counsel, regarding check dishonored by Regions (.60); discuss with client (.30); discuss with chapter 13 trustee (.20)	B210	ССМО	1.10	495.00	544.50
07/24/15	Emails to J.Lamar and J.Woodrum regarding parties in interest list for updated disclosure	B160	ССМО	.30	495.00	148.50
07/24/15	Emails with J.Woodrum, C.Tobler, P.Tarry and J.Bailey regarding UMWA service on 1114 committee	B110	ССМО	.20	495.00	99.00
07/24/15	Reviewed KCC summary of newly filed pleadings and forward to client	в110	ССМО	.20	495.00	99.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 86 of 166



PAGE	68	
SEPTEMBE	ER 21	, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Revise and update ordinary course professional list	в160	ССМО	.20	495.00	99.00
07/24/15	Emails with C.Tobler and J.Bailey regarding Appalachia objection to utilities motion	B110	ССМО	.20	495.00	99.00
07/24/15	Collect comments and finalize Paul Weiss, BABC, and Ernst & Young retention applications (.90) and discuss with co-counsel (.30)	B160	ССМО	1.20	495.00	594.00
07/24/15	Review of bankruptcy administrator reporting functions regarding draft monthly operating report (.20) and discuss with accounting personnel (.20)	B110	JPD	.40	725.00	290.00
07/24/15	Respond to vendor inquiries regarding post-petition credit	B210	JPD	.30	725.00	217.50
07/24/15	Prepare UMWA 1113 presentation on CBA (.70); review information on union financials (.10)	B250	JPD	.80	725.00	580.00
07/24/15	Prepare section 1114 presentation on retire benefits	в220	JPD	.20	725.00	145.00
07/24/15	Respond to calls from lessors regarding royalty payments (.40); review documents regarding same (.20)	В210	JPD	.60	725.00	435.00
07/24/15	Call from S.Crawford regarding wage deduction check (.20); and work on bank administration (.10)	B210	JPD	.30	725.00	217.50



PAGE 69 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Review dispute regarding interest payment (.20) and review cash collateral order regarding same (.30); discuss with co-counsel (.30)	B330	JPD	.80	725.00	580.00
07/24/15	Review Alabama Power demand and contract issues (.20); analyze process under 366 order (.10)	B210	JPD	.30	725.00	217.50
07/24/15	Review Alabama tax assessment papers and analyze procedures under 505	B210	JPD	.30	725.00	217.50
07/24/15	Prepare professional retention applications	B160	JPD	.40	725.00	290.00
07/24/15	Review materials and prepare for hearing on motion to appoint 1114 committee	B220	JPD	.30	725.00	217.50
07/24/15	Respond to information request regarding 363 sale issue	в130	JPD	.10	725.00	72.50
07/24/15	Conference call with co-counsel regarding assets, permits, and change of control issues	в130	SJT	.40	630.00	252.00
07/24/15	Review K.Love instruction on Oil and Gas Board issue (.10) and respond (.10)	B130	SJT	.20	630.00	126.00
07/24/15	Research regarding stock versus asset sale with respect to permit issues (.10); research regarding transfer of Alabama permits in a 363 asset sales, including Walter Coke Title V (.60) and email JCHD regs to T.Thompson (.10)	B130	SJT	.80	630.00	504.00



PAGE 70 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Review revised memo regarding regulatory steps for mining company asset sale and provide comments to team regarding air permitting (.60); online research regarding Walter facilities and permits and provide to team (.80); telephone conference with J.Molen regarding permits (.20)	B130	SJT	1.60	630.00	1,008.00
07/24/15	Prepare stay notices for additional cases in workers' compensation (.30) and respond to questions of opposing counsel about these stays (.20)	B910	ЈМН	.50	515.00	257.50
07/24/15	E-mails with client and counsel regarding Tuscaloosa County post-petition comp lawsuits	В910	JDWA	.30	480.00	144.00
07/24/15	Conference with S.Merkle regarding 1113/1114 possible issues	B250	JDWA	.10	480.00	48.00
07/24/15	Review expert declarations and Patriot testimony (.40) and email comments to J.Woodrum (.20)	B250	JDWA	.60	480.00	288.00
07/24/15	Telephone conference with K.Love, T.Thompson on permit transfer process (.90); conference with J.Bender on 363 sale process issues (.40); prepare for conference call with Paul Weiss and Blackstone on 363 process outline, checklist and post-call review with T.Thompson (.80); review revisions to permit memorandum, conference with T.Thompson regarding same and distribute to working group (.90)	B130	JKM	3.00	575.00	1,725.00



PAGE 71 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Phone call from Dominion counsel (.3); call with client regarding same (.2); call with T.Holt at Maynard regarding Dominion call (.4); confer with bankruptcy co-counsel regarding call (.3); confer with associate regarding research regarding executory contracts (.4)	B260	JRB	1.60	610.00	976.00
07/24/15	Analyze issues and confer with bankruptcy co-counsel regarding employment applications, interim compensation procedures, and questions posed by bankruptcy administrator	B160	JRB	.80	610.00	488.00
07/24/15	Field phone calls and e-mails from trade creditors, vendors, and other creditors regarding bankruptcy issues	B280	JRB	.70	610.00	427.00
07/24/15	Confer with client and AlixPartners regarding upcoming intake meeting and reporting requirements (.30); phone call with B.Gaines regarding meeting with bankruptcy administrator (.20); review documents to prepare for meeting (.20)	B110	JRB	.70	610.00	427.00
07/24/15	Phone calls and e-mails with successor trustees (.5); call with B.Gaines regarding request to amend list of creditors to include successor trustees (.1); follow up on requests and confer with co-counsel regarding same (.4)	B110	JRB	.90	610.00	549.00
07/24/15	Analyze stay issues relating to pending and post petition litigation	B910	JRB	.20	610.00	122.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 90 of 166



PAGE 72 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/24/15	Review correspondence regarding sale process discussions (.20) and confer with J.Molen regarding same (.60)	в130	JRB	.80	610.00	488.00
07/24/15	Review correspondence regarding workers comp claim procedures and confer with J.Watkins regarding same	B120	JRB	.20	610.00	122.00
07/24/15	Confer with client and co-counsel regarding Comerica and cash management order	в110	JRB	.20	610.00	122.00
07/24/15	Review e-mails from counsel for defendants in securities class action regarding stay relief motion and forward same to C.Tobler	B140	JRB	.20	610.00	122.00
07/24/15	Review letter from Alabama Power regarding adequate protection (.1); phone call with E.Ray regarding same (.2); follow up on Alabama Power issues (.3); review Appalachian objection and circulate same to team (.2)	B210	JRB	.80	610.00	488.00
07/24/15	Telephone conference with J.Molen and K.Love regarding regulatory matters (.80); telephone conference with working group regarding asset sales (.40); conference with J.Molen regarding due diligence (.10); additional research and revise memorandum regarding permitting issues and transfers (3.60); conference with J.Molen regarding draft memorandum (.10); e-mail conference with S.Trant regarding environmental permit discussion in memorandum (.10); further revise and finalize memorandum for	B130	ТМТ	6.20	495.00	3,069.00



PAGE 73 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	circulation to working group (1.10)					
07/24/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	4.80	240.00	1,152.00
07/24/15	Reviewed section 503(b)(9) and drafted 503(b)(9) notice for company to provide to vendors that may hold 503(b)(9) claims	B210	ССМО	.40	495.00	198.00
07/25/15	Work on revisions to list of 50 largest unsecured creditors per requests of successor indenture trustees and bankruptcy administrator's office (.10); confer with P. Darby regarding upcoming hearing and issues concerning case administration (.2); e-mails with client and co-counsel regarding critical vendor treatment of supplier (.1)	B110	JRB	.40	610.00	244.00
07/25/15	E-mails with J.Bender, C.Tobler, S.Torres, G.Wang, L.Ahari, insurer, regarding securities class action/derivative claim motions	B140	JDWA	.70	480.00	336.00
07/25/15	Prepare for hearing on employee benefit plans	B220	JPD	.40	725.00	290.00
07/25/15	Analyze cash collateral issues and work on lender negotiations	в330	JPD	.30	725.00	217.50
07/25/15	Review successorship documents (.10); and analyze amendment of top 50 creditors (.10)	в110	JPD	.20	725.00	145.00



PAGE 74 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/25/15	Review utility adequate assurance demand (.10) and outline 366 response (.10)	B210	JPD	.20	725.00	145.00
07/25/15	Emails with M.Mataya and J.Bender regarding Southern Alloy demands	B210	ССМО	1.80	495.00	891.00
07/25/15	Emails with P.Darby, J.Bender, and J.Bailey regarding successor trustee and substitution of same as creditor representative	B110	ССМО	.20	495.00	99.00
07/25/15	Research regarding USW's service on section 1114 committee and clarify with Bankruptcy Administrator	В110	ССМО	.30	495.00	148.50
07/25/15	Emails regarding Top 50 list and unsecured creditors committee selection process	В110	JB	.20	375.00	75.00
07/26/15	Email to P.Tarry regarding KPMG retention application	B160	ССМО	.20	495.00	99.00
07/26/15	Reviewed preference issues in connection with Southern Alloy matter	в210	ССМО	.40	495.00	198.00
07/26/15	Revised employment applications and declarations	B160	ССМО	.80	495.00	396.00
07/26/15	Research regarding overriding royalty interests	в120	ССМО	.60	495.00	297.00
07/26/15	Revise the motion to modify the stay regarding workers' compensation matters	в140	JW	.30	330.00	99.00
07/26/15	Review delivery issue regarding vendor's alleged maritime lien	B210	JPD	.20	725.00	145.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 93 of 166



PAGE	75	
SEPTEMB	ER 21	, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/26/15	Review royalty issues regarding Black Warrior Methane (.10); and response to lessor inquiry (.10)	B210	JPD	.20	725.00	145.00
07/26/15	E-mails with J.Bender, G.Wang, C.Tobler regarding motion regarding securities class action settlement, derivative claims	B140	JDWA	.70	480.00	336.00
07/26/15	Conference with J.Bender on 10-Q disclosure question	B210	JKM	.30	575.00	172.50
07/26/15	Review proposals and collective bargaining agreement issue list in preparation for expert meeting in D.C.	B250	JWH	1.80	515.00	927.00
07/26/15	Work on revisions to draft 10Q for 2nd quarter to address bankruptcy filing and related issues (5.8); e-mails with client regarding same (.20); discuss with J.Molen (.30)	B210	JRB	6.30	610.00	3,843.00
07/26/15	E-mails with co-counsel and defense counsel in securities class action litigation regarding settlement of same and hearing on motion for relief related thereto	B140	JRB	.30	610.00	183.00
07/26/15	Analyze issues concerning critical vendor negotiations and vendor questions about potential preference liability	В210	JRB	.20	610.00	122.00
07/26/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	7.20	240.00	1,728.00



PAGE 76 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	7.80	240.00	1,872.00
07/27/15	Revise summary of case deadlines and obligations (2.70), electronically file agenda with court filing system for hearing on July 28th (.60), draft list of all omnibus hearing dates and related deadlines (1.80)	B110	KAK	5.10	235.00	1,198.50
07/27/15	Emails with C Tobler and J Bailey regarding SEC comments to NOL order and hearing on same	B110	ССМО	.20	495.00	99.00
07/27/15	Emails with P.Darby, J.Bender and J.Bailey regarding 1114 questionnaire and meetings with BA	B110	ССМО	.20	495.00	99.00
07/27/15	Emails with JLamar regarding Maynard Cooper retention application	B110	ССМО	.20	495.00	99.00
07/27/15	Emails to B.Harvey's office transmitting and explaining draft employment applications	B160	ССМО	.20	495.00	99.00
07/27/15	Reviewed PBCG inquiry letter	B220	ССМО	.20	495.00	99.00
07/27/15	Emails with J.Woodrum regarding Ogletree retention application	B160	ССМО	.20	495.00	99.00
07/27/15	Review insurance requirements under operating report	B110	ССМО	.10	495.00	49.50
07/27/15	Reviewed draft covers for employment applications	B160	ССМО	.10	495.00	49.50

## Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 95 of 166

Case 15-02741-TOM11



PAGE 77 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Emails with J.Lamar, J.Woodrum, and P.Tarry regarding Steering Committee comments to their retention applications	B160	ССМО	.30	495.00	148.50
07/27/15	Revised BABC employment application	B160	ССМО	.40	495.00	198.00
07/27/15	E-mails with P.Tarry at AliPartners regarding reporting requirements and preparations for tomorrow's hearing (.2); phone call with P. Tarry regarding reporting requirements and upcoming meeting with Bankruptcy Administrator (.3); analyze reporting obligations under Rule 2015.3 and revise draft letter required by Rule (.2); work on amendment to creditors list and confer with successor trustee counsel regarding same (.2); work on preparations with co-counsel for tomorrow's hearings (.2)	B110	JRB	1.10	610.00	671.00
07/27/15	E-mails with co-counsel regarding disclosure statement (.2); confer with B. Chopin at company regarding disclosure statement (.2); review and incorporate comments of co-counsel into disclosure statement (1.1); work on revisions to disclosure statement (1.9)	В320	JRB	3.40	610.00	2,074.00
07/27/15	Work on revisions to draft 10-Q regarding bankruptcy provisions (1.7); confer with B. Chopin at company regarding same (.4); circulate revised draft of 10-Q and confer with outside securities counsel regarding same (.5)	B210	JRB	2.60	610.00	1,586.00



PAGE 78 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Analyze issues concerning interest of Dominion Resources Trust in Walter Black Warrior Basin trust (.4); meet with associate regarding document review and research project regarding same (.5); phone call with counsel for Dominion Resources Trust regarding royalties issue (.2)	B120	JRB	1.10	610.00	671.00
07/27/15	Review correspondence from trade creditor regarding asserted lien rights (.2); confer with M. Mataya regarding lien creditor issue (.1)	B310	JRB	.30	610.00	183.00
07/27/15	E-mails with J.Ezelle, J.Bender regarding date for hearing on securities fraud/derivative lawsuit motions	B140	JDWA	.20	480.00	96.00
07/27/15	Travel to DC and meet with 1113 team for negotiations strategy and preparation for trial (6 hours airport delay not billed)	B250	JWH	10.20	515.00	5,253.00
07/27/15	Review expert testimony and several bankruptcy reported decisions involving experts to appear at 1113 hearing	B250	JWH	2.60	515.00	1,339.00
07/27/15	Email exchange with K.Love on initial review of 363 permit process memo	в130	JKM	.10	575.00	57.50
07/27/15	Review expert declarations and cross-examination in Patriot regarding 1113 issues	B250	JDWA	1.80	480.00	864.00



PAGE 79 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Attend meeting with consultant and litigation team in D.C. regarding expert testimony issues and preparation (10.20); e-mail with P.Darby regarding 1113 trial procedures (.20) (6 hours travel/delay time not billed)	B250	JDWA	10.40	480.00	4,992.00
07/27/15	Prepare employment applications	B160	JPD	.30	725.00	217.50
07/27/15	Review 363 issues regarding transfers of licenses and permits	в130	JPD	.20	725.00	145.00
07/27/15	Prepare for hearing on 1114 motion (.20); review questionnaire (.10); discuss open issues with co-counsel (.20); review USW request for appointment and analyze with co-counsel (.20); email D.Jury regarding same (.10)	B110	JPD	.80	725.00	580.00
07/27/15	Call from F.Anderson regarding PBGC claims (.30): review and forward correspondence (.1)	B220	JPD	.40	725.00	290.00
07/27/15	Conference with S.Zelin regarding financing issues	в330	JPD	.20	725.00	145.00
07/27/15	Review RSA regarding open issues and triggers (.20); review cash collateral order regarding budgetary issues and defaults and triggers (.40)	B330	JPD	.60	725.00	435.00
07/27/15	Review K.Love comments and revise permit transfer memo	в130	SJT	.20	630.00	126.00

Case 15-02741-TOM11



PAGE 80 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Review and analyze reporting requirements under the Bankruptcy Rules (.40); review corporate documents of non-debtor, related entity for reports required by the Bankruptcy Rules (.80)	B110	JW	1.20	330.00	396.00
07/27/15	Research nature of real estate issues relating to Black Warrior leases and related trust documents	в120	DH	3.20	325.00	1,040.00
07/27/15	Call with G.Hensley and R.Crabb regarding procedures for local counsel regarding pending litigation and similar proceedings (.80); analyze (.20) and draft (.60) memo regarding same	B910	JW	1.60	330.00	528.00
07/27/15	Call with local counsel regarding notice of bankruptcy in pending litigation	в910	JW	.10	330.00	33.00
07/27/15	Research cases regarding nature of mining lease as a property interest in foreign jurisdiction	B120	ZC	1.20	205.00	246.00
07/27/15	Research regarding retainer treatment proposed by Steering Committee counsel (.30) and discuss with co-counsel (.10)	В160	ССМО	.40	495.00	198.00
07/27/15	Revisions to BABC employment application and declaration	B160	ССМО	.60	495.00	297.00
07/27/15	Correspondence and call with Mike Hall regarding preparation for 7/28 hearings	B110	ССМО	.30	495.00	148.50
07/27/15	Emails with Chris Callies regarding 7/28 hearings	в110	ССМО	.10	495.00	49.50



PAGE 81 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Reviewed newly filed proofs of claim and update disclosure analysis	в310	ССМО	.20	495.00	99.00
07/27/15	Emails with Ann Young regarding revised Paul Weiss employment application	B160	ССМО	.20	495.00	99.00
07/27/15	Emails with James Bailey, Pilar Tarry, Claudia Tobler regarding Rule 2015.3 disclosures (.20); research (.10) and draft same (.20)	B110	CCMO	.50	495.00	247.50
07/27/15	Emails with Monica Plangman of KPMG regarding KPMG retention application (.20); prepare application (.20) and discuss with Alix (.20) and co-counsel (.10)	B160	ССМО	.70	495.00	346.50
07/27/15	Emails from Ann Young and Kelley Cornish regarding retention issues	B160	ССМО	.20	495.00	99.00
07/27/15	Correspondence with client regarding retention applications	B160	ССМО	.20	495.00	99.00
07/27/15	Emails with Chris Callies regarding omnibus hearing dates and October hearings	В110	ССМО	.20	495.00	99.00
07/27/15	Emails with Ann Young and Dan Youngblut regarding parties in interest list (.20); review information regarding top 50 creditors and update disclosure analysis (.40) and revise disclosure form (.30)	B160	ССМО	.90	495.00	445.50



PAGE 82 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Reviewed contract with Endeavor Property Services to ascertain termination rights (.20); email (.10) and call with client regarding same (.20)	В210	ССМО	.50	495.00	247.50
07/27/15	Email with Chris Callies and James Bailey regarding notice of omnibus hearing dates	B110	ССМО	.10	495.00	49.50
07/27/15	Research 28 U.S.C. section 1409(b) preference threshold for negotiations with vendor	в310	ССМО	.20	495.00	99.00
07/27/15	Preparation for omnibus hearing on July 28	B110	JB	.60	375.00	225.00
07/27/15	Review case management order and review draft proposed order setting omnibus hearings and emails regarding same	B110	JB	.20	375.00	75.00
07/27/15	Research and revise draft bar date motion	B110	JB	1.30	375.00	487.50
07/27/15	Emails and conferences with client and co-counsel regarding updating Top 50 list for successor trustees	B110	JB	.40	375.00	150.00
07/27/15	Review recently filed proofs of claim	B280	JB	.20	375.00	75.00
07/27/15	Draft and revise letters to non-debtor entities regarding 2015.3 disclosures and emails regarding same (.80); research regarding parties that must receive 2015.3 notice (.60)	в110	JB	1.40	375.00	525.00

Case 15-02741-TOM11



PAGE 83 SEPTEMBER 21, 2015

OW1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/27/15	Revisions to motion to approve ordinary course professional procedures (.20) and research authority for compensation procedures (.70)	B160	JB	.90	375.00	337.50
07/27/15	Review order setting omnibus hearing dates and case management order (.20); advise on calendar updates for omnibus hearings and related matters (.40)	B110	JB	.60	375.00	225.00
07/27/15	Revise various employment applications for filing	B160	JB	1.10	375.00	412.50
07/27/15	Emails regarding omnibus hearing scheduling and utility agreements	В210	JB	.30	375.00	112.50
07/27/15	Review various motions to appear pro hac vice and notices of appearance (.30); conferences with KCC and emails with co-counsel regarding bar date scheduling (.30)	B110	JB	.60	375.00	225.00
07/27/15	Email from Sims Crawford regarding replacement check from Company for chapter 13 plan payments (.10) and email to Michael Griffin regarding electronic payment options for chapter 13 plan payments (.10)	B210	ССМО	.20	495.00	99.00
07/27/15	Emails from Mitchell Mataya regarding workers' compensation stay relief motion (.20); examine authority to post collateral re: workers' comp claims and handling of same in motion (.60); reviewed email from Michael Griffin regarding motion for relief from stay to proceed with workers' compensation	B140	ССМО	1.20	495.00	594.00



TASK ATTY. HOURS

B210

CCMO

CCMO

CCMO

PAGE 84 SEPTEMBER 21, 2015

OW1525-301028

.30 495.00

.30 495.00

.40 495.00

.30 495.00

	FED ID NO. 63-0243316
RATE	AMOUNT

148.50

198.00

148.50

198.00

148.50

claims (.10) and research regarding self-insurance collateral (.30)

DATE

DESCRIPTION

- 07/27/15 E-mail from KCC regarding newly filed B110 CCMO pleadings (.10); reviewed calendar and newly docketed deadlines (.20)
- 07/27/15 Drafted email to Steering Committee B160 CCMO .40 495.00 counsel transmitting revised employment applications and responding to points raised by Steering Committee counsel (.30); correspondence with P.Darby regarding Blackstone employment application (.10)
- 07/27/15 Emails to and from Mitchell Mataya analyzing vendor issues
- 07/28/15 Email Robert Fleder regarding financial B220 projections (.10); reviewed 8-K lender presentation for PBCG (.30)
- 07/28/15 Email with Ann Young regarding billing B160 task codes for projects (.10) and work regarding setting up new task codes for billing (.20)
- 07/28/15 Emails with Michael Rudnick regarding B160 CCMO 1.10 495.00 544.50 ordinary course profession procedures (.20); reviewed OCP orders entered in local chapter 11s (.40); research OCP scope of work (.30); discuss with lender counsel (.20)



PAGE 85 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Correspondence with Claudia Tobler regarding notice of motion for relief on workers' compensation claims (.10); prepare notice of motion for stay relief (.20)	B110	ССМО	.30	495.00	148.50
07/28/15	Correspondence with Jayna Lamar regarding notice provision for application (.10); reviewed email from Jayna Lamar regarding scope of Maynard's work (.20); revise Maynard application (.30)	B160	ССМО	.60	495.00	297.00
07/28/15	Emails with various professionals regarding status of filing employment applications and revised hearing date (.20) reviewed revised case timeline (.20)	B160	ССМО	.40	495.00	198.00
07/28/15	Reviewed draft 2015.3 letter (.20); discuss with Alix Partners regarding 2015.3 letter (.20) and review with client and co-counsel (.30)	B110	ССМО	.70	495.00	346.50
07/28/15	Received and reviewed email from ACE insurance counsel regarding workers' compensation claims (.20); email with Ann Young regarding ACE insurance requests (.10); additional emails with ACE counsel regarding stay (.30)	B140	ССМО	.60	495.00	297.00
07/28/15	Emails with Ann Young and James Bailey regarding motion to modify stay to proceed with workers' compensation claims (.10); reviewed notices of filing motion for relief to proceed with workers' compensation claims (.20)	B140	ССМО	.30	495.00	148.50

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 104 of 166



PAGE 86 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Prepare proposed orders on severance, bonus program, and 1114 committee (1.2) and emails with BA and other appearing counsel regarding same (.40); conference with BA regarding proposed order on severance and bonus program (.10)	B110	JB	1.70	375.00	637.50
07/28/15	Conference with BA regarding amended top 50 list (.20); arrange for finalizing, filing and service of amended to 50 unsecured list (.30)	B110	JB	.50	375.00	187.50
07/28/15	Review severance and bonus order and emails with debtor representatives and professionals regarding same	B110	JB	.20	375.00	75.00
07/28/15	Revisions to draft bar date motion and emails regarding same	в310	JB	1.70	375.00	637.50
07/28/15	Assist with finalizing, filing, and serving motion for stay relief, notice regarding amended NOL order, and motion to approve ordinary course professional procedures	B110	JB	2.60	375.00	975.00
07/28/15	Preparation for hearing on severance, bonus program, and 1114 committee (1.5); attend hearing on severance, bonus program, and 1114 committee (.60)	B110	JB	2.10	375.00	787.50
07/28/15	Review various notices of appearance and pro hac orders and update service list	B110	JB	.20	375.00	75.00

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 105 of 166

Case 15-02741-TOM11



PAGE 87 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Replied to email from Michael Riela regarding Ernst & Young retention application	B160	ССМО	.10	495.00	49.50
07/28/15	Emails with Pilar Tarry regarding AlixPartners retention application	B160	ССМО	.20	495.00	99.00
07/28/15	Emails with Pilar Tarry regarding status of KPMG retention application	B160	ССМО	.20	495.00	99.00
07/28/15	Research 11th Circuit and Alabama law regarding evergreen retainers in chapter 11 cases (.40); discuss retainers with client regarding professional applications (.30); review terms in multiple prefessional retention applications (.60) and discuss with various professionals (.40); revise applications (1.6); email clients and professionals regarding same (.30); discuss with lender counsel (.20)	B160	ССМО	3.80	495.00	1,881.00
07/28/15	Emails with Pilar Tarry and legal team regarding insurance reporting requirements	B110	ССМО	.20	495.00	99.00
07/28/15	Email with Pilar Tarry regarding omnibus hearings	B110	ССМО	.10	495.00	49.50
07/28/15	Emails with Mike Riela regarding revisions to EY application and declaration	B160	ССМО	.20	495.00	99.00

Case 15-02741-TOM11



PAGE 88 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Emails with Kaitlyn Sundt at AlixPartners regarding information needed for AlixPartners retention application (.20); update same (.10)	B160	ССМО	.30	495.00	148.50
07/28/15	Call client regarding consent to workers' comp stay relief motion	B140	ССМО	.10	495.00	49.50
07/28/15	Reviewed order granting severance and bonus motion and email client regarding same (.10); call client regarding supplemental wage issue (.10)	B110	ССМО	.20	495.00	99.00
07/28/15	Call to Chris Callies regarding status of employment applications (.10) calls to counsel regarding status (.20)	B160	ССМО	.30	495.00	148.50
07/28/15	Emails with Kristine Manoukian, Michael Rudnick, and James Bailey regarding NOL order distribution	в110	ССМО	.20	495.00	99.00
07/28/15	Research cases regarding coal mining leases as property interests	в120	ZC	.70	205.00	143.50
07/28/15	Review spreadsheets provided by R.Cotton to determine remaining WBWB contracts and right-of-way agreements needing review (1.10); emails with R.Cotton regarding same (.20); phone call with V.Henley regarding progress of review (.20)	В120	SME	1.50	310.00	465.00
07/28/15	Research issues relating to property interests under leases and review leases and related documents (8.3); draft memorandum summarizing Black Warrior Trust documents and Alabama case law	B120	DH	10.60	325.00	3,445.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 107 of 166



> PAGE 89 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	(2.3)					
07/28/15	Review corporate documents of non-debtor, related entity for reports required by the Bankruptcy Rules	B110	JW	.80	330.00	264.00
07/28/15	Analyze stay relief arguments for tax proceedings	B240	JW	.70	330.00	231.00
07/28/15	E-mails with M.Rudnick and G.Hensley regarding motion on ordinary course professionals (.10); call with G.Hensley regarding revisions to motion on ordinary course professionals (.30)	B160	JW	.40	330.00	132.00
07/28/15	Revise motion on ordinary course professional	B160	JW	.60	330.00	198.00
07/28/15	Conference with B.Harvey and J.Mesterharm regarding open financing issues	В330	JPD	.30	725.00	217.50
07/28/15	Meet with client to prepare for hearing on 1114 committee (.40); attend hearing (.40); conference with multiple parties regarding comments to motion and proposed order (.50); prepare and revise proposed order (.20); review section 1114(m) and BA comments to questionnaire (.10)	В220	JPD	1.60	725.00	1,160.00
07/28/15	Conference with B.Harvey regarding operational and governance issues	B210	JPD	.30	725.00	217.50



PAGE 90 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Meet with client and witness to prepare for hearing on supplemental wage motion (.5); review research and factual information and prepare hearing outline (.30); attend hearing (.40); review and revise proposed order (.10)	B110	JPD	1.30	725.00	942.50
07/28/15	Conference with client and co-counsel regarding PBGC correspondence and response	В220	JPD	.20	725.00	145.00
07/28/15	Review K.Love comments on permit process memo	в130	JKM	.10	575.00	57.50
07/28/15	Conference with C.Tobler and J.Bender regarding motions in securities, derivative cases (.20); review draft motions (.40) and comment (.20)	B910	JDWA	.80	480.00	384.00
07/28/15	Conference with co-counsel regarding expert 1113 issues and follow-up tasks	в250	JDWA	.20	480.00	96.00
07/28/15	Review comments from co-counsel to draft disclosure statement and incorporate same into draft (1.40); review first day declaration and SEC filings to incorporate information from those documents into disclosure statement (2.20); revise and circulate revised draft of disclosure statement to co-counsel and client (2.70); review draft plan and creditor comments to same (.30)	В320	JRB	6.60	610.00	4,026.00



PAGE 91 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Confer with co-counsel regarding securities class action settlement and motion for relief with respect to same	В140	JRB	.20	610.00	122.00
07/28/15	Review correspondence from Comerica counsel regarding cash management motion (.10); phone call with J.Vogtle, local counsel for Comerica, regarding same (.20); confer with client and co-counsel regarding cash management issues raised by Comerica (.20)	B110	JRB	.50	610.00	305.00
07/28/15	Respond to creditor inquiry from T.Stuckenschneider and follow up with company regarding same	В310	JRB	.10	610.00	61.00
07/28/15	Analyze issues concerning state department of revenue tax assessments and appeal (.20) and discuss with tax counsel (.10)	B240	JRB	.30	610.00	183.00
07/28/15	Review BA reporting requirements (.10) and discuss with Alix (.10)	в110	JPD	.20	725.00	145.00
07/28/15	Review securities issues regarding trading motion (.10) and SEC comments (.10) and revise motion (.20)	B210	JPD	.40	725.00	290.00
07/28/15	Conference with B.Harvey regarding amended creditor list	в110	JPD	.10	725.00	72.50
07/28/15	Conference call with clients and professionals regarding status and next steps	B110	JPD	.70	725.00	507.50

Case 15-02741-TOM11



PAGE 92 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/28/15	Call client regarding tax claim (.10) and email tax counsel regarding appeal (.10)	B240	JPD	.20	725.00	145.00
07/28/15	Call from outside counsel regarding committee formation and representation	B110	JPD	.30	725.00	217.50
07/28/15	Calls from vendor counsel regarding credit issues	В210	JPD	.20	725.00	145.00
07/28/15	Review workers comp research (.20) and prepare stay modification motion (.60)	в140	JPD	.80	725.00	580.00
07/28/15	Prepare disclosure statement	B320	JPD	.90	725.00	652.50
07/28/15	Revise list of omnibus hearing dates and deadlines and important case deadlines	B110	KAK	1.60	235.00	376.00
07/28/15	Review and cross reference Judge A.Verin's orders granting Jim Walter Resources, Inc.'s efiled notices of bankruptcy and suggestion of stay in remaining Bessemer Division cases	B910	СКМ	.20	230.00	46.00
07/28/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	7.70	240.00	1,848.00
07/28/15	Conference with J.Bender on filing Alabama Department of Revenue appeal from final assessment and automatic stay (.10) research assessment and stay issues regarding appeal (.30) follow-up emails to counsel (.10)	B240	CRG	.50	530.00	265.00



PAGE 93 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	E-mails to and from K.Gillikin, Alabama Department of Revenue counsel, on rescheduling depositions for pending income tax appeal	B240	CRG	.20	530.00	106.00
07/29/15	Telephone conference with C.Kirkland, Tuscaloosa Industrial Development Authority, on bankruptcy filing and pending Blue Creek project tax abatements	В240	CRG	.50	530.00	265.00
07/29/15	Telephone conference with M.Hurley on appeal options for final assessment from the Alabama Department of Revenue	B240	CRG	.60	530.00	318.00
07/29/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	7.30	240.00	1,752.00
07/29/15	Add omnibus hearing dates and deadlines to summary of case deadlines and obligations	B110	KAK	1.20	235.00	282.00
07/29/15	Review union comments to 1114 committee order (.10); investigate (.20) and respond (.10); discuss with co-counsel and revise order (.10)	B220	JPD	.50	725.00	362.50
07/29/15	Review home warranty litigation and stay relief demand (.20) and analyze (.10)	B140	JPD	.30	725.00	217.50
07/29/15	Respond to creditor inquiries regarding committee solicitation and selection	в110	JPD	.20	725.00	145.00



> PAGE 94 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	Call from K.Cornish regarding cash collateral dispute (.10); review background regarding same (.20); conference call with client and advisors to discuss strategy (.70); follow-up discussion with counsel (.20)	в330	JPD	1.20	725.00	870.00
07/29/15	Review emergency motion by Black Warrior Trust (.30); review supporting law (.20) and discuss trial prep (.20)	В120	JPD	.70	725.00	507.50
07/29/15	Conference with lenders counsel regarding budget, come out and related issues (.20); research related procedures (.10)	B330	JPD	.20	725.00	145.00
07/29/15	Review updated union proposals (.20) and discuss with advisors (.10)	B250	JPD	.30	725.00	217.50
07/29/15	Review UMWA/USW comments to 1114 committee order (.20) and respond (.10)	в220	JPD	.30	725.00	217.50
07/29/15	Review draft APA and comment	B130	JPD	.60	725.00	435.00
07/29/15	Review lender comments to plan and work on revisions to plan and disclosure statement	В320	JPD	.70	725.00	507.50
07/29/15	Respond to email from J.Mesterharm regarding budget issue	в330	JPD	.10	725.00	72.50
07/29/15	Respond to creditor inquiry regarding lease	B280	JPD	.10	725.00	72.50

Case 15-02741-TOM11



> PAGE 95 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	Review Comerica's proposed amendment to cash management order and compare to draft of order circulated last week (.3) ; confer with J.Vogtle regarding same (.1)	B110	JRB	.40	610.00	244.00
07/29/15	Review FINRA letter and forward to litigation counsel	B110	JRB	.10	610.00	61.00
07/29/15	Confer with D.Hartzog regarding Dominion contract (.50); e-mail and phone call with M.Mataya regarding Dominion background facts (.60); review Dominion emergency motion to reconsider (.50); e-mail to client regarding Dominion emergency motion to reconsider and requesting pertinent information (.40); call with T.Hancock, counsel for Dominion, regarding motion (.2); research and analyze defenses (.40)	B120	JRB	2.60	610.00	1,586.00
07/29/15	Review latest draft of disclosure statement	в320	JRB	.60	610.00	366.00
07/29/15	Respond to creditor inquiries about case and critical vendor questions	B280	JRB	.40	610.00	244.00
07/29/15	Research regarding possible motion to lift stay in worker comp cases	в140	JDWA	.40	480.00	192.00
07/29/15	E-mails with C.Grissom, J.Long regarding AL DOR depositions	B240	JDWA	.20	480.00	96.00
07/29/15	Research regarding characterization of royalty interests and review case law and documents regarding same	в120	CAJB	1.60	535.00	856.00

### Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 114 of 166



> PAGE 96 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	E-mails with J.Ezelle, C.Tobler, D.Gallo regarding securities settlement motion (.30); review draft of motion (1.0) and comment (.20)	B910	JDWA	1.50	480.00	720.00
07/29/15	Review and analyze Black Warrior Trust Documents and Emergency Motion to Reconsider (1.6); research issues relating to Black Warrior Trust (6.2); draft memorandum summarizing Black Warrior Trust documents and Alabama case law (1.3)	B120	DH	9.10	325.00	2,957.50
07/29/15	Revisions to proposed 1114 committee order and emails with opposing counsel and bankruptcy administrator regarding same	B220	JB	.70	375.00	262.50
07/29/15	Emails with R.Cotten regarding right of way agreements (.10); review agreements (.30)	В120	SME	.40	310.00	124.00
07/29/15	Emails with J.Watkins and J.Bailey regarding motions to lift stay in Jim Walter Homes cases	B140	SME	.20	310.00	62.00
07/29/15	Discussion with G.Hensley regarding stay relief related to workers' compensation matters	в140	JW	.30	330.00	99.00
07/29/15	Prepare opposition to stay relief motions to continue litigation	B140	JW	.30	330.00	99.00
07/29/15	Research scope of the automatic stay regarding tax proceedings	в240	JW	2.10	330.00	693.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 115 of 166



PAGE 97 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	E-mails with G.Hensley regarding updated notice information for non-debtor entities and co-owners	B110	ΜŢ	.10	330.00	33.00
07/29/15	Research cases regarding property interests under coal mining lease	в120	ZC	1.20	205.00	246.00
07/29/15	Review comments to rule 2015.3 letter (.10) and revise (.10)	в110	ССМО	.20	495.00	99.00
07/29/15	Reviewed order setting expedited hearing on Dominion motion (.10), email client and counsel (.10); discuss with client (.20)	B910	ССМО	.40	495.00	198.00
07/29/15	Reviewed transcript of 7/28 hearing	в910	ССМО	.20	495.00	99.00
07/29/15	Call with ACE insurance counsel regarding stay relief motion (.20); research ACE objection (.30) and discuss with client (.10)	B140	ССМО	.60	495.00	297.00
07/29/15	Emails to and from M.Plangman at KPMG regarding KPMG employment application and status of employment application filings	B160	ССМО	.20	495.00	99.00
07/29/15	Emails with client and counsel regarding correspondence from plaintiff's attorney's intention to seek relief from stay to allow litigation to proceed	B140	ССМО	.20	495.00	99.00
07/29/15	Received and reviewed letter from FINRA regarding bankruptcy issues	В310	ССМО	.20	495.00	99.00



PAGE 98 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	Reviewed motion to amend or alter by Comerica and expedited hearing motion regarding same	в110	ССМО	.20	495.00	99.00
07/29/15	Reviewed motion to modify stay to extent necessary to allow payment under D&O policies	В140	ССМО	.20	495.00	99.00
07/29/15	Prepare 2015.3 notice letters and contact information for same	в110	JB	.40	375.00	150.00
07/29/15	Revisions to proposed notice of NOL order for service on equity holders and arrange for service of same	В110	JB	.80	375.00	300.00
07/29/15	Review of motions to amend cash collateral order and motions to expedite hearings on same	В910	JB	.40	375.00	150.00
07/29/15	Research status of personal property leases	B120	JB	.30	375.00	112.50
07/29/15	Review of motions for stay relief for payments from D&O policies	в140	JB	.30	375.00	112.50
07/29/15	Reviewed motion to reconsider cash management order and motion for expedited hearing filed by Dominion (1.2); conference with counsel regarding response (.30); telephone calls with C.Callies regarding hearing date on Dominion motion (.20)	В910	ССМО	1.70	495.00	841.50



> PAGE 99 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/29/15	Reviewed Dominion trust prospectus (.40); research regarding section 541(b)(4)(B)(i) and application to Dominion analysis (.50)	B120	ССМО	.90	495.00	445.50
07/29/15	Draft notice of appeal regarding Alabama Department of Revenue final assessments against Walter Energy, Blue Creek Coal Sales and Jim Walter Resources for 2007 through 2009	B240	JEL	3.80	430.00	1,634.00
07/29/15	Review and analyze Alabama Department of Revenue notices of final assessment and workpapers against Walter Energy, Blue Creek Coal Sales and Jim Walter Resources for 2007 through 2009	B240	JEL	1.10	430.00	473.00
07/30/15	Conference with C.Grissom regarding arguments for draft notice of appeal of Alabama Department of Revenue final assessments against Walter Energy, Blue Creek Coal Sales and Jim Walter Resources for 2007 through 2009	B240	JEL	.20	430.00	86.00
07/30/15	Research regarding procedural history of Alabama corporate income tax refund appeal pending before the Alabama Tax Tribunal (.20); discuss research and background with J.Watkins in preparation of motion for relief from stay (.40)	B240	JEL	.60	430.00	258.00
07/30/15	Call with C.Tobler and J.Bender regarding Dominion Black Warrior Trust (.70); call with Dominion attorney regarding his motion (.30); call with Burr Forman & Akin Gump regarding Dominion motion and strategies for	В910	ССМО	2.50	495.00	1,237.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 118 of 166



> PAGE 100 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	approaching same (.60); call with C.Tobler, M.Mataya, J.Bender and P.Darby regarding strategies for approaching Dominion matter (.70); call with Burr Forman regarding issues raised by Dominion motion to amend cash management order (.20)					
07/30/15	Legal research regarding treatment of mineral leases under Alabama law (1.6); emails with C.Tobler regarding case law relevant to Dominion issues (.10); legal research regarding section 541(b)(4)(B) of the Bankruptcy Code (1.4)	B120	ССМО	3.10	495.00	1,534.50
07/30/15	Reviewed ordinary course professionals motion and phone call with Joe Mazzotti regarding ordinary course professionals	в160	ССМО	.30	495.00	148.50
07/30/15	Emails with M.Hall, C.Carson, and J.Bender regarding joinder party to Dominion's motion (.20); reviewed Ramsay McCormack Oil, Gas, and Coal Gas Agreement (.30); emails with Mike Hall and Chris Carson regarding Ramsay McCormack (.10); review joinders (.20)	B910	ССМО	.80	495.00	396.00
07/30/15	Review notice of unsecured creditors committee and emails regarding same	в110	JB	.20	375.00	75.00
07/30/15	Emails to client regarding Comerica motion to amend cash management order	в110	JB	.10	375.00	37.50
07/30/15	Respond to Clerk of Court inquiry regarding stay relief motions	в140	JB	.20	375.00	75.00



PAGE 101 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Emails and conference with BA regarding proposed 1114 committee order (.20); review order (.10)	в110	JB	.30	375.00	112.50
07/30/15	Conference with J.Barlow regarding proper contacts for notices under rule 2015.3	в110	JB	.20	375.00	75.00
07/30/15	Updating hearing calendar and other lists of deadlines and RSA compliance	в320	JB	.20	375.00	75.00
07/30/15	Review confirmation of notice of commencement publication and emails regarding same	в110	JB	.20	375.00	75.00
07/30/15	Emails with KCC regarding service of 1114 order and questionnaire (.20) and work on redaction issues for former employees (.40)	в110	JB	.60	375.00	225.00
07/30/15	Review proposed utility adequate assurance demand (.20) and discuss with client (.20)	B210	JB	.40	375.00	150.00
07/30/15	Work with client to compile insurance list for B.A.	в110	JB	.30	375.00	112.50
07/30/15	Draft, revise, finalize, and arrange for execution and service of rule 2015.3 letters (2.20); emails with B.Harvey and E.Doppelt regarding rule 2015.3 notices (.20)	B110	JB	2.40	375.00	900.00
07/30/15	Research cases regarding coal mining lease as a property interest	B110	ZC	3.60	205.00	738.00



PAGE 102 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Draft agenda for August 3, 2015 hearing	в110	JW	.30	330.00	99.00
07/30/15	Analyze counter arguments for modification of the automatic stay regarding state tax matters	B120	JW	.20	330.00	66.00
07/30/15	Conference with V.Henley regarding status of WBWB contract review (.10); phone call with V.Henley regarding status of WBWB lease review (.10); phone call with M.Mataya regarding WBWB leases for Ramsey McCormack (.20); review leases and related documents and analyze nature of interests under state law (.80)	B120	SME	1.20	310.00	372.00
07/30/15	Research background of stayed JWH cases (.20); prepare for hearing (.40); phone call and emails with R.Crabb regarding same (.20)	в910	SME	.80	310.00	248.00
07/30/15	Draft then edit memorandum summarizing Black Warrior Trust documents and Alabama case law (1.8); research documents and issues relating to Black Warrior Trust (6.4); meet with co-counsel to discuss Black Warrior Trust documents, issues and trial preparation (.50)	в120	DH	8.70	325.00	2,827.50
07/30/15	Analyze stay relief procedures (.40); research regarding modification of the automatic stay for tax appeals (1.7); e-mails (.20) and conference (.40) with J.Long regarding modification of the automatic stay; draft motion to modify the automatic stay regarding state tax matters (2.1)	В140	JW	4.80	330.00	1,584.00



PAGE 103 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Respond to inquiry on issue in tax dispute with State of Alabama	B240	JKM	.10	575.00	57.50
07/30/15	Review creditor's draft of 363 sale asset purchase agreement	в130	JKM	.70	575.00	402.50
07/30/15	Review NW Holding opinion regarding 1113 rejection of CBA (.60); discuss with litigation team (.20)	B250	JDWA	.80	480.00	384.00
07/30/15	Meeting and follow up discussion with client regarding strike contingency planning and mine security	B250	JDWA	3.70	480.00	1,776.00
07/30/15	Review union proposal and scheduling regarding 1113 motion	в250	JDWA	.40	480.00	192.00
07/30/15	Prepare employment application disclosure items	B160	JDWA	.30	480.00	144.00
07/30/15	Review unsecured creditor committee motion and related union issues	в110	JDWA	.40	480.00	192.00
07/30/15	Review documents relating to Dominion agreements with Walter Black Warrior Basin (2.2); review Dominion motion to modify cash management motion (.7); meet with associates regarding research relating to Dominion motion and related oil and gas lease issues (.7); review research regarding oil and gas lease and related royalty interest issues (1.7); conference call with co-counsel regarding emergency motion to modify cash management motion and related royalty issues (.7); call with	B910	JRB	9.10	610.00	5,551.00



> PAGE 104 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	T.Hancock, Dominion's counsel regarding motion (.3); call with M.Hall regarding Dominion issue and joinder of Ramsey-McFarland lessor (.2); conference call with attorneys from Burr Forman and Akin Gump regarding issues concerning royalty interest claims and Dominion motion (.6); conference call with M.Mataya and co-counsel regarding preparations and strategy for Monday emergency hearing on Dominion motion and joinders in same (.7); review new joinder filed by Frontier (.2); phone call with T.Hancock regarding joinders (.2); review correspondence from Dominion's local counsel regarding Monday's emergency hearing (.1); analyze strategy with respect to royalty issues (.6); review demand letter from Dominion and circulate same to parties (.2)					
07/30/15	E-mails with client regarding Rule 2015.3 letters (.1); finalize and send 2015.3 letters to notice parties (.2)	В110	JRB	.20	610.00	122.00
07/30/15	Work on review of draft asset purchase agreement (.30) and confer with J.Molen regarding same (.10)	B130	JRB	.40	610.00	244.00
07/30/15	Work on utility claim objections (.1); e-mail and phone call with Appalachian Power attorney regarding settlement proposal (.1)	B310	JRB	.20	610.00	122.00

Case 15-02741-TOM11

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 123 of 166



PAGE 105 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Phone call with Comerica counsel regarding proposed amendment to cash management order and follow up on same	в110	JRB	.20	610.00	122.00
07/30/15	Phone call with R.Kerley and Alix Partners regarding schedules and SOFAs	B110	JRB	.60	610.00	366.00
07/30/15	Respond to creditor inquiries regarding critical vendor motion	B280	JRB	.10	610.00	61.00
07/30/15	Review draft Asset Purchase Agreement from Akin Gump for permitting and environmental issues	B130	SJT	.60	630.00	378.00
07/30/15	Respond to clerk notice regarding fees issue	B110	JPD	.10	725.00	72.50
07/30/15	Review utility demands under 366 (.30) and prepare responses (.20)	B210	JPD	.50	725.00	362.50
07/30/15	Review Dominion documentation, motion and demands (.60); conference call with client and counsel regarding same (.70); review research on overriding royalties as estate property (.50); prepare for hearing (.30)	В910	JPD	2.10	725.00	1,522.50
07/30/15	Review issues raised by PBGC regarding pension termination and respond	B220	JPD	.20	725.00	145.00
07/30/15	Review budget and open issues and Blackstone analysis regarding adequate protection (.40); review underlying assumptions (.20) and email J.Mesterharm regarding same (.10); analyze settlement approaches (.20) and comment (.20)	B330	JPD	1.10	725.00	797.50



PAGE 106 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Review NP Holdings decision regarding good faith standard under 1113 and email comments	B250	JPD	.30	725.00	217.50
07/30/15	Attend public disclosure call on 1113 process and union/lender negotiations (.80); attend prep call with client (.30); follow-up discussion with counsel (.10)	B250	JPD	1.20	725.00	870.00
07/30/15	Review FINRA requirements regarding OTC regulations for confirmed plan	в320	JPD	.20	725.00	145.00
07/30/15	Call from S.Crawford regarding employee withholdings	B110	JPD	.10	725.00	72.50
07/30/15	Call from J.Wilson regarding discovery and trial issues regarding Dominion motion (.20); email client (.10)	В910	JPD	.30	725.00	217.50
07/30/15	Email co-counsel regarding tax appeal (.10) and prepare pleadings (.10)	B240	JPD	.20	725.00	145.00
07/30/15	Conference with financial advisors regarding committee formation and presentation to committee	В110	JPD	.20	725.00	145.00
07/30/15	Review proposed edits to RSA and discuss with client and team	в320	JPD	.40	725.00	290.00
07/30/15	Revise list of hearing dates (.90), revise summary of case deadlines and obligations (2.20), review notices of bankruptcy (.40)	B110	KAK	3.50	235.00	822.50



PAGE 107 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B910	VCW	10.20	240.00	2,448.00
07/30/15	Review Black Warrior Methane Corp. Operating Agreements and Amendments for limits of disclosures regarding confidential, financial information	B110	KAK	1.80	235.00	423.00
07/30/15	E-mails to and from P.Darby and C.Tobler on appeal of Ala. Dept. of Revenue assessments	B240	CRG	.20	530.00	106.00
07/30/15	Review and revise draft notice of appeal for pending Alabama income tax final assessment	B240	CRG	.80	530.00	424.00
07/30/15	Reviewed settlement offer from American Electric Power and emails with J.Bender and P.Tarry regarding same	B210	ССМО	.20	495.00	99.00
07/30/15	Reviewed verified statement filed by Steering Committee	B110	ССМО	.20	495.00	99.00
07/30/15	Reviewed notice of hearing on motion for order authorizing payments and relief from stay, to the extent applicable, to allow payment of defense costs and other loss for derivative actions under the D&O policies	B140	ССМО	.10	495.00	49.50
07/30/15	Emails with C.Tobler regarding KPMG retention application and status of professionals retention applications	B160	ССМО	.20	495.00	99.00



PAGE 108 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/30/15	Reviewed order authorizing formation of an 1114 committee (.10); emails with M.Griffin, P.Tarry and J.Bailey regarding service of 1114 questionnaires (.20)	B110	ССМО	.30	495.00	148.50
07/30/15	Reviewed exhibits for 8/3 hearing (Dominion) (.40); prepare Harvey for deposition regarding same (.20)	В910	ССМО	.60	495.00	297.00
07/30/15	Research regarding Southwest Bank as trustee of Dominion Resources Black Warrior Trust	в910	ССМО	.20	495.00	99.00
07/30/15	Prepare insurance schedule to be filed pursuant to operating order	В110	ССМО	.30	495.00	148.50
07/30/15	Research CBA issues under 1113	B250	CCMO	.90	495.00	445.50
07/30/15	Review motion to expedite hearing filed by Comerica and order granting motion (.20); email client (.10)	B110	ССМО	.30	495.00	148.50
07/30/15	Emails with D.Hartzog regarding Dominion research	в120	ССМО	.20	495.00	99.00
07/30/15	Reviewed letter from T.Hancock regarding to Dominion's motion to reconsider and attached gas purchase agreement (.20); research analysis (.30); review media analysis, disclosure and opinion letters (.40); prepare response (.20)	В910	ССМО	1.10	495.00	544.50



PAGE 109 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/31/15	E-mails to and from Alabama Department of Revenue counsel, K.Gillikin, on document request for depositions re: pending income tax assessment	в240	CRG	.30	530.00	159.00
07/31/15	Review WBWB leases to determine parties and notice provisions in preparation of Schedule G	B110	VCW	7.10	240.00	1,704.00
07/31/15	Update summary of case deadlines and obligations (.40), revise and electronically file agenda for hearing on August 3rd with court filing system (.30)	B110	KAK	.70	235.00	164.50
07/31/15	Review transcript regarding true sale opinions regarding leasehold trust	B120	KTW	.60	575.00	345.00
07/31/15	Conference call led by B.Harvey with company and other professionals regarding status report and action items	B210	JRB	.40	610.00	244.00
07/31/15	Review of requests to amend cash management order made by Comerica and confirm agreement with Comerica's counsel	B110	JRB	.30	610.00	183.00
07/31/15	Phone call with lenders' counsel and co-counsel regarding royalty interest issues and Dominion emergency motion (.8); continue review of Dominion and joinder parties' documents regarding emergency motion requesting segregation (.5); phone call with C.Tobler regarding strategy (.3); meet with client and T.Holt at company offices to prepare for Monday's emergency hearing and to discuss Dominion business arrangement	B910	JRB	5.30	610.00	3,233.00



> PAGE 110 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	(3.2); review correspondence from J.Wilson regarding Dominion emergency hearing and witness lists and stipulation requests (.3); work on preparations for MOnday hearing (.2)					
07/31/15	Call with J.Molen about black lung and related issues regarding APA	B130	JWH	.20	515.00	103.00
07/31/15	Review APA for labor issues (1.7) and develop labor issue list (.60)	B130	JWH	2.30	515.00	1,184.50
07/31/15	Review draft APA prepared by Akin regarding potential asset sale and analyze for comments	B130	SJT	1.80	630.00	1,134.00
07/31/15	Review creditors' draft of asset purchase agreement for 363 sale (1.2); conference with J.Hargrove regarding labor issues (.20)	B130	JKM	1.40	575.00	805.00
07/31/15	E-mail from C.Grissom regarding depositions in Alabama Income Tax refund matters	B240	JDWA	.10	480.00	48.00
07/31/15	Review legal research on Dominion Trust (.40); review documents and underlying facts and background (.90); meet with client to discuss evidence and strategy (3.20); discuss hearing prep and stipulations with opposing counsel (.30) and lender counsel (.40); review proposed stipulations (.60)	B910	JPD	5.80	725.00	4,205.00
07/31/15	Review NLRB notice and respond to J.Woodrum inquiry regarding same	в250	JPD	.10	725.00	72.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 129 of 166



PAGE 111 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/31/15	Call from potential bidder for gas leases	в130	JPD	.20	725.00	145.00
07/31/15	Review cash collateral issues (.10) and surety comments (.10) and respond (.10)	B330	JPD	.30	725.00	217.50
07/31/15	Review IRS tax dispute summary (.10); and reply regarding Alabama assessment (.10)	B240	JPD	.20	725.00	145.00
07/31/15	Review updated pleadings regarding committee formation and prep for hearing	B110	JPD	.10	725.00	72.50
07/31/15	Respond to lessor inquiry regarding equipment lease	B210	JPD	.10	725.00	72.50
07/31/15	Call from lessor regarding royalty treatment	B120	JPD	.20	725.00	145.00
07/31/15	E-mail from G.Hensley regarding bankruptcy procedures for contract claims (.10); analyze bankruptcy procedures for contract claims for G.Hensley and respond (.30)	В310	WU	.40	330.00	132.00
07/31/15	Draft motion for protective order and protective order in preparation for August 3 hearing on Dominion Black Warrior Trust overriding royalty interest	В910	SME	.90	310.00	279.00
07/31/15	Research and analyze cases for modification of the automatic stay regarding state tax matters	B140	JW	1.20	330.00	396.00
07/31/15	Draft and revise motion to modify the stay for state tax matters	B240	ΜŪ	2.40	330.00	792.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 130 of 166



PAGE 112 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/31/15	E-mails and call with G.Hensley regarding the scope of the automatic stay for third party litigation	В910	JW	.30	330.00	99.00
07/31/15	Research for G.Hensley regarding the scope of the automatic stay regarding third party litigation	В910	JW	.40	330.00	132.00
07/31/15	Research cases regarding coal mining lease as a property interest	в120	ZC	1.20	205.00	246.00
07/31/15	Amendments to hearing agenda and emails regarding same (.50); updates to hearing calendar and deadlines and emails regarding same (.20)	B110	JB	.70	375.00	262.50
07/31/15	Preparation for omnibus hearing on August 3 (.50); review proposed order resolving Comerica cash management motion and emails regarding same (.10)	B110	JB	.60	375.00	225.00
07/31/15	Research applicability of stay to third party subpoena	в910	JB	.20	375.00	75.00
07/31/15	Review filed proof of service of notice of commencement	B110	JB	.30	375.00	112.50
07/31/15	Review various Ala. Dept. of Rev. proofs of claim regarding tax appeal and stay	B240	JB	.30	375.00	112.50
07/31/15	Conference with counsel for certain sureties regarding interim and final surety bond order and emails regarding same	B210	JB	.30	375.00	112.50

Case 15-02741-TOM11

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 131 of 166



PAGE 113 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/31/15	Revisions to draft motion for stay relief to continue certain litigation	B140	JB	.40	375.00	150.00
07/31/15	Research regarding status of certain personal property leases with operation contacts and discuss with opposing counsel	B210	JB	.40	375.00	150.00
07/31/15	Advise client on treatment of warrant claims against Jim Walter Homes during case	в310	JB	.20	375.00	75.00
07/31/15	Reviewed emails between P.Tarry and B.Chopin regarding Conoco and Frontier Enterprises (.20); reviewed operating agreement regarding Conoco (.30); reviewed gas balancing agreement regarding Conoco (.30)	B260	ССМО	.80	495.00	396.00
07/31/15	Review witness and exhibit list filed by Dominion (.20); conference call with lender group regarding Dominion matter (.20); review documents (.90); forward to lender group with comments (.30)	B910	ССМО	1.60	495.00	792.00
07/31/15	Reviewed filings with Bureau of Land Management regarding royalty interests (.20); reviewed Alabama Department of Revenue ruling regarding tax issues relating to Dominion Resources Black Warrior Trust (.30); discuss with co-counsel (.30)	В910	ССМО	.80	495.00	396.00
07/31/15	Reviewed newly filed proofs of claim (.10); respond to calls from creditors and other parties in interest (.20)	B280	ССМО	.30	495.00	148.50



PAGE 114 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
07/31/15	Reviewed draft motion to modify the stay to permit state tax appeals to proceed (.20); emails with J.Watkins and P.Darby regarding modification of stay to allow state tax appeals to proceed (.10)	B140	ССМО	.30	495.00	148.50
07/31/15	Call with B.Driscoll regarding payment of retainer to ordinary course professional	В160	ССМО	.20	495.00	99.00
07/31/15	Correspondence with A.Schlesinger, and S.Zelin regarding offer to purchase real property	в130	ССМО	.20	495.00	99.00
07/31/15	Telephone call with C.Callies regarding Monday hearings	в110	ССМО	.20	495.00	99.00
07/31/15	Reviewed motion to add PBGC to the creditor's committee and prepare for expedited hearing regarding same	В110	ССМО	.30	495.00	148.50
07/31/15	Emails with P.Darby, C.Tobler, B.Harvey, E.Doppelt, M.Mataya and J.Bender regarding negotiations with Dominion and Monday hearing	B910	CCMO	.20	495.00	99.00
07/31/15	Emails with client M.Mataya regarding Ramsey McCormack lease and trust related to same	B260	ССМО	.20	495.00	99.00
07/31/15	Reviewed proposed agenda for Monday hearings	в110	ССМО	.10	495.00	49.50
07/31/15	Analyzed cases cited by Dominion in its motion (1.3); research authorities (.40); summarize for litigators (1.7)	в910	ССМО	3.40	495.00	1,683.00

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 133 of 166



PAGE 115 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/01/15	Review and revise protective order	в910	ССМО	.20	495.00	99.00
08/01/15	Analyze legal issues and arguments in response to Dominion's motion	В910	ССМО	1.60	495.00	792.00
08/01/15	Review revised UMWA proposal (.20) and comment (.10); discuss production issues (.10)	B250	JPD	.40	725.00	290.00
08/01/15	Review corporate governance issue and respond to client inquiry	B210	JPD	.20	725.00	145.00
08/01/15	Review lender due diligence materials (.30) and discuss disclosure questions with Blackstone (.10)	в320	JPD	.40	725.00	290.00
08/01/15	Review APA draft and analyze open issues	в130	JPD	.30	725.00	217.50
08/01/15	Review 328 research and analyze allowance of Investment Bankers fees	в160	JPD	.20	725.00	145.00
08/01/15	Review protective order and motion for Dominion Trust litigation (.10); discuss with client (.10)	В910	JPD	.20	725.00	145.00
08/01/15	Respond to email from workers comp counsel regarding stay relief	B140	JPD	.10	725.00	72.50
08/01/15	Review Dominion Trust background and formation documents and related documents (1.80); outline arguments (.30); review cases cited in motion (.60)	B910	JPD	2.70	725.00	1,957.50



> PAGE 116 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/01/15	Review creditors' initial draft of 363 asset purchase agreement (6.50); conferences (2) with J.Bender on 363 process as relate to asset purchase agreement (.20); conference with J.Hargrove on labor/employment provisions of asset purchase agreement (.50)	B130	JKM	7.10	575.00	4,082.50
08/01/15	E-mails from P.Darby, E.Doppelt, etc. regarding steering committee NDA	в110	JDWA	.20	480.00	96.00
08/01/15	Review asset purchase agreement draft and insert comments into draft and send to J.Molen	B130	SJT	2.20	630.00	1,386.00
08/01/15	Review Dominion documents and research regarding same (.8); develop strategy regarding same and prepare for Monday hearings (.6)	B910	JRB	1.40	610.00	854.00
08/01/15	Commence review and analysis of draft asset purchase agreement for 363 sale	в130	TMT	1.30	495.00	643.50
08/02/15	Further review and analysis of draft asset purchase agreement (.60); develop comment list (.30)	B130	TMT	.90	495.00	445.50
08/02/15	Preparations for tomorrow's hearing on Dominion motion to modify cash management order	В910	JRB	.90	610.00	549.00
08/02/15	Prepare for tomorrow's call regarding 363 sale process	в130	JRB	.20	610.00	122.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 135 of 166



PAGE 117 SEPTEMBER 21, 2015

OW1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/02/15	E-mails from and to E.Doppelt, J.Woodrum, A.Arffa regarding coal expert meeting	B250	JDWA	.30	480.00	144.00
08/02/15	Review creditor's initial draft of 363 asset purchase agreement	B130	JKM	3.60	575.00	2,070.00
08/02/15	Review cash management order regarding amendment under motions to reconsider	B110	JPD	.20	725.00	145.00
08/02/15	Review draft of protective order and motion and comment	в910	JPD	.20	725.00	145.00
08/02/15	Review case law (.20) and updated analysis (.20) and prep for Dominion Trust hearing (.30)	в910	JPD	.70	725.00	507.50
08/02/15	Review cases regarding nature of mineral interests, mineral leaseholds and royalties under Alabama law (1.2) and analyze treatment under sections 365 and 541 of the Bankruptcy Code (.40)	B120	JPD	1.60	725.00	1,160.00
08/02/15	Review and distinguish Dominion's cases and analyze legal arguments in opposition to Dominion's motion to reconsider	B910	ССМО	3.80	495.00	1,881.00
08/02/15	Memorandum to P.Darby and J.Bender summarizing arguments in opposition to Dominion's motion	В910	ССМО	.80	495.00	396.00
08/02/15	Review of Asset Purchase Agreement and provided summary of real estate provisions and revised same	B240	CJA	4.70	405.00	1,903.50



PAGE 118 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/02/15	Analyze the scope of the stay regarding state tax proceedings	B140	ΜŪ	1.40	330.00	462.00
08/02/15	Review motion for protective order (.10); email Jamie Wilson regarding same (.10)	B320	SME	.20	310.00	62.00
08/03/15	Calls with various recipients of notice commencement regarding bankruptcy cases	B110	JW	1.20	330.00	396.00
08/03/15	Call with G.Hensley regarding effect of bankruptcy on Jim Walter Homes litigation	B910	JW	.30	330.00	99.00
08/03/15	Conference with J.Bender, J.Watson, S.Merkle, and J.Bailey regarding Jim Walter Homes arbitration	B910	JW	1.10	330.00	363.00
08/03/15	Conference with J.Long regarding scope of stay in state tax appeals	B240	JW	.10	330.00	33.00
08/03/15	Research and analyze federal and state statutes regarding jurisdiction of tax courts	B240	JW	2.20	330.00	726.00
08/03/15	Draft summary of analysis on scope of the automatic stay regarding state tax appeals	B240	JW	.80	330.00	264.00
08/03/15	Draft memo regarding coal mining lease as a property interest	B110	ZC	3.30	205.00	676.50
08/03/15	Phone call with J.Watkins regarding JWH, LLC pending arbitrations (.10); review emails from G.Hensley and K.Culbreath regarding same (.10); phone call with J.Watkins regarding effect of judgment in Alabama Tax appeal cases (.10)	В910	SME	.30	310.00	93.00



> PAGE 119 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Prepare for and meet with J.Watson, J.Bender, J.Watkins, and J.Bailey regarding Jim Walter Homes arbitrations and mediations and potential motions to lift stay (1.20); conference with J.Watson regarding same (.10)	в910	SME	1.30	310.00	403.00
08/03/15	Conference with V.Henley regarding status of WBWB oil and gas lease review	B120	SME	.50	310.00	155.00
08/03/15	Emails with J.Bender, D.Black, and C.Moore regarding Dominion Black Warrior Trust leases and Frontier lease assignment (.10); phone call with J.Bender regarding same (.10); conference with V.Henley regarding exhibits for same (.50)	B910	SME	.70	310.00	217.00
08/03/15	Revisions to cash management order, emails regarding same, and prepare submit proposed cash management order for entry	B110	JB	.70	375.00	262.50
08/03/15	Prepare correspondence to counsel for certain workers' compensation claimants (.10); emails regarding compliance with cash management order (.10); emails regarding status of Bar Date Motion (.20); advise on service of 1114 committee solicitation and related matters (.30); arrange for service of amended cash management order (.10)	B110	JB	.80	375.00	300.00
08/03/15	Emails regarding compliance with Utilities Order	B210	JB	.10	375.00	37.50



PAGE 120 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Conference regarding pending litigation and strategy to resolve same	В910	JB	.60	375.00	225.00
08/03/15	Multiple phone calls with potential claimants regarding notice of commencement of case	B280	JB	1.40	375.00	525.00
08/03/15	Call regarding potential asset sales to interested equipment wholesaler	в130	JB	.20	375.00	75.00
08/03/15	Continue work on revisions to notice of appeal regarding 2007 through 2009 Alabama Department of Revenue final income tax assessments	B240	JEL	1.20	430.00	516.00
08/03/15	Research regarding applicability of automatic stay provision to appeals to Alabama Tax Tribunal	B240	JEL	.40	430.00	172.00
08/03/15	Conference with J.Watkins regarding applicability of automatic stay provision to appeals to Alabama Tax Tribunal	B240	JEL	.20	430.00	86.00
08/03/15	Telephone conference with C.Tobler, M.Hurley, J.Ramsey and C.Grissom regarding proof of claims filed by Alabama Department of Revenue and underlying assessments	B240	JEL	.60	430.00	258.00
08/03/15	Preparations for meeting with BA regarding operating order	в110	JB	.40	375.00	150.00



PAGE 121 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Prepare for hearing on Dominion motion (1.40); analyze Dominion strategy with P.Darby, J.Bender and D.Black (.40); appear at hearing (1.30)	В910	ССМО	3.10	495.00	1,534.50
08/03/15	Work regarding retention applications	B160	ССМО	.80	495.00	396.00
08/03/15	Analyze Frontier agreement regarding claims	B260	ССМО	.20	495.00	99.00
08/03/15	Review ACE revisions to workers' compensation stay relief order and emails with C.Heitzenrater regarding same	B140	ССМО	.30	495.00	148.50
08/03/15	Conference with litigation team to identify open Dominion issues	В910	ССМО	.60	495.00	297.00
08/03/15	Review joint operating agreement with Dominion Black Warrior Basin and emails with J.Bender, T.Holt and M.Mataya regarding the same	B260	ССМО	.60	495.00	297.00
08/03/15	Emails with C.Tobler and J.Bender regarding process motions	B110	ССМО	.20	495.00	99.00
08/03/15	Draft proposed order on Dominion's motion to reconsider cash management motion and emails with C.Tobler, J.Vogtle, C.Carson, and K.Manoukian regarding same	B110	ССМО	.30	495.00	148.50
08/03/15	Research overriding royalty interests, characteristics of same, and treatment of same in bankruptcy	B120	ССМО	1.40	495.00	693.00

Case 15-02741-TOM11



PAGE 122 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Meet with client to prepare testimony and argument for Dominion Trust hearing (1.20); review documents for hearing (.40); review proposed stipulation and proffer (.20); review case law regarding substance and procedural issues (.30); prepare argument for hearing (.60); attend hearing (1.30); meet with litigation team regarding discovery and trial prep (.80)	в910	JPD	4.80	725.00	3,480.00
08/03/15	Review proof of claim filed by ADR (.10) and discuss procedure with co-counsel (.10); email client regarding 10Q issues (.10)	B240	JPD	.30	725.00	217.50
08/03/15	Call from shareholder regarding case status	B210	JPD	.20	725.00	145.00
08/03/15	Respond to email from opposing counsel regarding critical vendor issue	B210	JPD	.10	725.00	72.50
08/03/15	Conference with client regarding open cash collateral and finance issues	в330	JPD	.20	725.00	145.00
08/03/15	Review list of open APA issues (.10); discuss open sale issues with client (.20)	в130	JPD	.30	725.00	217.50
08/03/15	Review insurers requested changes to workers comp stay relief motion (.10) and comment (.10)	B140	JPD	.20	725.00	145.00
08/03/15	Call from Dan B. King regarding workers comp claim and stay relief	в140	JPD	.20	725.00	145.00

### Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 141 of 166



> PAGE 123 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Conference with client and co-counsel regarding union presentation (.20); review revised presentation (.20); email J.Watson regarding litigation (.10); prepare for lender meeting (.10)	B250	JPD	.60	725.00	435.00
08/03/15	Call from prospective bidder regarding assets for sale	в130	JPD	.20	725.00	145.00
08/03/15	Call from utility regarding adequate assurances under 366	B210	JPD	.20	725.00	145.00
08/03/15	Review comments to 363 Asset Purchase Agreement from T.Thompson, J.Avery (.20); prepare for and telephone conference with Paul Weiss on 363 Asset Purchase Agreement issues (1.30); conference with S.Trant on 363 Asset Purchase Agreement issues (.40); prepare comments to initial draft of 363 Asset Purchase Agreement (3.70); conference with S.Trant on permit issues in Asset Purchase Agreement (.30); conference with K.Wyatt on asset issue in Asset Purchase Agreement (.20)	B130	JKM	6.10	575.00	3,507.50
08/03/15	E-mails with P.Darby and J.Bender regarding disclosure issues	в110	JDWA	.10	480.00	48.00
08/03/15	Conference with S.Merkle regarding JWH arbitration issues	В910	JDWA	.10	480.00	48.00
08/03/15	Review e-mail from K.Culbreath regarding JWH issues and review arbitration	в910	JDWA	.40	480.00	192.00



> PAGE 124 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Meeting with co-counsel regarding JWH litigation issues (1.0); call to G.Hensley regarding JWH, and call with Texas attorney (.30)	В910	JDWA	1.30	480.00	624.00
08/03/15	Review amended union proposal from J.Woodrum	B250	JDWA	.50	480.00	240.00
08/03/15	Conference with J.Molen regarding issues list for asset purchase agreement and issues addressed on call with Paul Weiss regarding same (0.20); review key issues list for asset purchase agreement draft (0.50); telephone conference with J.Molen regarding comments to APA (0.20)	B130	SJT	.90	630.00	567.00
08/03/15	Conference call with client regarding upcoming security meetings	B250	JWH	.20	515.00	103.00
08/03/15	Conference call regarding labor issues in 363 sale agreement	B130	JWH	.50	515.00	257.50
08/03/15	Complete review of draft asset purchase agreement (.80); compile comment list and draft e-mail memo to J.Molen regarding same (.40); review draft issues list from Paul Weiss team (.10)	B130	TMT	1.30	495.00	643.50
08/03/15	Conference with P.Darby, J.Bender, and C.Moore to discuss issue related to Dominion Trust litigation	В910	DCB	.80	580.00	464.00
08/03/15	Review coal reserves issues regarding APA	в130	KTW	.20	575.00	115.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 143 of 166



PAGE 125 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Review operating order and prepare for tomorrow's meeting with the bankruptcy administrator	В110	JRB	.40	610.00	244.00
08/03/15	E-mails with Comerica counsel regarding cash management order amendment (.2)	B110	JRB	.20	610.00	122.00
08/03/15	Review materials related to asset purchase agreement draft (.4); call with Paul Weiss and J.Molen regarding asset purchase agreement (.7)	B130	JRB	1.10	610.00	671.00
08/03/15	Revise draft protective order for use at this morning's hearing on Dominion motion (.30); assist with preparations for hearing (.50); attend hearing (1.30); meet after hearing to discuss bankruptcy strategy with respect to Dominion and parties joining in Dominion motion (.80)	В910	JRB	2.90	610.00	1,769.00
08/03/15	Analyze issues concerning utilities' responses to 366 motion and confer with P.Tarry at AlixPartners regarding same	B210	JRB	.70	610.00	427.00
08/03/15	Analyze issues concerning mineral leases and treatment in bankruptcy (.9); correspondence with parties regarding WBWB contracts and history of same (.3)	B260	JRB	1.20	610.00	732.00
08/03/15	Analyze issues concerning self-insured workers comp program and excess coverage	B120	JRB	.20	610.00	122.00
08/03/15	Review inquiries from mineral lease parties and confer with client and co-counsel regarding same	B260	JRB	.60	610.00	366.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 144 of 166



PAGE 126 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/03/15	Analyze outstanding litigation, arbitration, and mediation proceedings and effect of stay on same	в910	JRB	1.20	610.00	732.00
08/03/15	Review proofs of claim filed by the Alabama Department of Revenue and organize for tax counsel	B240	KAK	.40	235.00	94.00
08/03/15	Review and finalize WBWB leases to determine parties and notice provisions in preparation of Schedule G	В110	VCW	8.70	240.00	2,088.00
08/03/15	E-mails to and from M.Hurley on Alabama Department of Revenue appeal matters and revisions to Notice of Appeal for same	B240	CRG	.40	530.00	212.00
08/03/15	Telephone conference with C.Tobler, J.Long, M.Hurley and J.Ramsey to discuss venue issues for pending Alabama Department of Revenue assessment	B240	CRG	.60	530.00	318.00
08/03/15	Review revised draft Notice of Appeal for Alabama Department of Revenue assessment	B240	CRG	.30	530.00	159.00
08/04/15	E-mails to and from J.Garrett, Alabama Department of Revenue, on potential adjustments to recently issued final assessments	B240	CRG	.30	530.00	159.00
08/04/15	E-mails to and from J.Long on draft Petition for Review for recently issued preliminary assessment	в110	CRG	.20	530.00	106.00



PAGE 127 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	E-mails to and from Alabama Department of Revenue counsel on rescheduling depositions for M.Hurley and J.Ramsey	B240	CRG	.30	530.00	159.00
08/04/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	3.10	240.00	744.00
08/04/15	Update summary of case deadlines and obligations to include motions recently set for hearing	B110	KAK	.60	235.00	141.00
08/04/15	Review work in progress list and discussions with J.Bender and J.Bailey regarding same	B110	ССМО	.20	495.00	99.00
08/04/15	Emails with K.Manoukian regarding cash collateral order	в330	ССМО	.20	495.00	99.00
08/04/15	Prepare Dominion order (.20); emails with P.Darby, J.Bender, L.Benton and T.Hancock regarding same (.20); revise (.10); and submitted same to the Court (.10)	B910	ССМО	.60	495.00	297.00
08/04/15	Analyze issues concerning Dominion's claimed royalty interests and develop strategy regarding same (1.1); analyze issues concerning mineral leases and gas leases (.4)	B260	JRB	1.50	610.00	915.00
08/04/15	Analyze issues concerning tax appeal and confer with co-counsel regarding same	B240	JRB	.20	610.00	122.00
08/04/15	Confer with client regarding presentation to lenders	в330	JRB	.40	610.00	244.00

# Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 146 of 166



PAGE 128 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Confer with AlixPartners regarding scheduling of liabilities on SOFAs and Schedules	в110	JRB	.20	610.00	122.00
08/04/15	Review documents and correspondence regarding dismissal of federal district court lawsuit and referral of same to bankruptcy court	B910	JRB	.20	610.00	122.00
08/04/15	Review various documents, along with legal research, concerning issue related to Dominion Trust litigation and prepare for trial	B910	DCB	3.80	580.00	2,204.00
08/04/15	Review draft issues list and corresponding provisions of asset purchase agreement (.8); conference with J.Molen regarding same (.3); draft inserts for revisions for issues list (.8); e-mail conference with J.Molen and S.Trant regarding same (.1); revise inserts (.2); further conference with J.Molen regarding revised issues list (.2)	B130	TMT	2.40	495.00	1,188.00
08/04/15	Prepare for and participate in client intake meeting with B.Gaines, B.Chopin and AlixPartners (1.0); follow up with AlixPartners after meeting regarding action items (.2); status and strategy call with other debtor professionals (1.0)	B110	JRB	2.20	610.00	1,342.00



> PAGE 129 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	(.50) Review draft comments to issues list and draft additional comments and email exchange with T.Thompson regarding same; (.30) review edited issues list regarding proposed Asset Purchase Agreement and provide comments	B130	SJT	.80	630.00	504.00
08/04/15	E-mails with G.Hensley, R.Crabb regarding Texas litigation	В910	JDWA	.30	480.00	144.00
08/04/15	Conference call with Texas attorneys regarding nonsuit of counterclaims, etc. in Texas JWH litigation	В910	JDWA	.50	480.00	240.00
08/04/15	Comprehensive review Alpha first day declarations regarding union and 1114 - 1113 issues	B250	JDWA	6.20	480.00	2,976.00
08/04/15	Discussion with A.Arffa regarding Alpha and evidentiary issues	B250	JDWA	.80	480.00	384.00
08/04/15	Review referral to bankruptcy court of employment matter	в910	JDWA	.10	480.00	48.00
08/04/15	Review draft issues list on Asset Purchase Agreement (.70); conferences (2) with T.Thompson on issues list (.50); revised draft issues list with BABC comments and circulate to Paul Weiss (.70); conference with K.Love on jurisdictions in which certain operations are conducted (.10);prepare BABC initial comments to draft 363 Asset Purchase Agreement and circulate to Paul Weiss (5.60)	B130	JKM	7.60	575.00	4,370.00



PAGE 130 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Work on finalizing and entry of order on Dominion Trust motion (.10); review comments of opposing counsel (.10) and review referenced documents regarding interests (.30)	в910	JPD	.50	725.00	362.50
08/04/15	Attend negotiating session with lender steering committee	B330	JPD	1.80	725.00	1,305.00
08/04/15	Respond to email from lessor counsel regarding working interest	в120	JPD	.20	725.00	145.00
08/04/15	Review revised UMWA presentation (.20) and discuss with counsel (.20)	B250	JPD	.40	725.00	290.00
08/04/15	Study allocation of gas sale proceeds among lessors, debtor and Dominion Trust	в120	JPD	.20	725.00	145.00
08/04/15	Call from investor regarding potential asset sales	в130	JPD	.20	725.00	145.00
08/04/15	Call from T.Hancock regarding Dominion Trust	В910	JPD	.20	725.00	145.00
08/04/15	Review termination claim issues regarding MEPP and PBGC	в220	JPD	.30	725.00	217.50
08/04/15	Review Alpha filings regarding position on 1113 issues	B250	JPD	.30	725.00	217.50
08/04/15	Conference with utility counsel regarding adequate assurance and 366 motion	B210	JPD	.10	725.00	72.50
08/04/15	Review open committee issues and discuss with counsel	в110	JPD	.20	725.00	145.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 149 of 166



PAGE 131 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Review retention and fee issues and discuss with lender counsel (.10) and professionals (.10)	B160	JPD	.20	725.00	145.00
08/04/15	Emails with J.Bailey regarding reclamation demands and review demands	B110	ССМО	.20	495.00	99.00
08/04/15	Research characterization of oil and gas interests in Alabama	B120	ССМО	2.10	495.00	1,039.50
08/04/15	Review samples of Company's oil and gas leases regarding nature of mineral rights	B260	ССМО	.30	495.00	148.50
08/04/15	Emails with J.Vogtle, J.Bender, and P.Darby regarding Frontier and operating agreement	B260	ССМО	.30	495.00	148.50
08/04/15	Call and emails with M.Mataya regarding Southern Alloy (.30); reviewed correspondence between Company and Southern Alloy (.10); and drafted letter to counsel proposing resolution of issues (.40)	B210	ССМО	.80	495.00	396.00
08/04/15	Review order on motion to appoint creditors' committee, review updated committee list, and email with J.Bailey regarding same	B110	ССМО	.20	495.00	99.00
08/04/15	Emails with J.Bender and J.Bailey regarding draft plan supplements	B320	ССМО	.20	495.00	99.00
08/04/15	Email with client regarding authorization for ex parte communication with BA's office	B110	ССМО	.10	495.00	49.50

Case 15-02741-TOM11



PAGE 132 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Prepare for and meet with D.Black and J.Bender regarding Dominion issues and case strategy	B910	ССМО	.80	495.00	396.00
08/04/15	Emails with KPMG regarding employment application	B160	ССМО	.20	495.00	99.00
08/04/15	Emails with A.Schlesinger regarding status of Blackstone employment application	В160	ССМО	.30	495.00	148.50
08/04/15	Draft KPMG employment application	B160	ССМО	.80	495.00	396.00
08/04/15	Emails from steering committee counsel and Dominion counsel regarding proposed order on Dominion motion	В910	ССМО	.20	495.00	99.00
08/04/15	Advise on deadlines and strategy related to potential tax appeals (.20); advise on scheduling and noticing home warranty claimants	B240	JB	.20	375.00	75.00
08/04/15	E-mails to and from C.Grissom regarding petition for review in response to Alabama Department of Revenue 2010 preliminary assessment against Walter Energy & subsidiaries	B240	JEL	.20	430.00	86.00
08/04/15	Attend case operating meeting with BA (.60); review order appointing additional UCC members (.10); advise on amendments to service procedures related to appointment of UCC (.10); conference with co-counsel regarding status of pleadings, schedule for filing and hearing certain motions, and status of drafts of same (.90); review various	B110	JB	2.10	375.00	787.50



> PAGE 133 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	notices of appearance (.20); emails regarding authorization for debtor ex parte communication with BA office (.20)					
08/04/15	Review order on Dominion Resources motion to amend cash management order and arrange for service and updating calendar regarding same	B910	JB	.10	375.00	37.50
08/04/15	Advise on plan solicitation and balloting issues	в320	JB	.20	375.00	75.00
08/04/15	Advise on impact of stayed case being referred to bankruptcy court	В910	JB	.10	375.00	37.50
08/04/15	Review proposed form of 1114 questionnaire for service and emails regarding same	B220	JB	.30	375.00	112.50
08/04/15	Initial review of various proofs of claim (.30); advise on deadlines and strategy related to potential tax appeals (.20); correspondence with opposing counsel regarding wage claims (.10); review redemption demands and emails regarding same (.20)	В310	JB	.80	375.00	300.00
08/04/15	Conference with J.Watkins regarding authority of Alabama Tax Tribunal and Alabama Department of Revenue collection procedures	B240	JEL	.20	430.00	86.00
08/04/15	Draft memo regarding coal mining lease as a property interest	в120	ZC	1.40	205.00	287.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 152 of 166



PAGE 134 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Email to J.Watkins regarding conference call with K.Culbreath (.10); participate in conference call with K.Culbreath and J.Watson regarding status of Hector Gonzales arbitrations in Texas (.50)	В910	SME	.60	310.00	186.00
08/04/15	Emails with V.Henley regarding delivery of WBWB oil and gas lease review to M.Mataya (.10); emails with M.Mataya, P.Tarry, and J.Bailey regarding WBWB lease review for schedule listing (.50)	B110	SME	.60	310.00	186.00
08/04/15	Email to J.Bender regarding sample WBWB mineral leases and surface leases (.10)	В910	SME	.10	310.00	31.00
08/04/15	Draft and revise summary of analysis on scope of the automatic stay regarding state tax appeals	B240	JW	.40	330.00	132.00
08/04/15	Research and analyze time limitations under the Bankruptcy Code and cases addressing those provisions	в110	JW	3.10	330.00	1,023.00
08/04/15	Draft summary of analysis on time limitations under the Bankruptcy Code and cases addressing those provisions	в110	JW	1.80	330.00	594.00
08/04/15	Conference call with G.Hensley, R.Crabb, J.Watson, S.Merkle, and local counsel in Jim Walter Homes litigation	в910	JW	.50	330.00	165.00
08/04/15	Work on claims procedures with G.Hensley and P.Tarry	в310	JW	.60	330.00	198.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 153 of 166



PAGE 135 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/04/15	Conference with G.Hensley regarding strategy in post-petition litigation and referral of district court matters	в910	JW	.30	330.00	99.00
08/05/15	Call with G.Hensley regarding litigation procedures	B910	JW	.60	330.00	198.00
08/05/15	Review and analyze e-mails from local litigation counsel regarding procedures for two lawsuits	В910	JW	.40	330.00	132.00
08/05/15	E-mail and call with G.Hensley regarding procedures for employee payment	B210	JW	.20	330.00	66.00
08/05/15	Call with P.Tarry regarding claims and scheduling procedures (.30); follow up emails with P.Tarry regarding claims and scheduling procedures (.10)	B110	ΜŪ	.40	330.00	132.00
08/05/15	Research regarding tolling of appeals under the Bankruptcy Code	B910	JW	.30	330.00	99.00
08/05/15	Email to P.Tarry, N.Kramer, P.Darby, J.Bender and J.Watson regarding completion of contract review and preparation of Schedule G (.20); finalize contract review (1.0)	B110	SME	1.20	310.00	372.00
08/05/15	Research West Virginia Coal Lease Law	в120	ZC	1.20	205.00	246.00
08/05/15	Research regarding executoriness of contracts for rejection	B260	JT	3.20	205.00	656.00
08/05/15	Respond to inquiries regarding certain equipment leases and emails with company regarding status of same	B210	JB	.30	375.00	112.50

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 154 of 166



PAGE 136 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/05/15	Follow up e-mail with B.Gaines of BA office regarding debtor contacts	в110	JB	.10	375.00	37.50
08/05/15	Prepare for (.20) and attend conference to advise on necessity of potential procedural motions (.80); review claims (.10)	B110	JB	1.10	375.00	412.50
08/05/15	Advise on contacts at BWWB for purposes of utilities cutoff threats	B210	JB	.10	375.00	37.50
08/05/15	Advise on proposed revisions to bar date motion and emails regarding same	в310	JB	.30	375.00	112.50
08/05/15	Emails with M.Mataya and J.Bender regarding Birmingham Water Works disconnect notices and call to BWWB regarding same	B210	ССМО	.20	495.00	99.00
08/05/15	Work regarding bar date motion and emails with C.Tobler and J.Bailey regarding same	в110	ССМО	.30	495.00	148.50
08/05/15	Emails with Duane Morris regarding workers' compensation stay relief motion	в140	ССМО	.20	495.00	99.00
08/05/15	Review agenda and participate in call regarding process motions	в110	ССМО	.80	495.00	396.00
08/05/15	Email with A.Young regarding amendment to RSA and review same	в320	ССМО	.20	495.00	99.00
08/05/15	Read and analyze cases cited by Dominion, extensive analysis of cases addressing treatment of oil and gas royalty as real or personal property interest, read cases and commentary	B120	ССМО	4.70	495.00	2,326.50

interest, read cases and commentary

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 155 of 166



> PAGE 137 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	regarding implications of ownership versus non-ownership theories of oil and gas ownership (3.60); emails with M.Mataya and J.Bender regarding oil and gas leases in West Virginia (.20); conference with J.Alix (.20) and compile fact background (.70)					
08/05/15	Review Steering Committee comments to Plan and preliminary comments to Lenders' comments	в320	ССМО	.60	495.00	297.00
08/05/15	Negotiations with Southern Alloy and emails with M.Mataya regarding same	B210	ССМО	.30	495.00	148.50
08/05/15	Email from J.Molen regarding APA and reviewed draft and issues list	B130	ССМО	.30	495.00	148.50
08/05/15	Call from T.Hancock regarding Dominion Trust trial and potential settlement	В910	JPD	.60	725.00	435.00
08/05/15	Meet with trial team to analyze Dominion Trust trial issues and discovery	В910	JPD	1.40	725.00	1,015.00
08/05/15	Conference with M.Hall regarding multiple issues concerning lender negotiations	B330	JPD	.30	725.00	217.50
08/05/15	Respond to lessor regarding equipment claim and retrieval	B210	JPD	.10	725.00	72.50
08/05/15	Review reclamation demands (.10); review law on process and waiver (.20)	B310	JPD	.30	725.00	217.50
08/05/15	Review and comment on outline of board presentation	B210	JPD	.20	725.00	145.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 156 of 166



PAGE 138 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/05/15	Prepare plan and disclosure statement	в320	JPD	1.20	725.00	870.00
08/05/15	Review tax appeal research (.10) and email co-counsel regarding perfecting appeal (.10)	B240	JPD	.20	725.00	145.00
08/05/15	Telephone conferences with S.Trant, T.Thompson on 363 asset purchase agreement issues (.20); various emails on asset purchase agreement issues list (.10); telephone conference with E.Jacobs on 363 asset purchase agreement issues (.10)	B130	JKM	.40	575.00	230.00
08/05/15	Review open APA issues list	в130	SJT	.10	630.00	63.00
08/05/15	Meet with J.Aldrich, M.Hall, and D.Garzca at training center about strike contingency plans (4.0); separate meeting with D.Garzca, S.Castleberry, C.Farrell and others about strike contingency plans (1.50) (travel time not billed)	B250	JWH	5.50	515.00	2,832.50
08/05/15	E-mails with S.Merkle, P.Tarry regarding Schedule G issues	в110	JDWA	.20	480.00	96.00
08/05/15	Review issues list as sent to client (.2); review purchase agreement comments (1.1)	B130	TMT	1.30	495.00	643.50
08/05/15	Review legal research and factual background to prepare for Dominion trial	в910	DCB	1.30	580.00	754.00

Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 157 of 166

Case 15-02741-TOM11



PAGE 139 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/05/15	Analyze issues concerning tax appeal and timing of filing (.2); confer with Paul Weiss regarding same (.2)	B240	JRB	.40	610.00	244.00
08/05/15	Analyze possible administrative motions to file in case and confer with co-counsel regarding same	В110	JRB	.80	610.00	488.00
08/05/15	Confer with client regarding trade creditors and utility issues (.3); confer with counsel for Alabama Power regarding 366 motion and follow up e-mails to same (.5)	B210	JRB	.80	610.00	488.00
08/05/15	Review and comment upon latest revision of draft plan	в320	JRB	.70	610.00	427.00
08/05/15	Confer with client regarding insurance claim and phone call to insurer regarding same	в120	JRB	.20	610.00	122.00
08/05/15	Call with co-counsel and advisors regarding analysis of oil and gas leases for assumption and rejection purposes and in connection with pending motions filing by royalty owners (1.0); follow up analysis of same (.2); phone call with T.Holt at Maynard Cooper regarding analysis of related oil and gas agreements (.2); continue review and oil and gas lease documents (.3)	B260	JRB	1.70	610.00	1,037.00
08/05/15	Analyze issues concerning warranty claims of certain debtors and noticing and scheduling of same	В110	JRB	.40	610.00	244.00



PAGE 140 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/05/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	В110	VCW	1.70	240.00	408.00
08/05/15	E-mails to and from Walter Energy tax team on scheduling Alabama Department of Revenue depositions	B240	CRG	.10	530.00	53.00
08/05/15	E-mails to and from J.Ramsey regarding Tuscaloosa County Industrial Development Authority inquiries on Blue Creek Abatements	B210	CRG	.30	530.00	159.00
08/05/15	E-mails to and from Walter Energy team on timing of filing Alabama Tax Tribunal Appeal	B240	CRG	.30	530.00	159.00
08/06/15	E-mails to and from Walter team on procedural and jurisdictional issues regarding filing Notice of Appeal with the Alabama Tax Tribunal	B240	CRG	.20	530.00	106.00
08/06/15	Review and revise and finalize Notice of Appeal	B240	CRG	.20	530.00	106.00
08/06/15	Conference with S.Merkle contract review follow up for Schedule G	B110	VCW	.20	240.00	48.00
08/06/15	Review and comments on latest draft of chapter 11 plan (1.9); circulate same to internal working group for additional comment (.2)	B320	JRB	2.10	610.00	1,281.00

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 159 of 166



> PAGE 141 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	Review WBWB operating agreement regarding wells and e-mail from T.Holt regarding same (.3); e-mails with R.Morgan regarding coal lease (.1); review correspondence from client and co-counsel regarding operating agreement analysis (.3)	B260	JRB	.70	610.00	427.00
08/06/15	Review Dominion discovery request (.2); confer with client and with D.Black regarding request and response to same (.5); correspondence with client and co-counsel regarding deposition notice and document production (.4)	В910	JRB	1.10	610.00	671.00
08/06/15	Respond to creditor inquiry about critical vendor treatment	В210	JRB	.20	610.00	122.00
08/06/15	Confer with AlixPartners regarding SOFAs and schedules	в110	JRB	.30	610.00	183.00
08/06/15	Review interrogatories, requests for production and deposition notice for W.Harvey (.20); conferences and email exchanges with J.Bender, P.Darby and company counsel regarding same (.40); review motion to shorten time filed in connection with same (.10); review research related to various issues concerning Dominion Trust litigation (.40)	В910	DCB	1.10	580.00	638.00
08/06/15	Work on inspection paper issues and training materials in follow up to meeting with safety personnel	B250	JWH	1.10	515.00	566.50



PAGE 142 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	E-mails with D.Grucza, J.Hargrove, J.Alrich regarding security/strike planning issues	B250	JDWA	.50	480.00	240.00
08/06/15	Conference on issues list for 363 asset purchase agreement	B130	JKM	.30	575.00	172.50
08/06/15	Prepare plan and disclosure statement	в320	JPD	.70	725.00	507.50
08/06/15	Call T.Corbett regarding retention and fee application issues	в160	JPD	.20	725.00	145.00
08/06/15	Review open issues list on APA and analyze 363 questions	B130	JPD	.30	725.00	217.50
08/06/15	Work on UCC formation and disclosure issues (.40) timeline and hearing prep (.30) and discuss with counsel (.40)	B110	JPD	1.10	725.00	797.50
08/06/15	Review comments to insurance stay relief order	в140	JPD	.10	725.00	72.50
08/06/15	Respond to inquiries from vendors and service providers	B210	JPD	.30	725.00	217.50
08/06/15	Work on surety negotiations (.20) and finalization of cash collateral order and surety comments (.20)	в330	JPD	.40	725.00	290.00
08/06/15	Respond to inquiries from potential bidders	в130	JPD	.20	725.00	145.00
08/06/15	Review tax assessment issues (.10); conference call with co-counsel and Akin regarding ADR appeal (.50)	B240	JPD	.60	725.00	435.00



PAGE 143 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	Review tolling research on claims litigation and appeal	В910	JPD	.10	725.00	72.50
08/06/15	Revise board presentation (.20); email client and co-counsel regarding same (.20)	B210	JPD	.40	725.00	290.00
08/06/15	Review Dominion Trust discovery (.20) and motion (.10) and discuss with client and co-counsel (.20) and opposing counsel (.10)	B910	JPD	.60	725.00	435.00
08/06/15	Review Frontier documents and timeline and emails with J.Bender and T.Holt regarding same	В120	ССМО	.40	495.00	198.00
08/06/15	Emails with J.Bender and M.Mataya regarding Wesley West Minerals inquiry	B260	ССМО	.20	495.00	99.00
08/06/15	Prepare discovery and production (Dominion Trust)	В910	ССМО	.70	495.00	346.50
08/06/15	Emails with C.Heitzenrater and C.Tobler regarding workers' compensation stay relief order	в140	ССМО	.30	495.00	148.50
08/06/15	Work regarding interim compensation procedures and emails with C.Tobler, P.Tarry and P.Darby regarding same	В160	ССМО	.60	495.00	297.00
08/06/15	Review Dominion motion to shorten time (.20); phone call with Chris Callies regarding same (.10); email litigators regarding same (.10)	в910	ССМО	.40	495.00	198.00



PAGE 144 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	Review 8/3 hearing transcript in connection with preparation of response to Dominion motion	В910	ССМО	.80	495.00	396.00
08/06/15	Research regarding prudent operator standard under ORRI agreement	B910	ССМО	.40	495.00	198.00
08/06/15	Review executed RSA amendment and revised timeline	B320	ССМО	.20	495.00	99.00
08/06/15	Analysis of case law and commentary on oil and gas leases and treatment of overriding royalty interests	в120	ССМО	3.20	495.00	1,584.00
08/06/15	Work on draft analysis of oil and gas interests under Alabama law, characterization of overriding royalty interests, and rejection of oil and gas leases under section 365	B260	ССМО	2.40	495.00	1,188.00
08/06/15	Emails with M.Mataya regarding Birmingham Water Works disconnect notices	B210	ССМО	.20	495.00	99.00
08/06/15	Review Walter 10-Q filing	в210	ССМО	.20	495.00	99.00
08/06/15	Research regarding Conoco claim	в310	ССМО	.20	495.00	99.00
08/06/15	Emails with opposing counsel regarding surety bond order	B210	JB	.20	375.00	75.00
08/06/15	Review docket, update calendar and deadlines memos, and emails regarding same	в110	JB	.70	375.00	262.50

Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 163 of 166



PAGE 145 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	Telephone conference with Akin Gump, counsel for secured lender, regarding Alabama Department of Revenue proof of claim and underlying final and preliminary assessments	в240	JEL	.60	430.00	258.00
08/06/15	E-mail D.Raybon, Alabama Tax Tribunal, copy of notice of appeal regarding 2007 through 2009 final assessments	B240	JEL	.10	430.00	43.00
08/06/15	E-mail C.Scholber regarding petition for review and 2010 Alabama Department of Revenue preliminary assessment against Walter Energy and subs	B240	JEL	.20	430.00	86.00
08/06/15	Telephone conference with J.Ramsey regarding 2010 petition for review in response to Alabama Department of Revenue assessment	B240	JEL	.30	430.00	129.00
08/06/15	Draft petition for review in response to 2010 Alabama Department of Revenue preliminary assessment against Walter Energy and subs	B240	JEL	1.30	430.00	559.00
08/06/15	Review and analyze proposed adjustments in 2010 Alabama Department of Revenue preliminary assessment against Walter Energy and subs	B240	JEL	1.10	430.00	473.00
08/06/15	Draft memorandum on executoriness (5.10) and update research (2.30)	в110	JT	7.40	205.00	1,517.00
08/06/15	Research West Virginia Coal Lease Law	в120	ZC	2.10	205.00	430.50



PAGE 146 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/06/15	Phone call will M.Mataya regarding contract review follow up for Schedule G (.20); discuss same with V.Henley (.20)	B110	SME	.40	310.00	124.00
08/06/15	E-mails with G.Hensley and M.Parris regarding notices of bankruptcy	В910	JW	.10	330.00	33.00
08/07/15	Research and analysis regarding cash collateral order and objections	в330	JW	3.20	330.00	1,056.00
08/07/15	Review summary of contracts provided by N.Kramer for preparation of Schedule G (.30); discuss same with V.Henley (.20); conference call with N.Kramer regarding same (.30) and prepare schedules (.90)	B320	SME	1.70	310.00	527.00
08/07/15	Draft general protective order for use in adversary proceedings	В910	SME	.80	310.00	248.00
08/07/15	Conference and email with counsel for workers comp claimant regarding status of case	В310	JB	.20	375.00	75.00
08/07/15	Review various proofs of claim filed on docket (.30); conference regarding revisions to bar date motion (.20); review docket and update case calendars regarding same (.60); emails with BA office regarding contacts at debtors for purposes of inquiries (.10); emails with KCC regarding additional claimants for schedules (.20)	В310	JB	1.40	375.00	525.00
08/07/15	Review proposed trade vendor contract and advise client on amendments to same	в210	JB	.20	375.00	75.00

## Case 15-02741-TOM11 Doc 769 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Main Document Page 165 of 166



PAGE 147 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/07/15	Respond to calls and emails regarding purported critical vendors and payments	B280	JB	.30	375.00	112.50
08/07/15	Research defenses in Dominion AP	в910	JB	1.60	375.00	600.00
08/07/15	Conference with purported Jim Walter Home claimant regarding notice of commencement of case	B280	JB	.20	375.00	75.00
08/07/15	Emails with J.Bender, P.Tarry, C.Tobler and N.Kramer regarding Conoco claims and recoupment	В310	ССМО	.20	495.00	99.00
08/07/15	Work regarding interim compensation procedures motion and correspondence with T.Corbett and B.Gaines regarding same	B160	ССМО	.40	495.00	198.00
08/07/15	Analyze mineral interests for inclusion on schedules	в120	ССМО	.30	495.00	148.50
08/07/15	Review KPMG engagement letter and employment application (.40); email M.Plangman regarding same (.20)	В160	ССМО	.60	495.00	297.00
08/07/15	Multiple emails with J.Fallon and A.Schlesinger regarding Blackstone employment application	B160	ССМО	.30	495.00	148.50
08/07/15	Emails with C.Heitzenrater, W.Simkulak and C.Tobler regarding negotiations with ACE for language in the workers' compensation stay relief order	B140	ССМО	.30	495.00	148.50



PAGE 148 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/07/15	Review and revise Carroll Engineering trade agreement (.50) and emails with M.Mataya regarding same (.20)	B210	ССМО	.70	495.00	346.50
08/07/15	Emails with J.Wilson and S.Merkle regarding Dominion's motion to shorten time and protective order	в910	ССМО	.20	495.00	99.00
08/07/15	Emails with J.Molen and P.Darby regarding 363 sale and bidding procedures	B130	ССМО	.20	495.00	99.00
08/07/15	Multiple phone calls and emails with D.Sparks regarding UCC's motion to continue, hearings on same, and governing objection deadlines	в330	ССМО	.30	495.00	148.50
08/07/15	Multiple emails with B.Bensinger, L.Marinuzzi, P.Darby, K.Cornish and M.Hall regarding cash collateral objection deadline and review case management and interim cash collateral order regarding same	B330	ССМО	.60	495.00	297.00
08/07/15	Emails with J.Lamar regarding retention application	B160	ССМО	.20	495.00	99.00
08/07/15	Revise cash collateral order regarding sureties' comments to surety order	B330	ССМО	.20	495.00	99.00
08/07/15	Receive and review UMWA objection to RSA Assumption and cash collateral order (.60); research responses to objection (.80)	в330	ССМО	1.40	495.00	693.00



PAGE 149 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/07/15	Continue research regarding classification of mineral interests under Alabama law and work on draft analysis	B120	ССМО	1.30	495.00	643.50
08/07/15	Multiple phone calls to chambers regarding hearing dates in event hearing on cash collateral is continued and multiple emails with P.Darby, C.Tobler and K.Cornish regarding same	B110	ССМО	.60	495.00	297.00
08/07/15	Respond to creditor inquiry regarding Debtors' authorization under Bankruptcy Code and applicable court orders to continue making postpetition payments to creditor (.30) and email with M.Mataya regarding same (.10)	B280	ССМО	.40	495.00	198.00
08/07/15	Phone call with Dan Sparks regarding Cowin issue	B210	ССМО	.20	495.00	99.00
08/07/15	Attend management meeting to discuss operating issues and board meeting	B210	JPD	.40	725.00	290.00
08/07/15	Work on continuance and scheduling regarding UCC formation and appearance and discuss with multiple counsel	B110	JPD	1.30	725.00	942.50
08/07/15	Conference call with debtor professionals regarding status and strategy	B110	JPD	.30	725.00	217.50
08/07/15	Review reference of litigation and email co-counsel regarding disposition	в910	JPD	.10	725.00	72.50



PAGE 150 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/07/15	Call from potential investors regarding asset sales (3 separate calls) (.60); email Blackstone regarding same (.20)	B130	JPD	.80	725.00	580.00
08/07/15	Call from D.Boyle at federal office of surface mining regarding West Virginia permits (.10); follow up email (.10)	B210	JPD	.20	725.00	145.00
08/07/15	Review draft bidding procedures (.20); comment on draft bidding procedures (.10); prepare proposed order (.20)	B130	JPD	.50	725.00	362.50
08/07/15	Work on litigation issues around Dominion Trust motion and review proposed orders and discovery	B910	JPD	.60	725.00	435.00
08/07/15	Conference with corporate counsel regarding state conveyance issues	в130	JPD	.20	725.00	145.00
08/07/15	Review interim comp procedures and comment on proposed motion	B160	JPD	.30	725.00	217.50
08/07/15	Review issues list including W.Virginia issues regarding APA in 363 process	в130	SJT	.30	630.00	189.00
08/07/15	Analyze stay issue regarding pending discrimination claim and respond regarding response	B140	JPD	.20	725.00	145.00
08/07/15	Work on retention issues and discuss with professionals	B160	JPD	.20	725.00	145.00
08/07/15	Prepare for and telephone conference with Paul Weiss on 363 asset purchase agreement issues and process (1.5); conferences with T.Thompson on issues and follow-up items from call on asset	B130	JKM	2.60	575.00	1,495.00



PAGE 151 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	purchase agreement (.90); emails on West Virginia mining permit issues (.20)					
08/07/15	Review cases about strikes and strike violence and the affect of automatic stay and client materials regarding security issues	B250	JWH	1.20	515.00	618.00
08/07/15	Review new case regarding picketing/automatic stay issues	B250	JDWA	.40	480.00	192.00
08/07/15	E-mail to J.Woodrum regarding UMWA meeting	B250	JDWA	.10	480.00	48.00
08/07/15	Work regarding Powell v. Walter referral to bankruptcy	B910	JDWA	.30	480.00	144.00
08/07/15	E-mails with J.Molen, P.Darby regarding 363 sale	B130	JDWA	.10	480.00	48.00
08/07/15	Telephone conference with S.Merkle and attention to protective order for general use in contested matters (.20); emails from client regarding responses to written discovery (.10)	B910	DCB	.30	580.00	174.00
08/07/15	Telephone conference with J.Molen and attorneys with Paul Weiss regarding mark-up of 363 sale agreement (1.0); conference with J.Molen regarding same (.2); work on revisions to 363 sale agreement (.4)	B130	TMT	1.60	495.00	792.00
08/07/15	E-mails with client representatives about critical vendor and insurance claim issues	B280	JRB	.20	610.00	122.00



PAGE 152 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/07/15	E-mails with insurance broker regarding reimbursement issues	В210	JRB	.20	610.00	122.00
08/07/15	Confer with AlixPartners regarding issues concerning scheduling of assets and liabilities on schedules and SOFAs	В110	JRB	.30	610.00	183.00
08/07/15	Review case regarding unions and forward same to co-counsel	в250	JRB	.10	610.00	61.00
08/07/15	Confer with D.Black and M.Mataya regarding WBWB business issues	B210	JRB	.10	610.00	61.00
08/07/15	E-mails with Appalachian counsel regarding adequate assurance proposal (.1); review correspondence from Alabama Power counsel regarding adequate assurance and forward same to AlixPartners (.2)	B210	JRB	.30	610.00	183.00
08/07/15	E-mails with co-counsel regarding sale process and asset purchase agreement	B130	JRB	.30	610.00	183.00
08/07/15	Conference call with N.Kramer regarding additional contract information needed for Schedule G (.90); conference with S.Merkle regarding same (.20)	B110	VCW	1.10	240.00	264.00
08/07/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	в110	VCW	2.20	240.00	528.00
08/07/15	Revise case summary list and list of hearing deadlines	B110	KAK	1.30	235.00	305.50



PAGE 153 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/08/15	Review and analyze information regarding schedules and SOFAs	B110	JRB	.40	610.00	244.00
08/08/15	E-mail from J.Woodrum regarding UMWA meeting and prepare for meeting	B250	JDWA	.20	480.00	96.00
08/08/15	Review motion to continue and proposed order (.20); review lender group comments (.10); and respond (.10)	в330	JPD	.40	725.00	290.00
08/08/15	Email exchange with K.Cornish and S.Shimshak regarding payment of interest under cash collateral order (.10); review terms of order (.40); review regarding procedural issues (.10); draft analysis (.30)	B330	JPD	.90	725.00	652.50
08/08/15	Prepare chapter 11 plan	в320	JPD	1.20	725.00	870.00
08/08/15	Prepare BABC fee application	B160	JPD	1.10	725.00	797.50
08/08/15	Review UMWA objection to RSA (.30); analyze response for cash collateral hearing (.30)	в330	JPD	.60	725.00	435.00
08/08/15	Review UMWA objection to RSA (.20) analyze effect on 1113 process and sale (.20); email comments to J.Woodrum (.10)	B250	JPD	.50	725.00	362.50
08/08/15	Prepare SOFA and schedules	B110	ССМО	.30	495.00	148.50
08/08/15	Work on legal analysis of mineral interests in Alabama	в120	ССМО	1.80	495.00	891.00



PAGE 154 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/08/15	Multiple emails with B.Bensinger, M.Hall and P.Darby regarding UCC's motion to continue hearings and motion to expedite (.20); review cash collateral order termination provisions regarding same (.40)	B330	ССМО	.60	495.00	297.00
08/08/15	Research and analysis regarding cash collateral order and objections	B330	JW	1.20	330.00	396.00
08/09/15	Research and analysis regarding objections to cash collateral order	в330	JW	4.70	330.00	1,551.00
08/09/15	Draft summary of research on cash collateral order	в330	JW	.60	330.00	198.00
08/09/15	Draft legal analysis of characterization of oil and gas interests in Alabama, including minerals in the ground, leases, and interests carved out of leases	B120	ССМО	5.20	495.00	2,574.00
08/09/15	Review revised bar date motion and emails with A.Young, P.Tarry, and J.Bailey regarding same	B110	ССМО	.30	495.00	148.50
08/09/15	Prepare fee application	B160	JPD	.60	725.00	435.00
08/09/15	Prepare chapter 11 plan	B320	JPD	.80	725.00	580.00
08/10/15	Prepare chapter 11 plan (.30); discuss comments with counsel (.40)	в320	JPD	.70	725.00	507.50
08/10/15	Review revised order on UCC motion to continue and comment	в330	JPD	.20	725.00	145.00



PAGE 155 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Review critical vendor and possessory lien authorization and analyze caps (.20); discuss with Alix and co-counsel (.20); prepare for hearing (.20)	B120	JPD	.60	725.00	435.00
08/10/15	Conference call with UCC counsel regarding "second day" hearing matters on August 18, 2015 (.20); review pending motions and orders regarding timing and UCC position (.20); discuss with co-counsel (.10)	B110	JPD	.50	725.00	362.50
08/10/15	Call from counsel for Peace River Coal regarding disclosures (.20); review Rule 2015.3 regarding non-debtor subsidiary disclosures and analyze confidentiality issues (.30); discuss with Peace River Coal counsel (.10); review and email disclosure (.20)	B120	JPD	.80	725.00	580.00
08/10/15	Prepare for (.20); and attend (1.0) board of directors call	B210	JPD	1.20	725.00	870.00
08/10/15	Review financial investor information regarding Canada and forward to Blackstone (.10); call from separate investor (.10); review and forward information to Blackstone (.10)	B130	JPD	.30	725.00	217.50
08/10/15	Research and analyze property interests under coal and gas leases	B120	JPD	.70	725.00	507.50
08/10/15	Conference with K.Cornish regarding financing issues and strategy	в330	JPD	.20	725.00	145.00



PAGE 156 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Research fee examiners (.30); discuss with T.Corbett (.20)	B160	JPD	.50	725.00	362.50
08/10/15	Call from class action plaintiff regarding bankruptcy notice	В910	JPD	.10	725.00	72.50
08/10/15	Review terms of utility settlement and prepare documentation	B210	JPD	.20	725.00	145.00
08/10/15	Review research on ORRI (.40); outline response to Dominion motion (.30); work on production (.10)	В910	JPD	.80	725.00	580.00
08/10/15	Review issue of transferring permits in W. Virginia (.30); review APA and sections 7.11 and 7.12 for commenting and review issues to APA (2.0); call with D.Grucza and Mitchell Mataya with J.Molen regarding W.Virginia and Alabama permits and transfer issue regarding 363 Sale (.30); follow-up regarding call with J.Molen (.20)	B130	SJT	2.80	630.00	1,764.00
08/10/15	E-mails with M.Ayers, E.Doppelt regarding call from Alabama Securities Commission	B210	JDWA	.50	480.00	240.00
08/10/15	E-mail from K.Culbreath regarding Jim Walter Homes lawsuits in Texas	в910	JDWA	.20	480.00	96.00
08/10/15	Conference with S.Trant on 363 asset purchase agreement draft (.10); prepare for and telephone conference with D.Gruzca and M.Mataya on West Virginia mining permit issues (.70); conference with S.Trant on follow up actions on West Virginia permit issues (.20)	B130	JKM	1.00	575.00	575.00



PAGE 157 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Conference with J.Bender on corporate	в910	JKM	.20	575.00	115.00
	law matter related to litigation					
08/10/15	Review materials and correspondence regarding schedules and SOFAs (.70); conference call with AlixPartners and co-counsel regarding scheduling of certain claims (.60); review draft global notes to schedules (.30)	B110	JRB	1.60	610.00	976.00
08/10/15	Propose additional comments to draft chapter 11 plan and circulate comments to working group (.9); discuss same with Paul Weiss counsel (.2)	B320	JRB	1.10	610.00	671.00
08/10/15	Prepare for and participate in call with ACE Insurance representatives regarding refund issues (.5); report to client regarding same (.2)	B120	JRB	.70	610.00	427.00
08/10/15	Call with R.Morgan and other counsel for coal lease counterparty regarding royalty questions (.5); e-mails with client and co-counsel regarding same (.2); follow up correspondence with R.Morgan regarding objection deadlines to first-day motions (.2)	B260	JRB	.90	610.00	549.00
08/10/15	Analyze issues concerning pre-petition claim relating to arbitration (.1); call with D.Grucza regarding FRA claim (.3); e-mail to D.Grucza regarding effect of stay of FRA claims (.2)	B310	JRB	.60	610.00	366.00



PAGE 158 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Review reclamation demand from trade creditor	В310	JRB	.10	610.00	61.00
08/10/15	Prepare for and call with R.Johnson regarding Appalachian Power adequate assurance proposal (.2); work on utilities order issues regarding same (.4)	B210	JRB	.60	610.00	366.00
08/10/15	Review and comment upon proposed scheduled order regarding cash collateral motion (.2); review correspondence regarding same (.4)	B330	JRB	.60	610.00	366.00
08/10/15	Review correspondence regarding non-debtor affiliate Cardem and analyze disclosure questions regarding same	В110	JRB	.20	610.00	122.00
08/10/15	Review memorandum regarding Dominion contract issues and respond to same (.7); develop strategy to defend Dominion pleadings (.3)	B910	JRB	1.00	610.00	610.00
08/10/15	Revise draft asset purchase agreement (1.9); telephone conference with J.Molen, S.Trant and Walter Energy representatives regarding West Virginia mines (.4)	B130	TMT	2.30	495.00	1,138.50
08/10/15	Review transcript of 8/3 hearing and begin outlining arguments for opposition to Dominion motion to reconsider (1.30); conference with client on discovery and work on production (.60)	B910	DCB	1.90	580.00	1,102.00



PAGE 159 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	в110	VCW	4.70	240.00	1,128.00
08/10/15	Conference with J.Long on final petition for review for new preliminary assessment	B240	CRG	.20	530.00	106.00
08/10/15	E-mails to and from M.Hurley on documents to produce for depositions regarding Alabama Department of Revenue final assessment and pending appeal	В240	CRG	.10	530.00	53.00
08/10/15	Telephone conference with J.Garrett, Alabama Department of Revenue, on recently entered preliminary assessment by Alabama Department of Revenue and potential options for resolving same	в240	CRG	.30	530.00	159.00
08/10/15	Conference with Walter Energy team call regarding next steps with pending Department of Revenue Appeal	B240	CRG	.20	530.00	106.00
08/10/15	Multiple emails with P.Tarry, J.Mazzotti, T.Rohrer, and P.Darby regarding payments to critical vendors and possessory lien claimants and update analysis for "second day" hearing	B210	ССМО	.60	495.00	297.00
08/10/15	Analysis of legal characterization of overriding royalty interests	B120	ССМО	.80	495.00	396.00
08/10/15	Revise workers' compensation stay relief order to reflect language requested by ACE.	B140	ССМО	.20	495.00	99.00



PAGE 160 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Research (1.40) and draft (3.20) legal analysis of treatment of oil and gas interests under Alabama law	B120	ССМО	4.60	495.00	2,277.00
08/10/15	Review draft protective order sent by J.Wilson and comment regarding same	B910	ССМО	.30	495.00	148.50
08/10/15	Phone call with Carroll Engineering attorney regarding trade agreement terms and emails with M.Mataya regarding same	B210	ССМО	.30	495.00	148.50
08/10/15	Phone call with J.Mayfield and Birmingham Water Works regarding utilities order and related issues and emails with M.Mataya regarding same	B210	ССМО	.30	495.00	148.50
08/10/15	Draft response to Dominion's motion to reconsider cash management order	В910	ССМО	.60	495.00	297.00
08/10/15	Review reclamation notices and develop procedures for handling same	в310	ССМО	.20	495.00	99.00
08/10/15	Review revisions to plan and email comments regarding same	в320	ССМО	.40	495.00	198.00
08/10/15	Review current versions of proposed orders for matters set on 8/18 and email with J.Bailey regarding same	B110	ССМО	.20	495.00	99.00
08/10/15	Email from L.Marinuzzi regarding UCC's motion to continue hearings	в330	ССМО	.10	495.00	49.50
08/10/15	Multiple emails and phone calls with M.Mataya and West Virginia utility provider threatening termination of services regarding utilities order and prohibition against service termination	B210	ССМО	.50	495.00	247.50



PAGE 161 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Emails with J.Lamar regarding employment retention issues	в160	ССМО	.20	495.00	99.00
08/10/15	Work regarding KPMG employment application and emails with K.Manoukian and M.Plangman regarding same	В160	ССМО	.40	495.00	198.00
08/10/15	Review local authority regarding objections to cash collateral order and RSA and revise brief	в330	ССМО	.80	495.00	396.00
08/10/15	Conference with counsel for Cowin regarding contract performance	B260	JB	.20	375.00	75.00
08/10/15	Advise on Rule 2015.3 disclosure requirements and emails regarding same (.20); revisions to bar date motion and emails regarding same (.40); review order setting hearing and emails regarding same (.20); finalize and circulate proposed orders to counsel for UCC and emails regarding same (.80)	B110	JB	1.60	375.00	600.00
08/10/15	Continue work on petition for review regarding 2010 Alabama Department of Revenue preliminary assessment against Walter Energy	B240	JEL	.60	430.00	258.00
08/10/15	E-mail C.Banks and K.Gillikin, Alabama Department of Revenue, regarding 2010 Alabama Department of Revenue preliminary assessment against Walter Energy	B240	JEL	.10	430.00	43.00



PAGE 162 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/10/15	Conference with C.Grissom regarding strategy for hearing with Alabama Department of Revenue for 2010 preliminary assessment against Walter Energy	в240	JEL	.20	430.00	86.00
08/10/15	Emails with Office of Surface Mining Reclamation and Enforcement regarding case status and bar date	B210	JB	.20	375.00	75.00
08/10/15	Conference call with N.Kramer, M.Mataya, and B.Schneid regarding contract information needed for Schedule G (.50); prepare for same (.10); discuss same with V.Henley (.20);	B110	SME	.80	310.00	248.00
08/10/15	Research and analysis regarding cash collateral order (.80); draft and revise summary of research on cash collateral order (.90)	в330	JW	1.70	330.00	561.00
08/10/15	Revise motion for stay relief for state tax appeals	B140	JW	.40	330.00	132.00
08/10/15	Call with G.Hensley regarding settlement authority in litigation (.40); analyze authorization from first day orders (.40)	в910	JW	.80	330.00	264.00
08/10/15	Research West Virginia case law for mineral rights	B120	ZC	.80	205.00	164.00
08/11/15	Research West Virginia case law for mineral rights	B110	ZC	.60	205.00	123.00



PAGE 163 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Review motions and objections for hearing on August 13, 2015 and prepare trial notebook	B110	JW	.70	330.00	231.00
08/11/15	Draft and revise agenda for August 13, 2015 hearing	B110	JW	.30	330.00	99.00
08/11/15	Revise motion for stay relief regarding state tax appeals	B140	JW	1.80	330.00	594.00
08/11/15	Phone call with V.Henley regarding expiration dates on term contracts (.20); read and review emails from V.Henley to M.Mataya regarding same (.10)	B260	SME	.30	310.00	93.00
08/11/15	Emails and call with J.Watson regarding e-discovery issues (.20); phone call with R.Girouard regarding Discovia services (.20); prepare e-discovery production (.30)	в910	SME	.70	310.00	217.00
08/11/15	Conference with J.Watkins regarding proof of claim by Alabama Department of Revenue against Walter Energy and status of appeals of underlying assessments	В240	JEL	.20	430.00	86.00
08/11/15	Conference and emails with surety counsel regarding status of proposed final orders and related matters	B210	JB	.30	375.00	112.50
08/11/15	Emails with UCC counsel regarding status of proposed final orders and motion to continue hearing on certain motions (.30); review joinder in UCC motion to continue hearing (.10); review proposed revisions to certain final orders and emails regarding same (.20); review and	B110	JB	.90	375.00	337.50



PAGE 164 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	advise on revisions to 2015.3 filing (.30)					
08/11/15	Phone call with party who received notice of commencement (.10); conference with counsel for certain claimants regarding status of critical vendor payments and emails regarding same (.30)	B280	JB	.40	375.00	150.00
08/11/15	Research and draft motion to approve disclosure statement and solicitation procedures	В320	JB	1.20	375.00	450.00
08/11/15	Multiple emails with Paul Weiss, Akin, and counsel for ACE regarding revisions to proposed order on motion for relief to allow workers' compensation claims to proceed	B140	ССМО	.40	495.00	198.00
08/11/15	Multiple emails with Akin and KPMG regarding KPMG retention application	в160	ССМО	.30	495.00	148.50
08/11/15	Emails with J.Wilson regarding protective order and discovery in Dominion matter	В910	ССМО	.40	495.00	198.00
08/11/15	Draft objection to Dominion's motion to reconsider cash management order	В910	ССМО	5.70	495.00	2,821.50
08/11/15	Multiple emails with J.Fallon, A.Schlesinger, M.Rudnick and P.Darby regarding Blackstone employment application	B160	ССМО	.40	495.00	198.00
08/11/15	Email from M. Rudnick regarding revised plan and review redline comments	в320	ССМО	.30	495.00	148.50



PAGE 165 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Calls and emails with UCC and lender counsel regarding order continuing cash collateral hearing and deadlines (.40) and review proposed order (.30)	B330	CCMO	.70	495.00	346.50
08/11/15	Review complaint for preliminary injunction filed by Dominion and attached pleadings	В910	ССМО	.60	495.00	297.00
08/11/15	Emails with J.Lamar and P.Tarry regarding filing of retention applications	B160	ССМО	.20	495.00	99.00
08/11/15	Work on updating retention applications for filing	B160	ССМО	.80	495.00	396.00
08/11/15	Review objections to cash collateral order filed by Dominion, Ramsay McCormick and WHH Real Estate	в330	ССМО	.40	495.00	198.00
08/11/15	Phone call and emails with A.Young regarding conflicts disclosure issue for retention applications	B160	ССМО	.20	495.00	99.00
08/11/15	Research regarding use of 10-K statements in litigation	в910	ССМО	.30	495.00	148.50
08/11/15	Review UCC comments to surety bond order and utilities order	B210	ССМО	.30	495.00	148.50
08/11/15	Phone call and email with Birmingham Water Works regarding disconnect notices and utilities order and emails with M.Mataya regarding same	B210	ССМО	.30	495.00	148.50



PAGE 166 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Research regarding standard for Rule 59 and Rule 60 motions in connection with objection to Dominion motion to reconsider cash management order	B910	ССМО	.40	495.00	198.00
08/11/15	Phone call and emails with attorney for Carroll Engineering regarding critical vendor agreement and review redline of agreement	B210	ССМО	.30	495.00	148.50
08/11/15	Additional research regarding ownership of mineral rights under Alabama law in connection with Dominion matter	в120	ССМО	.70	495.00	346.50
08/11/15	Telephone conference with J.Garrett, Alabama Department of Revenue, on proposed meeting with the Department of Revenue counsel regarding pending income tax assessments	B240	CRG	.30	530.00	159.00
08/11/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	В320	VCW	5.40	240.00	1,296.00
08/11/15	Update summary of case deadlines and list of hearings	B110	KAK	1.80	235.00	423.00
08/11/15	Draft and file notice of appearance for D.Black in adversary proceeding filed by Dominion Resources Black Warrior Trust	В910	KAK	.40	235.00	94.00
08/11/15	Draft discovery responses (1.70) and telephone conference with client counsel regarding same (.60); telephone conference with P.Darby in preparation for discovery responses, deposition, and TRO hearing in Dominion litigation	B910	DCB	3.70	580.00	2,146.00



PAGE 167 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	(.20); review and analyze Dominion complaint and verified application for TRO (1.20)					
08/11/15	Conference with J.Avery regarding real estate representations (.10); telephone conference with 363 sale team and client representatives (1.30); conference with J.Bender and S.Trant regarding process and purchase agreement (.30); work on revisions to asset purchase agreement (4.10)	В130	ТМТ	5.80	495.00	2,871.00
08/11/15	Confer with J.Molen regarding asset purchase agreement issues and plan	в320	JRB	.20	610.00	122.00
08/11/15	Respond to creditor inquiries regarding critical vendor treatment	B280	JRB	.20	610.00	122.00
08/11/15	Confer with Alabama Power counsel and client representatives regarding adequate assurance issues (.4); review Alabama Power letter of intent and circulate same to client representatives (.2)	B210	JRB	.60	610.00	366.00
08/11/15	Telephone conference with client representatives and client professionals regarding asset sale process (1.30); follow-up planning conference with T.Thompson and S.Trant regarding sale process (.30); review and propose revisions to asset purchase agreement (.80)	B130	JRB	2.40	610.00	1,464.00



PAGE 168 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Review research memorandum regarding executory contracts	B260	JRB	.60	610.00	366.00
08/11/15	Call regarding non-debtor affiliate Cardem and review correspondence regarding operations	B210	JRB	.40	610.00	244.00
08/11/15	Call with P.Tarry regarding issues pertaining to schedules and SOFA's (.30) work on preparation of same (.80)	В110	JRB	1.10	610.00	671.00
08/11/15	Email response on plan provision issue to P.Darby, J.Bender	в320	JKM	.20	575.00	115.00
08/11/15	Conference with J.Avery on real estate issues in 363 asset purchase agreement (.10); prepare for and telephone conference with Paul Weiss on 363 asset purchase agreement draft issues list (1.30); email exchange on mining permit issues (.10); prepare for and telephone conference with debtor personnel on West Virginia permit issues (.80); telephone conference with Akin Gump and Paul Weiss on 363 asset purchase agreement issues (.40); telephone conference with C.Theil, E.Jacob on 363 asset purchase agreement (.10); conference with S.Trant on permit aspects of issues list call with creditor counsel (.10)	в130	JKM	2.90	575.00	1,667.50
08/11/15	Review document request from unsecured creditor committee (.50); discuss with M.Mataya (.20) and litigation team (.60); and work on production (.40)	B910	JDWA	1.70	480.00	816.00



PAGE 169 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Prepare objection to UCC document request	в910	JDWA	2.20	480.00	1,056.00
08/11/15	Conference with E.Doppelt and co-counsel regarding discovery from UCC and meeting with UCC attorney (.20); review UCC presentation slides (.20)	В910	JDWA	.40	480.00	192.00
08/11/15	E-mails and conference with S.Merkle regarding e-discovery issues	в910	JDWA	.20	480.00	96.00
08/11/15	E-mails to G.Hensley regarding WIMC arbitrator	в910	JDWA	.10	480.00	48.00
08/11/15	Email Jim Walter Homes local lawyer e-mail regarding stay	B910	JDWA	.10	480.00	48.00
08/11/15	Review Dominion Resources pleadings and preparation regarding response	в910	JDWA	.40	480.00	192.00
08/11/15	Review information regarding status of West Virginia mines for APA revisions	B130	SJT	.20	630.00	126.00
08/11/15	Research and send Walter (D.Grucza, M.Mataya) information regarding transfer of Oil & Gas Board Permits	в130	SJT	.30	630.00	189.00
08/11/15	Edit APA schedule 7.11 (1.80) and email to J.Molen and T.Thompson (.10)	B130	SJT	1.90	630.00	1,197.00
08/11/15	Prepare for and discussion with Paul Weiss and Walter regarding draft APA	B130	SJT	1.30	630.00	819.00
08/11/15	Follow up discussion regarding draft APA with T.Thompson and J.Bender	B130	SJT	.30	630.00	189.00



PAGE 170 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Prepare for call with D.Grucza regarding West Virginia permits (.40); review spreadsheet of Alabama permits from D.Grucza (.30)	B130	SJT	.70	630.00	441.00
08/11/15	Conference with D.Grucza and N.Scarborough-with J.Molen-regarding West Virginia permits and transfer process for revision of APA	B130	SJT	.80	630.00	504.00
08/11/15	Review creditor set off proposal (.20); discuss with client (.10); analyze stay issues (.10)	B140	JPD	.40	725.00	290.00
08/11/15	Conference with T.Hancock regarding Dominion discovery (.20); discuss trial preparation and discovery with D.Black (.20); email B.Harvey regarding deposition preparation (.10); review substantive case law and analyze legal standards for TRO and need for factual record (.60)	В910	J₽D	1.10	725.00	797.50
08/11/15	Conference with A.Schlesinger regarding 328 issues (.10); review materials and prepare Blackstone application (.20)	B160	JPD	.30	725.00	217.50
08/11/15	Conference call with E.Doppelt and P.Weiss regarding multiple case management issues	B110	JPD	.30	725.00	217.50
08/11/15	Emails to and from E.Doppelt regarding adequate protection (.20); analyze adequate protection issues (.20)	в330	JPD	.40	725.00	290.00



PAGE 171 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/11/15	Review and respond to vendor credit inquiry	В210	JPD	.20	725.00	145.00
08/11/15	Review UCC production request for cash collateral (.20); outline response (.20); conference call with litigation team to discuss (.60); prepare informal production (.20); review presentation (.10)	B330	JPD	1.30	725.00	942.50
08/11/15	Review critical vendor analysis and prepare for hearing	B210	JPD	.30	725.00	217.50
08/11/15	Review utilities issues (.20); open adequate assurance discussions (.10); prepare for hearing (.10)	B210	JPD	.40	725.00	290.00
08/11/15	Analyze evidentiary issues for Dominion trust trial	B910	JPD	.20	725.00	145.00
08/11/15	Prepare fee application	B160	JPD	.40	725.00	290.00
08/11/15	Review UCC order on continuance and discuss comments	в110	JPD	.20	725.00	145.00
08/11/15	Review revisions to chapter 11 plan	B320	JPD	.30	725.00	217.50
08/12/15	Attend due diligence meeting with UCC advisors	в120	JPD	2.10	725.00	1,522.50
08/12/15	Review Dominion TRO motion and AP (.40); analyze standards and response (.30); analyze discovery and trial issues (.20); discuss with counsel (.20)	B910	JPD	1.10	725.00	797.50



PAGE 172 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Review and revise objection to Dominion motion to reconsider cash management order	B110	JPD	.60	725.00	435.00
08/12/15	Review and finalize retention applications for filing	B160	JPD	.20	725.00	145.00
08/12/15	Review UCC discovery (.20); prepare objection (.30); discuss strategy with litigators (.10); discuss with counsel for UCC (.20)	B910	JPD	.80	725.00	580.00
08/12/15	Call from Steve Olen regarding liquidation of estate claims	B120	JPD	.20	725.00	145.00
08/12/15	Respond to email from lease guarantor (.10); investigate inquiry (.10)	в120	JPD	.20	725.00	145.00
08/12/15	Conference call with client and team regarding status and strategy	в320	JPD	.40	725.00	290.00
08/12/15	Call from and email to T.Corbett regarding case administration issues (.10); email co-counsel (.10)	В110	JPD	.20	725.00	145.00
08/12/15	Analyze estate property issues regarding schedule preparation (.30); discuss issues with client (.10)	B120	JPD	.40	725.00	290.00
08/12/15	Conference call with client and team regarding adequate protection and related issues	в330	JPD	.40	725.00	290.00
08/12/15	Review 2015.30 disclosures and analyze confidentiality	B110	JPD	.20	725.00	145.00



PAGE 173 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Review APA for revisions to permitting section and revise	в120	SJT	1.20	630.00	756.00
08/12/15	Review open environmental issues on 363 sale	в120	SJT	.30	630.00	189.00
08/12/15	Analyze regarding document handling options for production to creditor committee (.30); conference call with K.Cornish, MoFo litigators regarding discovery request for UCC (.80)	B910	JDWA	1.10	480.00	528.00
08/12/15	Work on response and objection to UCC discovery request	в910	JDWA	.90	480.00	432.00
08/12/15	Email exchange with C.Theil on status of comments on draft of 363 asset purchase agreement (.10); email exchange with S.Trant on communications with creditors' Alabama counsel (.10)	B130	JKM	.20	575.00	115.00
08/12/15	Analyze documents identified by client in response to Dominion document request and work on production	В910	JRB	1.20	610.00	732.00
08/12/15	Call with E.Ray regarding Alabama Power 366 issues (.3)	в210	JRB	.30	610.00	183.00
08/12/15	Analyze asset information pertaining to schedules (.5); confer with client and AlixPartners regarding draft schedules and SOFAs (.3)	B120	JRB	.80	610.00	488.00
08/12/15	Respond to creditor inquiries regarding critical vendor order	в280	JRB	.30	610.00	183.00



PAGE 174 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Develop strategy regarding Dominion temporary restraining order (.60) and confer with co-counsel and client regarding same (.20); review pleadings and forward same to lenders' counsel (.30); arrange for filing on appearances in adversary proceeding (.10); review and comment upon revised responses to Dominion objections (.40)	В910	JRB	1.40	610.00	854.00
08/12/15	Review asset purchase agreement (.70); confer with co-counsel regarding asset purchase agreement (.30); phone call with C.Carson at Burr regarding asset purchase agreement and e-mail to colleagues regarding same (.10); review revised case timeline and circulate same to working attorney group (.10)	B130	JRB	1.20	610.00	732.00
08/12/15	Analyze issues concerning mineral leases and gas leases and circulate e-mail to working group regarding the same	B260	JRB	.90	610.00	549.00
08/12/15	Review Cheney motion for relief and confer with J.Bailey regarding same	в140	JRB	.20	610.00	122.00
08/12/15	Review pleadings and notices in bankruptcy case	в110	JRB	.30	610.00	183.00
08/12/15	Work on revisions to draft asset purchase agreement	в130	TMT	4.30	495.00	2,128.50
08/12/15	Work on discovery responses and documents for production in Dominion litigation (3.70); legal research regarding TRO standard and required	B910	DCB	6.90	580.00	4,002.00

elements of proof (.80); conferences



PAGE 175 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	with P.Darby and J.Bender regarding issues in Dominion litigation (.50); telephone conference with client counsel and staff to discuss document production in Dominion litigation (1.00); telephone conference with T.Hancock (Dominion's counsel) regarding discovery and TRO hearing (.50), and email to team summarizing that conversation (.30); prepare for trial (.10)					
08/12/15	Telephone conference with Alabama Department of Revenue counsel and J.Long on documentation follow up to address recently entered preliminary and final assessments for pending state income tax appeals	B240	CRG	. 40	530.00	212.00
08/12/15	Prepare sales reports, bank statements and other client documents for production	B910	KHM	1.20	280.00	336.00
08/12/15	Draft notices of appearance for J.Bender, P.Darby, C.Moore and C.Tobler for Adversary Proceeding No. 15-102, Dominion Resources v. Walter Black Warrior Basin	в910	KAK	.90	235.00	211.50
08/12/15	Revise summary of case deadlines for RSA and plan process	B120	KAK	2.20	235.00	517.00
08/12/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	7.20	240.00	1,728.00



PAGE 176 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Collect comments regarding workers' compensation stay relief motion and revisions to proposed order	в140	ССМО	.30	495.00	148.50
08/12/15	Multiple phone calls and emails with committee counsel and Akin attorneys regarding committee's motion to continue hearing on cash collateral order	B330	ССМО	.40	495.00	198.00
08/12/15	Multiple emails with J.Wilson regarding protective order and B.Harvey deposition	В910	ССМО	.30	495.00	148.50
08/12/15	Final edits and revisions to retention pleadings for the debtors' attorneys and advisors, finalize same for filing, and oversee filing of same (3.70); discuss with B.Harvey (.20)	B160	ССМО	3.90	495.00	1,930.50
08/12/15	Multiple emails with J.Lamar regarding Maynard Cooper employment application	B160	ССМО	.30	495.00	148.50
08/12/15	Multiple emails and phone calls with S.Zelin, M.Rudnick, P.Darby, C.Tobler and K.Manoukian regarding Blackstone employment application, status of filing same, and related issues	B160	ССМО	.60	495.00	297.00
08/12/15	Collect comments to interim compensation procedures (.30); final review and revisions to interim compensation procedures motion, prepare same for filing and oversee filing of same (.40)	B160	ССМО	.70	495.00	346.50



PAGE 177 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Multiple emails and discussions with opposing counsel regarding notice provision for motions (.30); revise bar date motion (.30)	B110	ССМО	.60	495.00	297.00
08/12/15	Review and compile revised parties in interest list and cross-check with conflicts matrix (.60); multiple emails with AYoung and conflicts team regarding searches for mineral lessors (.30)	B160	ССМО	.90	495.00	445.50
08/12/15	Multiple emails with M.Plangman regarding KPMG employment application (.30); revisions to KPMG employment application (.30)	B160	CCMO	.60	495.00	297.00
08/12/15	Email with M.Riela regarding Ernst and Young employment application	B160	ССМО	.10	495.00	49.50
08/12/15	Revisions to objection to Dominion's motion to reconsider cash management order	В910	ССМО	1.30	495.00	643.50
08/12/15	Emails with D.Black and P.Darby regarding negotiations with Dominion counsel (.20); draft objection to Dominion's motion for temporary restraining order (.60)	B910	ССМО	.80	495.00	396.00
08/12/15	Telephone conference with C.Banks and K.Gillikin, Alabama Department of Revenue, and C.Grissom regarding documentation requested to verify cost of coal sales for Jim Walter Resources, Inc.	B240	JEL	.40	430.00	172.00



PAGE 178 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Telephone conference J.Ramsey regarding information requested by Alabama Department of Revenue to verify cost of coal sales for Jim Walter Resources, Inc.	B240	JEL	.30	430.00	129.00
08/12/15	Review correspondence provided by B.Hamilton in response to Alabama Department of Revenue's request for September 23 deposition	B240	JEL	.50	430.00	215.00
08/12/15	Advise client on response to inquiries regarding critical vendor payment funding	B210	JB	.20	375.00	75.00
08/12/15	Review objection to motion to continue and emails regarding same	B110	JB	.20	375.00	75.00
08/12/15	Draft and revise response to UCC discovery requests (1.70); review comments and incorporate (.60)	в910	JB	2.30	375.00	862.50
08/12/15	Review proposed Rule 2015.3 disclosures, collect comments and revise	B110	JB	.80	375.00	300.00
08/12/15	Review Chaney stay relief motion and motion to expedite hearing and prepare response	B140	JB	.40	375.00	150.00
08/12/15	Finalize numerous employment applications and procedural motions including interim compensation procedures motion and bar date motion and arrange for filing and service of same	B110	JB	5.10	375.00	1,912.50



PAGE 179 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/12/15	Analyze requirements for service of pleadings and advise KCC regarding strategy for same	в110	JB	.30	375.00	112.50
08/12/15	Phone calls with V.Henley regarding status of contract review for Schedule G listing	в110	SME	.40	310.00	124.00
08/12/15	Prepare responses to request for production from creditors $I\!\!R$ committee	в910	SME	.30	310.00	93.00
08/12/15	E-mail from G.Hensley regarding bankruptcy notice procedures	в110	JW	.10	330.00	33.00
08/12/15	Work on production in response to committee document requests	в910	JW	.80	330.00	264.00
08/12/15	E-mails from G.Hensley regarding litigation issues	в910	JW	.10	330.00	33.00
08/12/15	Update West Virginia case law research regarding mineral rights	в120	ZC	.60	205.00	123.00
08/12/15	Research and revise draft memorandum on executory contracts	в260	JT	5.60	205.00	1,148.00
08/13/15	Preparation of Walter Energy CFO for deposition	в910	JT	2.00	205.00	410.00
08/13/15	Compose memorandum on West Virginia mineral rights	в110	ZC	1.80	205.00	369.00
08/13/15	Multiple e-mails with G.Hensley and local counsel regarding effect of bankruptcy on litigation (.40); review summary of litigation and documents from local counsel (.30); conference call	B910	ΨU	1.20	330.00	396.00



PAGE 180 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	with local litigation counsel and G.Hensley regarding same (.50)					
08/13/15	Review new docket entries and notices of hearing (.20) and update case management procedures (.30); work on agenda for August 18, 2015 hearing (.80)	B110	ΨŪ	1.30	330.00	429.00
08/13/15	Review and revise proposed fee application procedures (.80) and discuss with debtor professionals (.40)	В160	JW	1.20	330.00	396.00
08/13/15	Emails to KCC on updates to calendars regarding hearings and other deadlines (.30); review correspondence notifying of address change and email with KCC regarding same (.10); review various proofs of claim and emails regarding same (.20); emails to KCC regarding appearances in Dominion AP and Black Warrior docket (.20)	B110	JB	.80	375.00	300.00
08/13/15	Review and finalize 2015.3 filing and arrange for service of same	в110	JB	1.40	375.00	525.00
08/13/15	Telephone conference with M.Moncrief, Alabama Department of Revenue, regarding information requested for 2010 preliminary assessment against Walter Energy	B240	JEL	.20	430.00	86.00
08/13/15	Review of revised APA and revised real estate sections	в130	CJA	.70	405.00	283.50



PAGE 181 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Analyze J.Chaney stay relief request and prepare response to same (.30); conference with local counsel regarding Chaney stay relief motion background and draft proposed response to same (.50)	B140	JB	.80	375.00	300.00
08/13/15	Assist with response to Dominion document production (.40); conferences with counsel for Dominion regarding document production (.20)	B910	JB	.60	375.00	225.00
08/13/15	Revisions to surety order and emails with counsel for sureties regarding same (.30); revisions to utilities order and emails regarding same (.20)	B210	JB	.50	375.00	187.50
08/13/15	Conference and emails with clerk's office regarding hearing scheduling (.20); assist with preparation for hearing on UCC motion to continue cash collateral and other hearings (.20)	B110	JB	.40	375.00	150.00
08/13/15	Research and analyze case law regarding preliminary injunction/TRO standard and application of same in bankruptcy cases and to similar facts	B910	ССМО	1.20	495.00	594.00
08/13/15	Multiple emails with B.Bensinger and D.Meyers regarding proposed order on UCC's motion to continue cash collateral/RSA hearings and reviewed proposed order	B330	ССМО	.30	495.00	148.50
08/13/15	Participate in Harvey deposition preparations for Dominion hearing	В910	ССМО	1.10	495.00	544.50



PAGE 182 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Multiple emails with J.Wilson regarding document production to Dominion (.20); and work on production (.70)	В910	ССМО	.90	495.00	445.50
08/13/15	Collect comments regarding utilities and surety orders and finalize orders (.30); incorporate UCC comments to proposed orders and extension of objection deadlines (.20)	B210	ССМО	.50	495.00	247.50
08/13/15	Multiple emails with E.Doppelt, K.Manoukian, S.Martin regarding Debtors' objection to Dominion's motion to reconsider cash management order	B910	ССМО	.30	495.00	148.50
08/13/15	Review Ogletree retention application and declaration in response to question from P.Tarry and phone call with P.Tarry regarding same	B160	ССМО	.30	495.00	148.50
08/13/15	Emails with KCC regarding update to website to reflect Dominion adversary proceeding	В110	ССМО	.20	495.00	99.00
08/13/15	Emails with J.Bailey and B.Gaines regarding 1114 committee issues	B110	ССМО	.20	495.00	99.00
08/13/15	Exchange emails from J.Wilson regarding protective order for Dominion documents (.20) and work on order (.20)	В910	ССМО	.40	495.00	198.00
08/13/15	Work on draft of objection to Dominion Application for TRO	B910	ССМО	1.40	495.00	693.00



PAGE 183 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	8.90	240.00	2,136.00
08/13/15	Convert and review 2006 emails and attachments for production to the Alabama Department of Revenue	B240	КНМ	2.60	280.00	728.00
08/13/15	Revise summary of case deadlines and lists of hearings	в110	KAK	1.90	235.00	446.50
08/13/15	Conference with M.Mataya regarding Carroll Engineering settlement	B210	ССМО	.30	495.00	148.50
08/13/15	Prepare adequate protection research for cash collateral hearing	в330	ССМО	.60	495.00	297.00
08/13/15	Finalizing and serving discovery responses and producing documents in Dominion litigation (4.40); telephone conferences with L.Benton and J.Wilson (Dominion's counsel) regarding same (.60); serve discovery responses and initial production of documents (.20); meet with B.Harvey to prepare for deposition testimony (1.20); exchange competing versions of protective order with L.Benton and Thompson Knight counsel for Dominion (1.40); telephone conference with L.Benton regarding same (.30)	В910	DCB	8.10	580.00	4,698.00
08/13/15	Telephone call with BABC, PW and Alix Partners regarding disclosure schedules to asset purchase agreement (.7); conference with J.Molen and J. Bender regarding same (.2); work on asset	B130	TMT	8.20	495.00	4,059.00



PAGE 184 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	<pre>purchase agreement revisions (7.3) Review correspondence regarding Dominion discovery (.30); phone call from L.Benton regarding Dominion litigation (.10); document review and production (.50); confer with client regarding Dominion discovery issues and brief</pre>	В910	JRB	1.20	610.00	732.00
08/13/15	D.Black regarding same (.30) Phone call with J.Lamar regarding J.Chaney motion for relief (.2); review correspondence regarding same (.1)	B140	JRB	.30	610.00	183.00
08/13/15	Calls with E.Ray regarding Alabama Power and utilities order (.3); work on revisions to utilities order to address Alabama Power and Appalachian and circulate revised order to same (.6); revise order to address comments from Alabama Power (.4)	B210	JRB	1.30	610.00	793.00
08/13/15	Call with co-counsel and AlixPartners regarding preparing schedules to asset purchase agreement and related issues and circulate documents related to same (.80); analyze select provisions in asset purchase agreement and send e-mails to co-counsel regarding same (.80); review revised asset purchase agreement and provide comments to same (1.0)	B130	JRB	2.60	610.00	1,586.00



PAGE 185 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Conference call with other debtor professionals regarding case status and action items (.2); confer with co-counsel regarding internal action items (.4)	B110	JRB	.60	610.00	366.00
08/13/15	Analyze issues concerning pending UMWA litigation and strategy regarding same	B910	JRB	.30	610.00	183.00
08/13/15	Emails on call on disclosure schedules to 363 asset purchase agreement (.10); prepare for and telephone conference on disclosure schedules to 363 asset purchase agreement and post-call discussion on action items (1.10); conference with S. Trant on discussion with creditors' Alabama counsel and email to Paul Weiss to advise regarding call (.60); prepare comments to 363 asset purchase agreement draft (3.30)	B130	JKM	5.10	575.00	2,932.50
08/13/15	Draft response to MoFo informal requests for UCC (.40); discussion with client and counsel regarding strategy for response (.70); work on production (1.70)	В910	JDWA	2.80	480.00	1,344.00
08/13/15	E-mails regarding hearing before Cornelius on Taft arbitration	B250	JDWA	.40	480.00	192.00
08/13/15	Prepare response regarding motion to lift stay in pending litigation	B140	JDWA	.20	480.00	96.00
08/13/15	Review and revise section 7.11 of APA	в130	SJT	2.20	630.00	1,386.00



PAGE 186 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Telephone conference with C.Whatley at Burr Forman regarding 7.12 and report to John Molen	в130	SJT	.30	630.00	189.00
08/13/15	Review and revise note for inclusion into section 7.12 of APA	B130	SJT	.20	630.00	126.00
08/13/15	Review additional information regarding section 7.12 in draft APA	B130	SJT	.10	630.00	63.00
08/13/15	Conference with client and advisors regarding preparation for 341 meeting	B110	JPD	.20	725.00	145.00
08/13/15	Review wrongful death stay relief motion (.10); investigate (.10); discuss response with co-counsel (.10)	B140	JPD	.30	725.00	217.50
08/13/15	Attend cash collateral hearing (.20); report to client (.10)	B330	JPD	.30	725.00	217.50
08/13/15	Review APA revisions (.10); preparation of schedules (.10); analyze environmental issues regarding same (.10)	B130	JPD	.30	725.00	217.50
08/13/15	Review document production for Dominion (.20); analyze cash flow and tracing (.30); negotiate protective order regarding production (.40); revise same (.20); meet with Bill Harvey to prepare for deposition (1.40); discuss trial issues with Dominion counsel (.20); emails with Dominion counsel regarding discovery responses (.30); analyze same (.20)	В910	JPD	3.20	725.00	2,320.00



PAGE 187 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/13/15	Conference with trial counsel regarding liquidation of BP claims (.20); incorporate into schedules (.10)	B120	JPD	.30	725.00	217.50
08/13/15	Review UCC discovery (.20); conference with litigation group regarding response (.70); work on responses (.30)	В910	JPD	1.20	725.00	870.00
08/13/15	Emails to and from RabCapital counsel regarding potential claims	B310	JPD	.20	725.00	145.00
08/13/15	Review union arbitration proceeding and analyze effect of stay	в250	JPD	.30	725.00	217.50
08/13/15	Confer with co-counsel and client regarding case administration	B110	JPD	.30	725.00	217.50
08/14/15	Review discovery issues (Dominion Trust) and prepare response (.30); discuss with lender counsel (.20); conference with B.Harvey regarding deposition and trial preparation (.30); further analyze factual record regarding trial (.30); post-deposition follow up with lender and client (.30); review subpoena issues (.20); prepare for trial (.70)	B910	JPD	2.30	725.00	1,667.50
08/14/15	Respond to creditor inquiries re claims treatment	B280	JPD	.20	725.00	145.00
08/14/15	Review lender comments to objection to alter or amend cash management order (.20); discuss with lenders (.10); finalize for filing (.10)	B330	JPD	.40	725.00	290.00



PAGE 188 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/14/15	Call from C.Hardin regarding disposition of interpleader and quite title action (.30); review and analyze removal (.20); email co-counsel regarding same	B910	JPD	.30	725.00	217.50
08/14/15	Review case law regarding 1113 discovery and email negotiation and litigation team	в250	JPD	.30	725.00	217.50
08/14/15	Review schedules and work on property analysis and disclosure and reservation of rights regarding nature of interest	в120	JPD	.40	725.00	290.00
08/14/15	Call from T.Corbett regarding fee examiner and fee allowance issues	B160	JPD	.20	725.00	145.00
08/14/15	Review Frontier demand regarding royalties and respond	В210	JPD	.10	725.00	72.50
08/14/15	Review UCC discovery issues (.20); join conference call regarding same (.60)	В910	JPD	.80	725.00	580.00
08/14/15	Prepare objection to Dominion TRO	в910	JPD	.60	725.00	435.00
08/14/15	Review proposed orders for August 18, 2015 hearing	B110	JPD	.20	725.00	145.00
08/14/15	Review License requirement of AL bidder	B130	SJT	.10	630.00	63.00
08/14/15	Review AL permits for bankruptcy APA transaction	B130	SJT	.30	630.00	189.00
08/14/15	Review revised APA drafts and provide further analysis and edits to J.Molen and T.Thompson	в130	SJT	1.80	630.00	1,134.00



PAGE 189 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/14/15	Telephone conference with R.Farley at Burr Forman and email to team regarding proposed conference call	B130	SJT	.30	630.00	189.00
08/14/15	Review NPDES issue for WVA and report to J.Molen regarding same (.10); review and respond regarding West Virginia counsel (.10)	B130	SJT	.20	630.00	126.00
08/14/15	Develop form protective order for UCC discovery	в910	JDWA	.30	480.00	144.00
08/14/15	Respond to e-mail from J.Culbreath regarding WIMC	В910	JDWA	.20	480.00	96.00
08/14/15	Prepare response regarding response to MoFo discovery (.70); conference call with litigators to discuss (.80); emails regarding production (.20)	B910	JDWA	1.70	480.00	816.00
08/14/15	Research NLRB issues in bankruptcy (.30); review case law regarding union arbitration (.30); conference call regarding NLRB matter with outside labor counsel (1.0) and work on settlement (.20)	B250	JDWA	1.80	480.00	864.00
08/14/15	Conference with J.Bender on 363 asset purchase agreement issues (.50); conference with C.Theil on 363 asset purchase agreement issues (.20); conference with S.Trant on permit issues (.20); conference with T.Thompson on revisions to draft of 363 asset purchase agreement (.20); conference with creditors' Alabama counsel on 363 sale process and permit issues (.40);	в130	JKM	2.70	575.00	1,552.50



PAGE 190 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	conference with J.Bender on call with creditors' Alabama counsel (.80); draft email memo to client and Paul Weiss on call with creditors' Alabama counsel (.40)					
08/14/15	Work on revisions to utilities order and review correspondence from co-counsel and Appalachian counsel regarding same	В210	JRB	.20	610.00	122.00
08/14/15	Work on information regarding permits and licenses for asset purchase agreement exhibit	B130	JRB	.10	610.00	61.00
08/14/15	Conference call with client and AlixPartners regarding schedules and SOFAs issues (.7); review and revise draft global notes to schedules and SOFAs (1.4)	B110	JRB	2.10	610.00	1,281.00
08/14/15	Review condemnation proceedings correspondence and confer with co-counsel regarding same (.3); analyze cases regarding effect of stay on arbitration proceedings (.1)	B910	JRB	.40	610.00	244.00
08/14/15	Confer with B.Walding regarding Alagasco 366 issues	B210	JRB	.30	610.00	183.00
08/14/15	Phone call and e-mail with Jolen Oil counsel regarding royalties (.5); confer with client regarding same (.2); call with J.Vogtle regarding Frontier leases (.2); e-mail to group regarding same (.2); review research memo regarding mineral leases (.4); review and respond to client correspondence regarding	B260	JRB	1.80	610.00	1,098.00



PAGE 191 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/14/15	<pre>methane gas operations (.3) Review and comment upon response to Dominion temporary restraining order motion and general strategy (1.6); respond to issues pertaining to Dominion subpoenas (.6)</pre>	B910	JRB	2.20	610.00	1,342.00
08/14/15	Review draft final first day orders and correspondence from other counsel regarding same	в110	JRB	.30	610.00	183.00
08/14/15	Review correspondence regarding BP claims regarding schedules disclosure	B120	JRB	.10	610.00	61.00
08/14/15	Review open APA issues and email comments	в130	TMT	.80	495.00	396.00
08/14/15	Conferences with P.Darby and J.Bender regarding Dominion litigation (1.10); meet with B.Harvey and defend his deposition (6.90); telephone calls with C.Farrell and M.Griffin and M.Mataya regarding TRO hearing on 8/18 in Dominion litigation (1.20); review draft opposition to motion for TRO (.70)	В910	DCB	9.90	580.00	5,742.00
08/14/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	5.80	240.00	1,392.00
08/14/15	Respond to discovery and subpoena issues on Dominion TRO trial	В910	ССМО	.60	495.00	297.00
08/14/15	Research regarding Frontier Enterprises joinder to Dominion's motion to reconsider cash management order	в120	ССМО	.30	495.00	148.50



PAGE 192 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/14/15	Analyze cases cited by Dominion in application for temporary restraining order	B910	ССМО	1.20	495.00	594.00
08/14/15	Phone call and emails with C.Farrell regarding Dominion discovery matters and production	В910	ССМО	.60	495.00	297.00
08/14/15	Review witness and exhibit list filed by Dominion and research expert designated by Dominion	В910	ССМО	.40	495.00	198.00
08/14/15	Legal research regarding injunction standards in 11th circuit and bankruptcy courts and specific application of elements in bankruptcy context	B910	ССМО	.90	495.00	445.50
08/14/15	Review well production forecast and trust documents relating to Dominion	В910	ССМО	.50	495.00	247.50
08/14/15	Draft and revise objection to Dominion's application for TRO	в910	ССМО	4.70	495.00	2,326.50
08/14/15	Analysis regarding characterization of various interests on schedules	в120	ССМО	.30	495.00	148.50
08/14/15	Review documents regarding interpleader and quiet title action by Dominion Black Warrior Trust	В910	ССМО	.30	495.00	148.50
08/14/15	Research regarding fee examiner	в160	ССМО	.10	495.00	49.50
08/14/15	Review subpoena on Bill Harvey for hearing in Dominion AP and emails regarding same (.10); review witness and exhibit list for Dominion hearings and emails regarding same (.10)	B910	JB	.20	375.00	75.00



PAGE 193 SEPTEMBER 21, 2015

0W1525-301028

						FED ID NO. 63-0243316
DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/14/15	Finalize response to Dominion motion to reconsider cash management motion and arrange for filing and service of same	B210	JB	.30	375.00	112.50
08/14/15	Emails with clerk regarding hearing schedule (.10); review and revise memo regarding case deadline updates (.40); revisions to multiple proposed orders for upcoming omnibus hearing and emails with opposing counsel regarding same (1.20)	B110	JB	1.70	375.00	637.50
08/14/15	Revisions to objection to Dominion's motion to reconsider cash management motion (.90); correspondence with P.Darby, L.Lawrence, C.Carson, H.Lahr regarding steering committee's position on Dominion motion to reconsider cash management order and comments on Debtors' response (.30)	B910	ССМО	1.20	495.00	594.00
08/14/15	Review UCC and steering committee joinders to objection to Dominion's motion to reconsider cash management order (.20); emails with K.Manoukian and C.Tobler regarding Dominion TRO objection (.10)	B120	ССМО	.30	495.00	148.50
08/14/15	E-mails with G.Hensley and R.Crabb regarding notice procedures	B110	JW	.10	330.00	33.00
08/14/15	Conference with J.Bender and C.Moore regarding revisions to objection to motion for temporary restraining order filed by Dominion Resources (.10);	B910	JW	1.30	330.00	429.00

review and proof citations and brief



PAGE 194 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	(1.20)					
08/14/15	Conference call with G.Hensley, local counsel, and regarding the scope of stay on litigation proceeding	в910	JW	.60	330.00	198.00
08/14/15	Draft analysis of litigation for schedules (.60); call with G.Hensley regarding background for same (.30); analyze notice procedures (.20) and call with G.Hensley and R.Crabb regarding notice procedures (.30)	B110	JW	1.40	330.00	462.00
08/14/15	Attend deposition of Walter Energy CFO	в910	JT	5.20	205.00	1,066.00
08/15/15	Revise objection to motion for temporary restraining order filed by Dominion Resources	В910	JW	2.30	330.00	759.00
08/15/15	Multiple emails with witness regarding testimony at 8/18 hearings(.20); Correspondence with M.Hall regarding legal issues in Dominion matter (.20)	B120	CCMO	.40	495.00	198.00
08/15/15	Revisions to objection to application for temporary restraining order (2.70); collect comments on same (.60)	В910	ССМО	3.30	495.00	1,633.50
08/15/15	Research regarding irreparable harm standard as applied in the context of bankruptcy	В910	ССМО	.70	495.00	346.50
08/15/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	в110	VCW	4.10	240.00	984.00



PAGE 195 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/15/15	Review and comment on draft opposition to Application for TRO in connection with Dominion litigation (.80); prepare for trial on Dominion's Application for TRO (2.20); email exchanges with E.Doppelt, C.Moore, P.Darby and others in connection with same (.30); email exchange with J.Watson and Paul Weiss counsel regarding protective order issues (.30)	В910	DCB	3.60	580.00	2,088.00
08/15/15	Review correspondence about Dominion temporary restraining order response and strategy (.10) and respond regarding 541 issues (.20)	B910	JRB	.30	610.00	183.00
08/15/15	Email memo to S.Trant on discussions with creditors' Alabama counsel on permit issues (.30); initial review of schedule of insurance policies and distribute to BABC asset purchase agreement team (.10); finalize and send email memo to client and Paul Weiss on discussion with creditors' Alabama counsel on permit issues and 363 process (.10)	B130	JKM	.50	575.00	287.50
08/15/15	E-mails with R.Kravitz, D.Black regarding Dominion Protective Order	В910	JDWA	.40	480.00	192.00
08/15/15	Correspondence with C.Tobler (.20); and E.Doppelt (.20); regarding open	в910	JPD	.40	725.00	290.00

litigation issues



PAGE 196 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/15/15	Analyze discovery and trial preparation issues regarding Dominion TRO (.40); discus with client and co-counsel (.30); research 541 issues and prepare legal arguments for hearing (.50); research and revise TRO objection (.70)	В910	J₽D	1.90	725.00	1,377.50
08/16/15	Review comments to TRO objections and discuss with co-counsel and bank counsel (.60); prepare for trial (.50)	B910	JPD	1.10	725.00	797.50
08/16/15	Review and revise motion to quash Carol Farrell subpoena and comment (.40); prepare for hearing on motion to quash (.20)	в910	JPD	.60	725.00	435.00
08/16/15	Review report regarding Akin/Burr positions on permits and plan for call to address permits and APA (.20); review and update permits list (.30); revise APA section 7.11 per J.Molen input (1.20)	B130	SJT	1.70	630.00	1,071.00
08/16/15	Review issue of whether ASMC will allow transfer of Bond without taking all liabilities by purchaser	B130	SJT	.20	630.00	126.00
08/16/15	Review 10-Q for information relating to upcoming hearing	B910	JDWA	.20	480.00	96.00
08/16/15	Emails on permit issues (.20); conference with S.Trant on permit issues on 363 asset purchase agreement (.20); review 363 asset purchase agreement for additional issues, including, permit related comments (4.10)	в130	JKM	4.50	575.00	2,587.50



PAGE 197 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/16/15	Review exhibits on Dominion's exhibit list (2.10); telephone calls and email exchanges with potential witnesses (.60); prepare motion to quash subpoena and related research, circulate same for comment (1.50); email exchanges with co-counsel from Paul Weiss and creditors' counsel from Akin Gump regarding various issues (.40)	в910	DCB	4.60	580.00	2,668.00
08/16/15	Review asset purchase agreement revisions (1.00); discuss with J.Molen (.20)	в130	TMT	1.20	495.00	594.00
08/16/15	Review and revise draft global notes to all bankruptcy schedules and statements of financial affairs and circulate same to team working on same	B110	JRB	2.70	610.00	1,647.00
08/16/15	Review draft objection to Dominion temporary restraining order motion and give comments to same to C.Moore (.5); review steering committee's draft motion to intervene and draft opposition to temporary restraining order motion (.6)	В910	JRB	1.10	610.00	671.00
08/16/15	Review Steering Committee opposition to Dominion TRO and research points in same (.90); discuss with counsel (.20)	В910	ССМО	1.10	495.00	544.50
08/16/15	Multiple emails with client and co-counsel regarding strategy for dealing with subpoena to C.Farrell (.20); prepare motion to quash (.30)	B910	ССМО	.50	495.00	247.50



PAGE 198 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/16/15	Review and analyze documents regarding SOFA disclosures	B910	JW	1.20	330.00	396.00
08/16/15	Revise objection to motion for temporary restraining order filed by Dominion Resources (.90); e-mails with C.Moore and J.Bender regarding revisions to motion for temporary restraining order of Dominion Resources (.20)	В910	WU	1.10	330.00	363.00
08/16/15	Analysis of case law supporting multiple arguments made in Dominion TRO opposition (1.70); revise opposition to Dominion's application for TRO (2.70)	В910	CCMO	4.40	495.00	2,178.00
08/16/15	Review docket and draft and revise hearing agenda and other preparations for omnibus hearing	B110	JB	.70	375.00	262.50
08/16/15	Draft employment application for BP claims counsel	B160	JB	.30	375.00	112.50
08/16/15	Review notice of removal in pending state court litigation and advise client on bankruptcy related issues and strategy	B910	JB	.30	375.00	112.50
08/17/15	Draft and revise witness and exhibit list for Dominion AP hearing (.40); prepare and file exhibits (.40)	B910	JB	.80	375.00	300.00
08/17/15	Revise brief in opposition to motion for TRO and prepare compilation of caselaw support	В910	JB	2.80	375.00	1,050.00



PAGE 199 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Finalize agenda for omnibus hearing (.30) and emails with opposing counsel regarding same (.20)	в110	JB	.50	375.00	187.50
08/17/15	Preparation for omnibus hearing on numerous motions	в110	JB	1.80	375.00	675.00
08/17/15	Emails with counsel for sureties regarding status of omnibus hearing	B110	JB	.10	375.00	37.50
08/17/15	Finalize and file motion to quash subpoena and prepare for hearing on same (.50) ; conference with courtroom deputy regarding scheduling emergency motion to quash subpoena (.10)	B910	JB	.60	375.00	225.00
08/17/15	Conference with G.Hensley regarding pending stay relief motion (.10); research related to objection to stay relief motion (.70)	B140	JB	.80	375.00	300.00
08/17/15	Conference with C.Grissom and K.McBride regarding production of documents to Alabama Department of Revenue for deposition of B.Hamilton	B240	JEL	.30	430.00	129.00
08/17/15	Research and analysis on priority and discharge of claims (6.30); draft chart and summary of analysis regarding priority of claims for schedule (1.10)	B310	JW	7.40	330.00	2,442.00
08/17/15	Cite-check and revise response to Dominion's motion for restraining order	В910	JW	.90	330.00	297.00
08/17/15	Revise executoriness memorandum	B260	JT	2.20	205.00	451.00



PAGE 200 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Review updated outstanding litigation list provided by R.Crabb (.20); review email from K.Culbreath regarding outstanding litigation in Texas (.10); email R.Crabb regarding same (.10); discuss same with co-counsel (.20)	В910	SME	.60	310.00	186.00
08/17/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	6.00	240.00	1,440.00
08/17/15	Review and analyze cases cited in Dominion TRO opposition brief	В910	ССМО	1.20	495.00	594.00
08/17/15	Prepare for submission to Court materials in support of Dominion TRO opposition brief	В910	ССМО	.80	495.00	396.00
08/17/15	Revise Dominion TRO opposition brief (2.60); review contracts and other documents re same (.80); finalize and file brief (.40)	B910	CCMO	3.80	495.00	1,881.00
08/17/15	Negotiating additional language in workers' compensation lift stay order requested by ACE	в330	ССМО	.80	495.00	396.00
08/17/15	Review motion to quash Carol Farrell subpoena and emails with D.Black and J.Bailey regarding same	B910	ССМО	.30	495.00	148.50
08/17/15	Evidentiary research regarding use of Sonat Agreement in litigation	в910	ССМО	.30	495.00	148.50



PAGE 201 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Research 11th circuit precedent holding that courts may take judicial notice of contents of publicly filed SEC documents	В910	ССМО	.30	495.00	148.50
08/17/15	Emails with K.Manoukian, J.Bailey, and Robinson McFadden firm regarding status of ordinary course professionals motion, OCP declaration, and procedures for filing same (.30); review BA comments (.10)	B160	ССМО	.40	495.00	198.00
08/17/15	Multiple emails with A.Dupree of Birmingham Water Works regarding protections against termination and utilities order	B210	ССМО	.30	495.00	148.50
08/17/15	Emails with UCC counsel regarding Dominion TRO opposition	В910	ССМО	.20	495.00	99.00
08/17/15	Emails and phone calls with S.Martin and C.Tobler regarding workers' compensation lift stay motion and workers compensation procedures in general	B140	ССМО	.40	495.00	198.00
08/17/15	Compile information regarding Murray Guard for schedules	B110	ССМО	.20	495.00	99.00
08/17/15	Analyze 11th circuit standards for lifting stay to allow litigation to proceed and emails with P.Darby and J.Bailey regarding same	B140	ССМО	.30	495.00	148.50
08/17/15	Phone call with Mike Hall regarding Dominion TRO motion, Steering Committee response and related issues	B910	ССМО	.30	495.00	148.50



PAGE 202 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Revise summary of case deadlines, prepare agenda for filing	в110	KAK	.40	235.00	94.00
08/17/15	Convert and prepare 2007 and 2008 emails for production to the Alabama Department of Review	B240	КНМ	3.70	280.00	1,036.00
08/17/15	Prepare replacement bank statements for production	В910	KHM	.40	280.00	112.00
08/17/15	Review revisions to asset purchase agreement (.3); conferences with J.Molen (.2); telephone conference with BABC sale team and client representatives regarding permit information (.6); conference with J.Molen and S.Trant (.1); telephone conference with Burr team, BABC sale team, and client representatives regarding permit due diligence (.3); conference with J.Molen and S.Trant regarding same (.5); telephone conference with K.Love, J.Molen and S.Trant regarding same (.2)	B130	TMT	2.20	495.00	1,089.00
08/17/15	Conference call with client and M&A legal team regarding license, permits and sale issues (.6); confer with K.Love regarding licenses and permits (.3); conference call with Burr and Akin M&A lawyers regarding licenses, permits, and sale issues (.5); review K.Love e-mail regarding licenses and permits and circulate same to M&A working group (.2)	в130	JRB	1.60	610.00	976.00



PAGE 203 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Review and comment upon draft bankruptcy schedules and statements of financial affairs for all 23 debtors at client offices and confer with client and AlixPartners personnel regarding same	B110	JRB	7.70	610.00	4,697.00
08/17/15	Review pleadings regarding Dominion litigation and prepare litigation strategy	В910	JRB	.30	610.00	183.00
08/17/15	Review Akin comments to plan and disclosure statement	в320	JRB	.30	610.00	183.00
08/17/15	Meet with C.Farrell and M.Griffin (2.10); additional research to support emergency motion to quash (.60); finalize and file motion and prepare for hearing (.50); review briefs in opposition to TRO and exhibits (1.90); prepare for TRO hearing and examination/cross examination of witnesses (4.10)	В910	DCB	9.20	580.00	5,336.00
08/17/15	E-mails to and from J.Long and K.McBride on document review for deposition of Bruce Hamilton	B240	CRG	.30	530.00	159.00
08/17/15	Telephone conference and emails with creditors' Alabama counsel on call to discuss permit/license questions (.20); conference with T.Thompson on additional comments to creditors' draft of 363 asset purchase agreement (.20); finalize additional comments on creditors' draft of 363 asset purchase agreement and send to Paul Weiss (.60); prepare for and telephone conference with client	B130	JKM	3.80	575.00	2,185.00



PAGE 204 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	<pre>personnel on creditors' Alabama counsel permit/license questions (1.00); various communications with client and Paul Weiss on contacting client's West Virginia counsel on permit/license issues on creditors' draft of 363 asset purchase agreement (.30); email to M.Mataya on access to project data room (.10); set up telephone conference with creditors' Alabama counsel on permit/license issues (.10); communication with C.Theil (.10); further emails on contacting West Virginia counsel (.10); prepare for and telephone conference with creditors' Alabama counsel and lead counsel on permit/license questions on Alabama operations (.60); post-call conference with client on responding to permit/license questions on Alabama operations (.50)</pre>					
08/17/15	Review revised draft of plan of reorganization	в320	JKM	1.70	575.00	977.50
08/17/15	Call with S.Merkle regarding K.Culbreath e-mail and Texas litigation and discuss with Texas counsel (.20); review K.Culbreath e-mail regarding JWH lawsuits and review updated spreadsheet (.50)	В910	JDWA	.70	480.00	336.00
08/17/15	Review draft Protective Order for unsecured creditor committee use (.40); e-mail to R.Kravitz regarding comments to Protective Order (.20)	B910	JDWA	.60	480.00	288.00



PAGE 205 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Review e-mail from MoFo regarding UCC discovery status (.30); conference call with counsel regarding MoFo e-mail, discovery issues (.90); review e-mail discovery issues (.40) and work on production (.60)	В910	JDWA	2.20	480.00	1,056.00
08/17/15	Conference with D.Grucza regarding UMWA rally at Patriot Coal headquarters	B250	JDWA	.20	480.00	96.00
08/17/15	Conference with P.Darby regarding e-mail and cash collateral discovery (.20); draft analysis and email K.Cormish (.40)	В910	JDWA	.60	480.00	288.00
08/17/15	Prepare for and attend call with Walter team to review permits (1.00); follow up with J.Molen and T.Thompson regarding permits and process to review with creditors (.10)	B130	SJT	1.10	630.00	693.00
08/17/15	Review additional materials regarding West Virginia assets (.30); contact of local counsel in West Virginia (.10)	в130	SJT	.40	630.00	252.00
08/17/15	Prepare for additional call regarding issues and permits with Burr/Akin (.40); call with Burr Forman and Akin Group regarding Alabama assets (.60); follow up call with K.Love, J.Molen and T.Thompson regarding same (.50)	B130	SJT	1.50	630.00	945.00
08/17/15	Review and edit APA provisions regarding labor (.50); emails and telephone calls about black lung and workers' compensation information for APA disclosures (.20)	B250	JWH	.70	515.00	360.50



PAGE 206 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/17/15	Review of security issue with J.Aldrich and D.Grucza	B250	JWH	1.20	515.00	618.00
08/17/15	Review D.Grucza response to question regarding permit summary	в130	SJT	.10	630.00	63.00
08/17/15	Prepare for hearing on Chaney stay relief motion	в140	JPD	.20	725.00	145.00
08/17/15	Review UCC discovery issues (.40); discuss with J.Watson (.20)	В910	JPD	.60	725.00	435.00
08/17/15	Conference with E.Doppelt regarding board meeting and issues	B210	JPD	.20	725.00	145.00
08/17/15	Prepare for final hearings on interim first day orders	B110	JPD	.40	725.00	290.00
08/17/15	Review claims and asset issues and prepare schedules	B110	JPD	.30	725.00	217.50
08/18/15	Prepare proposed orders on final hearing on interim first day orders (.20); attend hearing (.40)	в110	JPD	.60	725.00	435.00
08/18/15	Meet with witnesses to prepare for Dominion trial (1.0); review documents, discovery and admissibility (.60); prepare outline of arguments (.60); research pre-emption (.20)	B910	JPD	2.40	725.00	1,740.00
08/18/15	Attend trial on Dominion TRO (2.40); conference with bank counsel regarding same (.20); conference with co-counsel to prepare oral arguments and closing (.60); prepare proposed orders (.20)	B910	JPD	3.40	725.00	2,465.00



PAGE 207 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Review asset listing issues in preparation of schedules	B120	JPD	.20	725.00	145.00
08/18/15	Call from S.Zelin regarding operational issue	В210	JPD	.20	725.00	145.00
08/18/15	Review removal issues regarding pending lawsuit and comment	В910	JPD	.20	725.00	145.00
08/18/15	Conference call with client and professionals regarding case status	в320	JPD	.40	725.00	290.00
08/18/15	Review utility agreement regarding approval procedure	В210	JPD	.20	725.00	145.00
08/18/15	Work on discovery and production to UCC	B910	JPD	.30	725.00	217.50
08/18/15	Work on workers' compensation and black lung disclosures for APA	в130	JWH	.20	515.00	103.00
08/18/15	Work on picket line and strike activity guidelines for manager training	в250	JWH	1.10	515.00	566.50
08/18/15	Review pending cases and work on update for BR disclosures and relief from stay	в910	JWH	.50	515.00	257.50
08/18/15	Review revisions to draft APA	B130	SJT	1.10	630.00	693.00
08/18/15	Review MoFo e-mail regarding UCC discovery (.20); conference call on UCC discovery (.50); work on response to e-mail discovery in response to UCC requests (.70)	B910	JDWA	1.40	480.00	672.00



PAGE 208 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Review memo regarding NLRB matter and lawsuit seeking injunction against NLRB (.30); conference with G.Hensley regarding NLRB lawsuit (.10)	B250	JDWA	.40	480.00	192.00
08/18/15	Review pleadings (.20) and research regarding Key lawsuit removal (.20)	B320	JDWA	.40	480.00	192.00
08/18/15	Prepare disclosure of private information in litigation schedules, research cases and discuss with client	В910	JDWA	1.60	480.00	768.00
08/18/15	E-mails regarding disclosure statement revisions and review litigation portion and comment	В910	JDWA	1.60	480.00	768.00
08/18/15	Conference with G.Hensley regarding WIMC arbitrator and work regarding arbitrator invoice	В910	JDWA	.20	480.00	96.00
08/18/15	E-mails with J.Woodrum, J.Watkins regarding NLRB/UMWA memo and questions	B250	JDWA	.30	480.00	144.00
08/18/15	Emails on interim response draft to creditors' initial draft of 363 asset purchase agreement (.20); telephone conference with M.Mataya on communication with West Virginia counsel (.10); conference with S.Trant on West Virginia permit/license issues (.20); telephone conferences with West Virginia counsel on permit/license issues (.30)	В130	JKM	.80	575.00	460.00



PAGE 209 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Outline witness examinations and otherwise prepare for trial on application for TRO in Dominion Trust litigation (1.70); trial on TRO issues before Judge Mitchell (5.40); conferences and email exchanges with various co-counsel and with Creditors' Committee counsel regarding same (.60)	В910	DCB	7.70	580.00	4,466.00
08/18/15	Review of materials pertaining to schedules and SOFAs, including litigation-related claims and potential confidentiality issues	B110	JRB	2.20	610.00	1,342.00
08/18/15	Review and analyze from Alabama Power proposal regarding proposed project (.60) and send e-mail to client regarding same (.20)	В210	JRB	.80	610.00	488.00
08/18/15	Attend hearing on Dominion motion	в910	JRB	2.30	610.00	1,403.00
08/18/15	Work on revisions to disclosure statement and confer with Paul Weiss counsel regarding same	в320	JRB	3.70	610.00	2,257.00
08/18/15	Review Paul Weiss mark-up of asset purchase agreement	B130	TMT	1.60	495.00	792.00
08/18/15	Work on asset purchase agreement and schedules to same	в130	JRB	.20	610.00	122.00
08/18/15	Update summary of case deadlines	B110	KAK	.20	235.00	47.00
08/18/15	Discussions with P.Darby, D.Black and C.Tobler regarding strategy going forward in Dominion litigation	В910	ССМО	.30	495.00	148.50



PAGE 210 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Work on application to employ special counsel to pursue BP claims	B160	ССМО	.40	495.00	198.00
08/18/15	Analysis of lease and executory contract issues	B260	ССМО	.30	495.00	148.50
08/18/15	Emails with K.Power regarding OCP motion and order	B160	ССМО	.20	495.00	99.00
08/18/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	в110	VCW	7.30	240.00	1,752.00
08/18/15	Review Dominion response to Steering Committee motion to intervene (.20); analyze and discuss with lender counsel (.20); attend Dominion trial (2.30)	B910	ССМО	2.70	495.00	1,336.50
08/18/15	Attend hearings on utilities, surety bond, workers' compensation automatic stay motions (.60); discuss with client (.20)	B210	ССМО	.80	495.00	396.00
08/18/15	Emails with Arnett James at Barclay's regarding hearings	в110	ССМО	.20	495.00	99.00
08/18/15	Correspondence with S.Martin and C.Tobler regarding stay relief motion to allow workers' compensation claims to proceed (.10) and prepare for hearing (.20)	B140	ССМО	.30	495.00	148.50
08/18/15	Correspondence with C.Tobler, S.Martin, and J.Bailey regarding comments and revisions to proposed orders	В110	ССМО	.30	495.00	148.50



PAGE 211 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Review ordinary course professionals motion and phone call with T.Corbett regarding same	в160	ССМО	.20	495.00	99.00
08/18/15	Correspondence with M.Newton regarding OCP declaration	B160	ССМО	.10	495.00	49.50
08/18/15	Review ordinary course professionals order to ascertain reporting requirements and multiple emails with P.Tarry re: same	B160	ССМО	.30	495.00	148.50
08/18/15	Emails with J.Lamar regarding employment application for BP claims	в160	ССМО	.20	495.00	99.00
08/18/15	Prepare for hearing on Dominion TRO	в910	ССМО	.80	495.00	396.00
08/18/15	Gather information needed regarding derivative cases and securities class action for schedule listing (1.70); draft summary of same (.50); discuss with client (.30)	B910	SME	2.50	310.00	775.00
08/18/15	Call with local counsel regarding stay relief for workers' compensation matters	в140	JW	.30	330.00	99.00
08/18/15	Review court documents for various litigation proceedings and prepare bankruptcy schedules	В110	JW	.80	330.00	264.00
08/18/15	Draft and revise summary of analysis regarding priority of claims (1.40); e-mails with G.Hensley and local counsel regarding priority of claims (.30)	B110	JW	1.70	330.00	561.00



PAGE 212 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Review cost of sales detail for Jim Walter Resources requested by Alabama Department of Revenue for 2009 and 2010	B240	JEL	1.10	430.00	473.00
08/18/15	Review and respond to e-mails J.Ramsey regarding cost of sales detail for Jim Walter Resources requested by Alabama Department of Revenue for 2009 and 2010	B240	JEL	.30	430.00	129.00
08/18/15	Review correspondence and internal documents of Bruce Hamilton in response to Alabama Department of Revenue's document request	B240	JEL	.30	430.00	129.00
08/18/15	Draft inserts for disclosure statement regarding bankruptcy case procedural history	В320	JB	.90	375.00	337.50
08/18/15	Draft and revise proposed orders regarding Dominion disputes and TRO and emails regarding same	В910	JB	1.20	375.00	450.00
08/18/15	Draft and revise motion to approve disclosure statement and solicitation procedures	В320	JB	3.20	375.00	1,200.00
08/18/15	Prepare for omnibus hearing (2.40); prepare orders for omnibus hearing on various motions (1.40)	B110	JB	3.80	375.00	1,425.00
08/18/15	Draft and revise proposed order regarding Dominion motion to amend cash management order and emails regarding same	B910	JB	.40	375.00	150.00



PAGE 213 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/18/15	Review order on J.Chaney stay relief motion	B140	JB	.10	375.00	37.50
08/18/15	Draft proposed orders for hearing (.50); correspondence with J.Bailey regarding proposed orders for motions granted at hearings (.20) and review and revise proposed orders (.40)	B110	ССМО	1.10	495.00	544.50
08/18/15	Correspondence with J.Bender and L.Shumejda regarding disclosure statement revisions (.20); draft summary of Dominion litigation for disclosure statement (.70)	В320	ССМО	.90	495.00	445.50
08/19/15	Review Blackstone application and engagement letters and prepared exhibits and prepared same for filing (1.80); multiple emails with A.Schlesinger regarding Blackstone application (.40); phone call with M.Rudnick regarding Blackstone and response to anticipated cash collateral objections (.20); phone call with Chris Callies regarding Blackstone retention application (.10); draft motion for expedited hearing (.30)	B160	ССМО	2.80	495.00	1,386.00
08/19/15	Review proposed orders from other counsel regarding Dominion disputes	В910	JB	.20	375.00	75.00
08/19/15	Review and revise Blackstone application and prepare same for filing and service and emails and conferences with Blackstone reps regarding same	B160	JB	2.20	375.00	825.00



PAGE 214 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Arrange for transcript orders and emails regarding same	в110	JB	.10	375.00	37.50
08/19/15	Return call to counsel for Hager Equipment regarding claims issues	B280	JB	.10	375.00	37.50
08/19/15	Draft and revise inserts for disclosure statement	в320	JB	2.70	375.00	1,012.50
08/19/15	Review orders entered on various motions and arrange for service of same	в110	JB	.40	375.00	150.00
08/19/15	Review of revised APA and provided comments to involved parties regarding real estate provisions	в130	CJA	1.40	405.00	567.00
08/19/15	Review and revise disclosure statement regarding Alabama corporate income tax assessments and appeals for 2006 through 2010	B320	JEL	.60	430.00	258.00
08/19/15	E-mail M.Moncrief, C.Banks, and K.Gillikin, Alabama Department of Revenue, additional support for Jim Walter's cost of goods sold for 2009 and 2010	B240	JEL	.20	430.00	86.00
08/19/15	Telephone conference with J.Ramsey regarding additional support for Jim Walter's cost of goods sold for 2009 and 2010	B240	JEL	.20	430.00	86.00
08/19/15	Conference call with KPMG, Blackstone, AlixPartners, Paul Weiss regarding best interests test and procedures for analysis and evidence	B320	ССМО	.50	495.00	247.50



PAGE 215 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Research and analysis regarding priority and discharge of claims	B310	JW	1.30	330.00	429.00
08/19/15	Research and analysis on allowance of administrative expense claims, priority claims, and discharge	B320	JW	4.10	330.00	1,353.00
08/19/15	Review stay relief order for workers' compensation matters and order on ordinary course professionals (.20); e-mails to local counsel regarding stay relief for workers' compensation matters (.40)	B140	JW	.60	330.00	198.00
08/19/15	Set up case and processing specifications and upload electronic mail files for production and attorney review in Relativity	В910	HLY	2.60	260.00	676.00
08/19/15	Work on master chart of settlement negotiations for Jim Walter Resources, Inc.'s pending workers' compensation matters for J.Hargrove's use	B250	СКМ	1.00	230.00	230.00
08/19/15	Emails with K.Power regarding status of OCP order and next steps in process	B160	ССМО	.20	495.00	99.00
08/19/15	Draft summary of employment application status for disclosure statement	B320	ССМО	.20	495.00	99.00
08/19/15	Review proposed order on Steering Committee Motion to Intervene (Dominion AP) and emails with H.Lahr regarding same	В910	ССМО	.20	495.00	99.00
08/19/15	Work on application to employ special counsel to pursue BP claims	B160	ССМО	.70	495.00	346.50



PAGE 216 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Prepare response regarding UCC request for information regarding derivative actions	B280	ССМО	.60	495.00	297.00
08/19/15	Email with M.Mataya regarding service termination by Berry Water Works and call to Berry Water Works	В210	ССМО	.20	495.00	99.00
08/19/15	Respond to request for information from Birmingham Water Works Board	B210	ССМО	.30	495.00	148.50
08/19/15	Research regarding response to cash collateral objections	в330	ССМО	.40	495.00	198.00
08/19/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	В110	VCW	7.70	240.00	1,848.00
08/19/15	Compile list of notice parties and information for schedules	в110	KAK	1.20	235.00	282.00
08/19/15	Respond to inquiries from creditors and utilities regarding bankruptcy	B280	JRB	.40	610.00	244.00
08/19/15	Continue revisions to disclosure statement (3.60); confer with co-counsel regarding sections in disclosure statement regarding litigation, events leading to chapter 11, and events in chapter 11 (.60); conference call with other professionals regarding plan issues (.70); circulate draft of revised disclosure statement (.20); analyze issues concerning disclosure of professionals' employment applications (.30)	в320	JRB	5.40	610.00	3,294.00



PAGE 217 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Conference with J.Bender regarding upcoming hearing on cash collateral order (.10); review and comment on redlined proposed orders (.10); email exchange regarding Protective Order in Dominion litigation (.10)	В910	DCB	.30	580.00	174.00
08/19/15	Telephone conference with Alabama Department of Revenue counsel on 2011 audit	B240	CRG	.20	530.00	106.00
08/19/15	Review of asset purchase agreement revisions	в130	TMT	1.80	495.00	891.00
08/19/15	Conference with J.Avery on comments to revised response to creditors' initial draft of 363 asset purchase agreement (.10); review revised response to creditors' initial draft of 363 asset purchase agreement (2.00)	B130	JKM	2.10	575.00	1,207.50
08/19/15	Discussions regarding Protective Order for UCC documents (.40) and Dominion (.30) and reconcile drafts (.40)	B910	JDWA	1.10	480.00	528.00
08/19/15	E-mails from and to S.Brown regarding NLRB/UMWA arbitration and lawsuit issues	в250	JDWA	.40	480.00	192.00
08/19/15	E-mails with R.Kravitz, J.Woodrum regarding UMWA meeting and follow-up	в250	JDWA	.40	480.00	192.00
08/19/15	E-mails with E.Doppelt regarding UMWA negotiating status	B250	JDWA	.30	480.00	144.00



PAGE 218 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Review and analysis regarding Blackstone e-mail download and processing for UCC discovery	В910	JDWA	.70	480.00	336.00
08/19/15	E-mails with J.Bender, J.Hargrove regarding disclosure issues involving JWR/UMWA litigation / arbitration (.30); work on draft disclosure statement (.30)	B320	JDWA	.60	480.00	288.00
08/19/15	Review draft APA from Paul Weiss and outline for discussion	в130	SJT	.90	630.00	567.00
08/19/15	Provide case update for G.Hensley	B250	JWH	.10	515.00	51.50
08/19/15	Work on relief from stay issue for workers' compensation cases	B140	JWH	.20	515.00	103.00
08/19/15	Prepare strike contingency planning points for conference call (.40); attend and participate in telephone conference concerning security issues (.70); work on draft of picketing line conduct issues (.50); telephone conference with all mine managers regarding same (.30)	B250	JWH	1.90	515.00	978.50
08/19/15	Review revisions to proposed Dominion orders and comment	В910	JPD	.20	725.00	145.00
08/19/15	Review UCC protective order (.10); comment (.10); review draft email to UCC regarding production (.10)	В910	JPD	.30	725.00	217.50
08/19/15	Review Blackstone retention issues (.30); discuss with S.Zelin (.20); discuss with client (.20); email A.Schlesinger regarding documents (.10)	B160	JPD	.80	725.00	580.00



PAGE 219 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/19/15	Conference with B.Harvey and B.Chopin regarding reporting and disclosure issues and case administration	В110	JPD	.40	725.00	290.00
08/19/15	Respond to vendor inquiry regarding credit issues and claims	B280	JPD	.20	725.00	145.00
08/19/15	Prepare plan and disclosure statement	в320	JPD	1.30	725.00	942.50
08/19/15	Correspond with C.Wick (.20); and client (.10); regarding conversion of tower lease to easement	B120	JPD	.30	725.00	217.50
08/20/15	Call from S.Olen regarding BP claim	B120	JPD	.20	725.00	145.00
08/20/15	Review research regarding allowance of administrative claim (.20); respond to creditor inquiry (.10)	B280	JPD	.30	725.00	217.50
08/20/15	Prepare for (.20) and attend (.20) opening 341 meeting; review status operating reports (.10); meet with B.Chopin regarding same (.20)	B110	JPD	.70	725.00	507.50
08/20/15	Review UCC discovery issues and discuss with co-counsel (.20); email litigators regarding protective order (.10)	В910	JPD	.30	725.00	217.50
08/20/15	Research and analyze diminution issues regarding cash collateral (.50); discuss with counsel (.20)	в330	JPD	.70	725.00	507.50
08/20/15	Review open APA and bid procedures issues and comment	в130	JPD	.40	725.00	290.00



PAGE 220 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/20/15	Review questions regarding schedule preparation and discuss with client	в120	JPD	.30	725.00	217.50
08/20/15	Research litigation issues regarding release of claims	в330	JPD	.30	725.00	217.50
08/20/15	Review updated UMWA presentation (.40); prepare for due diligence meeting (.10)	B250	JPD	.50	725.00	362.50
08/20/15	Prepare disclosure statement	в320	JPD	.80	725.00	580.00
08/20/15	Respond to creditor inquiry regarding claim	B280	JPD	.10	725.00	72.50
08/20/15	Research easement issues regarding cell towers	в120	JPD	.20	725.00	145.00
08/20/15	Work on question response regarding UMWA contributions for disclosure statement	в320	JWH	.30	515.00	154.50
08/20/15	Work on strike contingency issue for M.Hall	в250	JWH	.60	515.00	309.00
08/20/15	Conference with J.Molen and T.Thompson regarding additional changes to APA draft to provide Paul Weiss and participate in call with Paul Weiss, BABC and Walter to discuss APA draft and issues regarding same	B130	SJT	2.60	630.00	1,638.00
08/20/15	Review West VA counsel markup of draft APA (.30); review Paul Weiss version of APA for discussions today (.90); review West VA section of APA (.20) and call with Kip Power, West VA counsel, to discuss West VA procedures for transfer of coal mining permits and other West VA	B130	SJT	3.30	630.00	2,079.00



PAGE 221 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	issues (1.40); prepare West VA schedules to APA (.50)					
08/20/15	Review UMWA materials and presentation (.50); e-mails with E.Doppelt, A.Arffa, J.Woodrum regarding UMWA materials and expert testimony (.20)	B250	JDWA	.70	480.00	336.00
08/20/15	Prepare responses regarding UCC questions about class action settlement, derivative cases (.40); calls to S.Martin regarding UCC questions (.30)	В910	JDWA	.70	480.00	336.00
08/20/15	E-mails and work regarding Zelin/Blackstone e-mails and production for UCC	В910	JDWA	1.30	480.00	624.00
08/20/15	E-mails with J.Bender, J.Hargrove regarding union information for disclosure statement	B250	JDWA	.40	480.00	192.00
08/20/15	E-mails with J.Long regarding documents to be produced to Alabama Department of Revenue	B240	JDWA	.20	480.00	96.00
08/20/15	Trial prep for cash collateral hearing	в910	JDWA	.30	480.00	144.00
08/20/15	E-mails with J.Bender, L.Shumejda regarding litigation and Walter Coke revisions to disclosure statement	В910	JDWA	.40	480.00	192.00
08/20/15	Review revised response to creditors' initial draft of 363 asset purchase agreement (1.30); prepare for and telephone conference with West Virginia counsel on permit/license issues (.80); conference with T.Thompson on issues in	B130	JKM	6.50	575.00	3,737.50



PAGE 222 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	revised response draft to creditors' initial draft of 363 asset purchase agreement (.10); review comments from West Virginia counsel on revised response draft to creditors' initial draft of 363 asset purchase agreement (.20); telephone conference with client and Paul Weiss on revised response to creditors' initial draft of 363 asset purchase agreement and post-call internal review of follow-up issues (1.70); prepare comments on revised response to creditors' initial draft of 363 asset purchase agreement (2.40)					
08/20/15	Prepare email summarizing disputes regarding draft protective orders in Dominion litigation	В910	DCB	.70	580.00	406.00
08/20/15	Review APA revisions and prepare for conference call regarding same (2.30); e-mail to Paul Weiss (.20); prepare for conference call (.40); conference call with Paul Weiss, BABC and Company 363 sale teams regarding purchase agreement (1.50); conferences with J.Molen and S.Trant regarding further revisions to draft (1.30)	B130	ТМТ	5.70	495.00	2,821.50
08/20/15	Continue revisions to disclosure statement (2.8); analyze disclosure issues concerning union contracts (.3)	в320	JRB	3.10	610.00	1,891.00
08/20/15	Confer with client and AlixPartners regarding bankruptcy schedules and SOFAs issues	в110	JRB	.60	610.00	366.00



PAGE 223 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/20/15	Analyze issues concerning cash collateral motion and objections to same	в330	JRB	.40	610.00	244.00
08/20/15	Prepare for and participate in conference call with client and co-counsel regarding asset purchase agreement draft and schedules to same (1.4); follow-up meeting with asset sale legal team regarding schedules for asset purchase agreement and other action items (.4)	B130	JRB	1.80	610.00	1,098.00
08/20/15	Work on response to creditor committee inquiries about settlement of D&O litigation	В910	JRB	.20	610.00	122.00
08/20/15	Update summary of case deadlines	в320	KAK	.40	235.00	94.00
08/20/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	10.30	240.00	2,472.00
08/20/15	E-mails to and from K.Gillikin, Alabama Department of Revenue Counsel, on pending 2011 audit for Alabama Department of Revenue	B240	CRG	.30	530.00	159.00
08/20/15	Phone call with Berry Water Works regarding termination of service (.20) and emails with M.Mataya regarding status of service resumption (.10) and review utilities order regarding same (.20)	B210	ССМО	.50	495.00	247.50



PAGE 224 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/20/15	Revise motion to expedite hearing on Blackstone application (.40); multiple emails with J.Bailey and K.Manoukian regarding setting Blackstone application for expedited hearing (.20)	B160	ССМО	.60	495.00	297.00
08/20/15	Draft application to employ special counsel to pursue BP claims and supporting declarations	В160	ССМО	1.30	495.00	643.50
08/20/15	Analysis of legal issues relating to retention of professionals under section 328(a)	В160	ССМО	.40	495.00	198.00
08/20/15	Multiple emails with J.Lamar regarding MCG's retention as special counsel to pursue BP claims	В160	ССМО	.20	495.00	99.00
08/20/15	Research regarding state court derivative actions to respond to UCC request (.30) and prepare response (.30)	В910	ССМО	.60	495.00	297.00
08/20/15	Review draft omnibus response to objections to cash collateral order and RSA (.60); research objections (.50)	В330	ССМО	1.10	495.00	544.50
08/20/15	Review cash collateral orders from multiple chapter 11 cases from this district to identify treatment of adequate protection payments	B330	ССМО	.90	495.00	445.50
08/20/15	Research and analysis of 11th circuit precedent regarding adequate protection payments	в330	ССМО	1.30	495.00	643.50
08/20/15	Reviewed UMWA proposal discussion	B250	ССМО	.40	495.00	198.00



PAGE 225 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/20/15	Correspondence with W.Simkulak regarding ACE bond terminations and cash collateral issues	В280	ССМО	.20	495.00	99.00
08/20/15	Correspondence with Kip Powers regarding OCP issues	в160	ССМО	.20	495.00	99.00
08/20/15	Email from D.Black regarding Dominion protective order and reviewed markup of proposed protective order	В910	ССМО	.20	495.00	99.00
08/20/15	Process and review emails to prepare e-discovery response to UCC	В910	SME	2.20	310.00	682.00
08/20/15	Research and analysis on administrative expenses, priority and discharge	в320	JW	2.30	330.00	759.00
08/20/15	Call with G.Hensley regarding litigation	в910	JW	.20	330.00	66.00
08/20/15	E-mails with G.Hensley regarding stay relief for workers' compensation matters	в140	JW	.30	330.00	99.00
08/20/15	Research and analysis regarding cash collateral order	в330	JW	1.60	330.00	528.00
08/20/15	E-mails with G.Hensley regarding utilities	B210	JW	.10	330.00	33.00
08/20/15	Review e-mail from K.Gillikin, Alabama Department of Revenue, requesting statute waiver for 2011 and additional information to complete audit	B240	JEL	.20	430.00	86.00



PAGE 226 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/20/15	Conference with J.Watson regarding production of documents requested by Alabama Department of Revenue for deposition of Bruce Hamilton	B240	JEL	.20	430.00	86.00
08/20/15	Respond to clerk inquiry regarding hearing on Blackstone application	B160	JB	.10	375.00	37.50
08/20/15	Research and revise motion to approve disclosure statement	в320	JB	.80	375.00	300.00
08/20/15	Emails with opposing counsel regarding status of workers compensation claims	B280	JB	.20	375.00	75.00
08/20/15	Review and revise inserts to disclosure statement	в320	JB	.40	375.00	150.00
08/20/15	Finalize and arrange for filing of monthly operating report and conference with B.Chopin regarding same	В110	JB	.40	375.00	150.00
08/20/15	Review proof of claim delivered to BABC, arrange for proper filing, and e-mail claimant regarding same	В310	JB	.30	375.00	112.50
08/20/15	Research in support of cash collateral motion	в330	JB	.40	375.00	150.00
08/21/15	Conference with C.Grissom regarding response to ADOR request for statute waiver for 2011 and impact on review of additional information submitted for 2009 and 2010	B240	JEL	.30	430.00	129.00



PAGE 227 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/21/15	Review proof of claim delivered to office and arrange for delivery to bankruptcy court	B310	JB	.20	375.00	75.00
08/21/15	Draft and revise exhibits for solicitation procedures	в320	JB	3.20	375.00	1,200.00
08/21/15	Review UCC comments to proposed final orders and prepare response to same	B110	JB	.60	375.00	225.00
08/21/15	Call with G.Hensley regarding litigation status	в910	JW	.60	330.00	198.00
08/21/15	Facilitate production of documents for UCC August 10 document request	В910	SME	.60	310.00	186.00
08/21/15	Multiple emails with Paul Weiss team and client regarding UCC discovery requests (.20) and work on production (.40)	В910	ССМО	.60	495.00	297.00
08/21/15	Analyze credit-related request from vendor IDC and correspondence with M.Mataya regarding same	В210	ССМО	.40	495.00	198.00
08/21/15	Prepare schedules and SOFAs (.70); review legal analysis of lease and executory contract issues regarding same (.40)	B110	ССМО	1.10	495.00	544.50
08/21/15	Phone call with P.Darby and J.Lamar regarding application to employ special counsel to pursue BP claims	B160	ССМО	.30	495.00	148.50
08/21/15	Negotiate ACE cash collateral request changes	в330	ССМО	.30	495.00	148.50



PAGE 228 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/21/15	Review UCC comments and steering committee comments on critical vendors, shippers and NOL orders and Dominion TRO (.30); harmonize comments and discuss (.40) and draft changes (.50)	B110	ССМО	1.20	495.00	594.00
08/21/15	Revise application to employ special counsel to pursue BP claims to reflect discussions with Steve Olen (.80); discuss with client and counsel (.30)	B160	ССМО	1.10	495.00	544.50
08/21/15	Draft form notice of filing OCP declaration	B160	ССМО	.20	495.00	99.00
08/21/15	Correspondence with J.Lamar regarding declaration in support of application to employ special counsel	B160	ССМО	.20	495.00	99.00
08/21/15	Finalize and submit to the Court proposed orders on Dominion TRO application and motion to reconsider cash management order	B910	ССМО	.20	495.00	99.00
08/21/15	Review revisions to Plan and comment	в320	ССМО	.30	495.00	148.50
08/21/15	Conference with J.Long on proposal from Alabama Department of Revenue re: income tax assessment for 2001 and information request and statute waiver on same	B240	CRG	.30	530.00	159.00
08/21/15	Conference with J.Long and K.McBride re: Alabama Department of Revenue 2011 audit and waiver issues	B240	CRG	.30	530.00	159.00



PAGE 229 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/21/15	Review and comment on proposed revisions to draft orders on motions to reconsider Cash Management Order and Application for TRO (.90); email to and telephone conference with M.Brimmage regarding same (.20)	В910	DCB	1.10	580.00	638.00
08/21/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	10.40	240.00	2,496.00
08/21/15	E-mails to and from Walter team on statute of limitations waiver from Alabama Department of Revenue for 2011 tax year assessment	B240	CRG	.20	530.00	106.00
08/21/15	Update summary of case deadlines	B320	KAK	2.80	235.00	658.00
08/21/15	Review draft assets schedules and e-mail to client regarding same (.5); confer with AlixPartners and co-counsel regarding finalization of schedules (.6); e-mail to client regarding questions regarding assets and liabilities and scheduling of same (.6)	B110	JRB	1.70	610.00	1,037.00
08/21/15	Confer with M.Mataya and co-counsel regarding vendor questions and inquiries (.5); respond to creditor inquiries (.2)	B280	JRB	.70	610.00	427.00
08/21/15	Confer with client regarding utility issues (.4); confer with E.Ray regarding Alabama Power issues (.2); confer with co-counsel and financial advisors regarding Alabama Power issues and proposed mine work (.5); review e-mail from E.Ray and proposed contract and	B210	JRB	1.30	610.00	793.00



PAGE 230 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
	circulate same to Walter working group (.2)					
08/21/15	Review draft plan and disclosure statement and propose revisions to same	В320	JRB	.90	610.00	549.00
08/21/15	Review research memorandum regarding methane gas issues and analyze issues relating to same	в120	JRB	.60	610.00	366.00
08/21/15	Review correspondence from creditors' representatives and counsel regarding information requests	B280	JRB	.30	610.00	183.00
08/21/15	Review revisions to Burr Forman list of permits and questions with responses and conference with J.Molen	B130	SJT	.40	630.00	252.00
08/21/15	Review most recent contract proposals	B250	JWH	.50	515.00	257.50
08/21/15	Work on potential picket line issues for J.Aldrich and M.Hall (1.40); discuss with J.Watson (.10)	B250	JWH	1.50	515.00	772.50
08/21/15	E-mails with J.Hargrove regarding security, strike planning	B250	JDWA	.10	480.00	48.00
08/21/15	Work on document production to UCC	в910	JDWA	1.20	480.00	576.00
08/21/15	E-mails to S.Martin regarding securities cases, insurance coverage (.40); compile analysis and production to UCC (.20)	В910	JDWA	.60	480.00	288.00
08/21/15	Review and comment on lender group revisions to Dominion Trust orders	В910	JPD	.20	725.00	145.00



PAGE 231 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/21/15	Research adequate protection and stay issues and analyze objection arguments (.80); discuss trial preparation with K.Cornish and S.Shimshack (.40)	B330	JPD	1.20	725.00	870.00
08/21/15	Prepare schedules and analyze various asset and claim classification questions with client and professionals	В120	JPD	.60	725.00	435.00
08/21/15	Review Alabama Power mine contract (.30); analyze issues regarding same (.10); discuss with client and professionals (.30)	B210	JPD	.70	725.00	507.50
08/21/15	Review insurance issues regarding settlement of securities litigation	в910	JPD	.20	725.00	145.00
08/21/15	Prepare for (.20) and attend (2.40) due diligence meeting with UMWA	в250	JPD	2.60	725.00	1,885.00
08/21/15	Conference call with J.Lamar regarding BP application (.20); review 504 issues (.10); discuss with client (.20) and S.Olen (.20)	B160	JPD	.70	725.00	507.50
08/21/15	Review and comment on UCC comments to proposed first day orders	B110	JPD	.20	725.00	145.00
08/22/15	Conference with E.Doppelt regarding general case status and strategy	B210	JPD	.40	725.00	290.00
08/22/15	Prepare schedules and statement of financial affairs	B110	JPD	.60	725.00	435.00
08/22/15	Review UCC production issues	в910	JPD	.20	725.00	145.00



PAGE 232 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/22/15	E-mails from and to S.Merkle, D.Cederquist regarding production of imaged documents for UCC	в910	JDWA	.10	480.00	48.00
08/22/15	Begin review of Alabama operating permits	B130	JKM	.50	575.00	287.50
08/23/15	E-mail K.Cornish regarding conference call for UCC discovery issues	в910	JDWA	.10	480.00	48.00
08/23/15	Review comments to disclosure statement	в320	JPD	.40	725.00	290.00
08/23/15	Draft and revise proposed order and ballots for solicitation procedures	B320	JB	3.30	375.00	1,237.50
08/24/15	Research in support of omnibus response to cash collateral objections	B330	JB	1.80	375.00	675.00
08/24/15	Conference and emails with Waste Management representative regarding utilities order (.30); email J.Alix regarding support information (.10)	B210	JB	.40	375.00	150.00
08/24/15	Work on responses to creditor committee requests for documents	B280	JB	.30	375.00	112.50
08/24/15	Emails regarding proposed revisions to the Bar Date Order (.20) ; revise bar date order to comply with various comments (.30)	В310	JB	.50	375.00	187.50
08/24/15	Conference and emails with P.Walsh of KCC regarding draft solicitations procedures	в320	JB	.30	375.00	112.50



PAGE 233 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	Finalize and conference with KCC regarding filing and service of OCP declaration	B160	JB	.40	375.00	150.00
08/24/15	Advise client on revisions to notice of revised RSA assumption order and emails to KCC regarding same	B110	JB	.30	375.00	112.50
08/24/15	Emails with BA regarding monthly operating report	в110	JB	.10	375.00	37.50
08/24/15	Review letter and proof of claim purportedly filed by state of Louisiana and analyze priority	в310	JB	.20	375.00	75.00
08/24/15	Emails with counsel for sureties regarding status of hearings and proposed orders	B280	JB	.10	375.00	37.50
08/24/15	Prepare schedules for filing	B110	JB	.10	375.00	37.50
08/24/15	Emails with clerk regarding status of Blackstone hearing	B160	JB	.10	375.00	37.50
08/24/15	Research and revise disclosure statement motion and related exhibits including ballots	B320	JB	1.80	375.00	675.00
08/24/15	Draft Power of Attorney for 2011 Alabama Department of Revenue income tax audit of Walter Energy and certain subsidiaries		JEL	.30	430.00	129.00
08/24/15	Work on schedules and statement of financial affairs	в110	JW	1.70	330.00	561.00



PAGE 234 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	Email to J.Watson and D.Black regarding discovery and production	В910	SME	.10	310.00	31.00
08/24/15	Review discovery issues regarding UCC production (.60); discuss with J.Watson (.20) and E.Doppelt (.20) and email counsel regarding same (.20)	B910	JPD	1.20	725.00	870.00
08/24/15	Review and revise disclosure statement	в320	JPD	1.30	725.00	942.50
08/24/15	Review APA issues with lender and discuss with client	B130	JPD	.20	725.00	145.00
08/24/15	Review Cardno Blue Creek Energy Technical Study(.50); E-mails with K.Cornish regarding Blue Creek Technical Study (.20); analyze production issues and discuss with litigation team (.50)	B910	JDWA	1.20	480.00	576.00
08/24/15	E-mail from and to E.Doppelt, A.Arffa regarding production request for Board minutes (.40); review same (.20)	В910	JDWA	.60	480.00	288.00
08/24/15	E-mails with P.Tarry, J.Watkins regarding updated litigation list for schedules	B110	JDWA	.30	480.00	144.00
08/24/15	Review Akin comments to plan	в320	JDWA	.20	480.00	96.00
08/24/15	Review 2nd Interrogatories and Requests for Production from UCC	В910	JDWA	.20	480.00	96.00
08/24/15	Conference call with MoFo regarding cash collateral issues	в910	JDWA	.50	480.00	240.00



PAGE 235 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	E-mail with S.Merkle regarding Protective Oder for UCC documents	В910	JDWA	.10	480.00	48.00
08/24/15	E-mail with C.Grissom regarding documents to Alabama Department of Revenue	B240	JDWA	.10	480.00	48.00
08/24/15	Work on gate posting and picketing issues (.50); Draft handout for supervisors and salaried employees attempting to work (1.10)	B250	JWH	1.60	515.00	824.00
08/24/15	Research and summarize Alabama mining license application process (.60); review client information regarding permits (.40); research and analyze transfer issues (.60); draft summary for Burr Forman (.50)	B130	SJT	2.10	630.00	1,323.00
08/24/15	Review APA schedules and respond to request for comment	в130	SJT	.20	630.00	126.00
08/24/15	Conference with S.Trant on updated permit list from client (.10); review emails from K.Love on updated permit list (.10)	B130	JKM	.20	575.00	115.00
08/24/15	Review correspondence regarding asset purchase agreement (.2); confer with co-counsel regarding preparation of schedules for asset purchase agreement and issues regarding permits and licenses (.2)	B130	JRB	.40	610.00	244.00
08/24/15	Review and comment upon revised disclosure statement	в320	JRB	1.10	610.00	671.00



PAGE 236 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	Analyze surety questions and review correspondence regarding same	B280	JRB	.20	610.00	122.00
08/24/15	Review draft schedules and SOFA's with client and AlixPartners and discuss issues relating to same (3.70); call and e-mail with R.Fleder regarding questions about retirement and benefit plans (.20); continue work on preparation of schedules, SOFAs, and global notes pertaining to same (.80)	B110	JRB	4.70	610.00	2,867.00
08/24/15	Phone call with in-house counsel for Jim Walter vendor regarding claim and contract issues (.5); confer with M.Mataya regarding same (.2)	B210	JRB	.70	610.00	427.00
08/24/15	Review correspondence from Bankruptcy Administrator regarding monthly operating report and call B.Gaines (.1); confer with AlixPartners regarding report questions (.1)	B110	JRB	.20	610.00	122.00
08/24/15	Review information regarding permits and schedules (.40); review draft disclosure schedule document from Paul Weiss (.70)	B130	TMT	1.10	495.00	544.50
08/24/15	Review and file Ordinary Course Professional declaration for Robinson McFadden & Moore with court filing system in pending worker's compensation matters	B160	KAK	.30	235.00	70.50



PAGE 237 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	Draft responses to cash collateral objections (.30); review local precedent granting adequate protection payments in cash collateral orders (.40)	в330	ССМО	.70	495.00	346.50
08/24/15	Drafted form Notice of filing OCP Declaration and work regarding service issues (.30); emails with K.Manoukian regarding OCP Declarations and notices (.10)	B160	ССМО	.40	495.00	198.00
08/24/15	Analyze and respond to request by ACE for additional language in cash collateral order	B330	ССМО	.40	495.00	198.00
08/24/15	Research issues raised by revisions to Plan	в320	ССМО	.80	495.00	396.00
08/24/15	Multiple emails with P.Chen, J.Bailey and A.Young regarding revisions to Bar Date Order	B110	ССМО	.30	495.00	148.50
08/24/15	Emails with M.Mataya regarding trade agreement under possessory liens order	B210	ССМО	.20	495.00	99.00
08/24/15	Phone calls and emails with client and counsel regarding termination of ACE bonds issued to HighMount entities	B210	ССМО	.30	495.00	148.50
08/24/15	Prepare response to UCC discovery request	в910	ССМО	.40	495.00	198.00
08/24/15	Review possessory liens order and drafted vendor agreement to comport with terms of order	B210	ССМО	.40	495.00	198.00



PAGE 238 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/24/15	Reviewed proof of claim filed by NLRB and analyze priority	B310	ССМО	.20	495.00	99.00
08/24/15	Email with M.Plangman regarding KPMG engagement letter and reviewed letter	B160	ССМО	.20	495.00	99.00
08/24/15	Reviewed orders granting steering committee motion to intervene and denying Dominion's motion for TRO	В910	ССМО	.10	495.00	49.50
08/24/15	Reviewed BA's appointment of section 1114 retired employees committee	B110	ССМО	.10	495.00	49.50
08/24/15	Work regarding application to employ special counsel to pursue BP claims	B160	ССМО	.40	495.00	198.00
08/24/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	7.60	240.00	1,824.00
08/24/15	Email exchange with Steering Committee counsel regarding protective order issues	B910	DCB	.20	580.00	116.00
08/24/15	E-mails to and from K.Gillikin, Alabama Department of Revenue Counsel, on pending 2011 audit and document information request (.30); work on production (.20)	в240	CRG	.50	530.00	265.00
08/24/15	Review matters and draft response with assorted documents relating to replacement settlement checks	В910	СКМ	.30	230.00	69.00
08/25/15	Review order denying Dominion motion to reconsider	в910	ССМО	.10	495.00	49.50



PAGE 239 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Negotiation of additional language to cash collateral order requested by ACE (.30); revise same (.20)	B330	ССМО	.50	495.00	247.50
08/25/15	Multiple emails with J.Bailey and A.Young regarding Notice of Amended RSA Order and procedures for submitting revisions to proposed orders	B110	ССМО	.20	495.00	99.00
08/25/15	Emails with M.Riela of E&Y regarding hearing on E&Y employment application	B160	ССМО	.20	495.00	99.00
08/25/15	Emails with J.McMillin and W.Simkulak regarding termination of bonds issued to High Mount entities	B210	ССМО	.20	495.00	99.00
08/25/15	Correspondence with M.Mataya and J.Bender regarding KMCL/ordinary course professional law firm	B160	ССМО	.30	495.00	148.50
08/25/15	Reviewed ordinary course professionals order to address question raised by M.Mataya regarding OCP firm	B160	ССМО	.20	495.00	99.00
08/25/15	Preparation regarding hearing on Blackstone employment application	в160	ССМО	.20	495.00	99.00
08/25/15	Correspondence with client regarding Microsoft licensing issues	B210	ССМО	.20	495.00	99.00
08/25/15	Multiple emails with A.Young and E.Richards regarding UCC revisions to critical vendors, shippers, and bar date orders and plan for communicating revisions to orders to parties in interest	B110	ССМО	.30	495.00	148.50



PAGE 240 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Correspondence with conflicts team regarding updated conflicts matrix for use in connection with application to employ special counsel (.20); update same regarding PriceWaterhouse addition to OCP list (.20)	B160	ССМО	.40	495.00	198.00
08/25/15	Emails with M.Plangman from KPMG regarding status of employment application and hearing procedures	B160	ССМО	.20	495.00	99.00
08/25/15	Emails with Richards and A.Young regarding objections to NOL Motion	B110	ССМО	.20	495.00	99.00
08/25/15	Review supplemental joinder by Ramsay McCormack to Dominion's objection to cash collateral order (.20); review supplemental joinder by WHH to Dominion's objection to cash collateral (.20); update research and analysis (.40)	B330	ССМО	.80	495.00	396.00
08/25/15	Phone call with Steve Olen regarding revisions to Cunningham Bounds employment application (.50); revise and update same (.20)	B160	ССМО	.70	495.00	346.50
08/25/15	Communications with V.Wilhite regarding status of voided settlement checks for pending workers' compensation matters and preparation for removal of pending workers' compensation matters from the administrative dockets for Judge A.Verin and Judge J.England	В910	СКМ	.20	230.00	46.00
08/25/15	Update summary of case deadlines	B110	KAK	.30	235.00	70.50



PAGE 241 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Work on documentation of Appalachian adequate assurance agreement (.9); confer with client and AlixPartners regarding terms of same (.2); e-mails with Appalachian counsel regarding agreement (.1)	B210	JRB	1.20	610.00	732.00
08/25/15	Review schedules (.30); confer with AlixPartners and client regarding issues pertaining to bankruptcy schedules and statement of financial affairs (.90); revise global notes regarding schedules and statements of financial affairs and circulate same for review (1.10); analyze issues pertaining to certain labor and employment claims and presentation of same in schedules and schedules of financial affairs and discuss with J.Hargrove (.30)	B110	JRB	2.60	610.00	1,586.00
08/25/15	Confer with M.Mataya regarding issues relating to retention of ordinary course professionals (.2); confer with M.Mataya and other client representatives regarding various insurance issues (.2)	B210	JRB	.40	610.00	244.00
08/25/15	Work on disclosure statement and plan drafts and review correspondence regarding same	в320	JRB	.50	610.00	305.00
08/25/15	Work on issues concerning upcoming omnibus hearings and potential conflicts involving same (.2); confer with J.Bailey regarding docketing issues (.1)	B110	JRB	.30	610.00	183.00



PAGE 242 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Research regarding West Virginia condemnation proceeding	в120	JRB	.30	610.00	183.00
08/25/15	Prepare disclosure statement schedules	в320	JKM	.10	575.00	57.50
08/25/15	Work on disclosure regarding federal black lung issues and discuss with J.Bender	В110	JWH	.30	515.00	154.50
08/25/15	Prepare for mine manager meeting involving strike issues and preparation	в250	JWH	.70	515.00	360.50
08/25/15	Trial preparation regarding Omnibus hearing	В910	JDWA	.90	480.00	432.00
08/25/15	E-mails to and from UCC regarding trial preparation	В910	JDWA	.20	480.00	96.00
08/25/15	Review revised UMWA presentation and discuss with client	в250	JDWA	.90	480.00	432.00
08/25/15	Review documents to be produced to Alabama Department of Revenue (.50) and email comments to tax counsel (.20)	B240	JDWA	.70	480.00	336.00
08/25/15	Review NLRB proof of claim and investigate fact and procedural background	в310	JDWA	.40	480.00	192.00
08/25/15	Conference call with MoFo etc. regarding cash collateral issues and discovery (.50); prepare for same (.20); review emails regarding valuation (.20); analyze discovery issues and work on production (.80)	В910	JDWA	1.70	480.00	816.00



PAGE 243 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Correspondence with client and co-counsel regarding board meeting and preparation	B210	JPD	.30	725.00	217.50
08/25/15	Conference with S.Zelin regarding Blackstone retention issues	B160	JPD	.20	725.00	145.00
08/25/15	Review revisions to proposed final first day orders and comment	B110	JPD	.30	725.00	217.50
08/25/15	Review transcript of TRO hearing regarding preparation for further proceedings in Dominion AP	B910	JPD	.30	725.00	217.50
08/25/15	Call from S.Porterfield regarding critical vendors	B280	JPD	.20	725.00	145.00
08/25/15	Conference call with trial team regarding preparation for contested cash collateral hearing (.50); analyze evidentiary issues, documents and exhibits (.80); and prepare trial outline for hearing (.60)	B910	JPD	1.90	725.00	1,377.50
08/25/15	Review cash collateral order and objections (.70); research (.60) and prepare legal arguments in response (.90)	B330	JPD	2.20	725.00	1,595.00
08/25/15	Work on discovery issues and responses regarding cash collateral and RSA	B910	JPD	.60	725.00	435.00
08/25/15	Call from creditor counsel regarding committee issues	B110	JPD	.20	725.00	145.00



PAGE 244 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/25/15	Review exchange with ALIX regarding permits for APA schedule and respond with additional permit information	B130	SJT	.50	630.00	315.00
08/25/15	Call with G.Hensley regarding litigation	в910	JW	.40	330.00	132.00
08/25/15	Conference with J.Watson regarding production of documents requested by Alabama Department of Revenue for deposition of B.Hamilton	B240	JEL	.10	430.00	43.00
08/25/15	Emails with P.Walsh and revisions to plan solicitation motion and ballots	в320	JB	1.80	375.00	675.00
08/25/15	Conference with clerk and emails regarding scheduling of Blackstone hearing	B160	JB	.20	375.00	75.00
08/25/15	Conference with clerk regarding improper case style caused by creditor filing	B110	JB	.10	375.00	37.50
08/25/15	Review notice and arrange for proper service of notice of hearing	B110	JB	.20	375.00	75.00
08/25/15	Emails with counsel for sureties regarding status of certain proposed orders and omnibus hearings	B280	JB	.30	375.00	112.50
08/25/15	Advise on procedure for revising OCP list and conferences regarding PWC retention	B160	JB	.30	375.00	112.50
08/25/15	Review supplemental objections to cash collateral motion filed by various parties	в330	JB	.20	375.00	75.00



PAGE 245 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Finalize and arrange for filing of OCP declaration and emails regarding same (.40); advise on status of employment applications and objection deadline (.10)	B160	JB	.50	375.00	187.50
08/26/15	Draft, revise, and arrange for filing of pro hac motions for Paul Weiss attorneys and emails regarding same (.70); emails regarding various pro hac motions (.20)	B110	JB	.90	375.00	337.50
08/26/15	Review letter and proof of claim from Louisiana Rev. Dept. and emails with Alix regarding same	B310	JB	.30	375.00	112.50
08/26/15	Revisions to NOL trading order and emails regarding same	B110	JB	.40	375.00	150.00
08/26/15	Conference with M.Hill of KCC regarding draft solicitation procedures motion (.10); draft and revise notice of filing Plan and Disclosure statement and emails regarding same (.40); finalize and arrange for filing and service of Plan, Disclosure Statement, and notice of filing same (.90); revisions to draft motion to approve disclosure statement and solicitation procedures (.80)	B320	JB	2.20	375.00	825.00
08/26/15	Revisions to bar date order and emails with counsel for UMWA, first lien trustee, and steering committee regarding same	В310	JB	.40	375.00	150.00
08/26/15	Review comments and revise critical vendor and shippers orders and emails with UCC counsel regarding drafts of same	B210	JB	.40	375.00	150.00



PAGE 246 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Initial review of various cash collateral objections and motion to file under seal regarding same (.60); begin preparations for omnibus hearing on cash collateral and RSA assumption including courtroom material preparation (.70)	B330	JB	1.30	375.00	487.50
08/26/15	Conference with C.Grissom regarding production of documents requested by Alabama Department of Revenue and depositions set for Sept. 23 and 24	B240	JEL	.20	430.00	86.00
08/26/15	Review supplemental objection to cash collateral order by Dominion Resources Trust and outline response (.40); research and analyze legal issues raised in Dominion supplemental objection (.80)	B330	ССМО	1.20	495.00	594.00
08/26/15	Revise response for litigation matter with respect to language on the automatic stay (.30); e-mails with G.Hensley and local litigation counsel regarding the automatic stay (.10); follow-up calls with local litigation counsel regarding the automatic stay (.40)	B910	JΜ	.80	330.00	264.00
08/26/15	Review AL Mining License Application summary with J.Molen (.20) and meet with J.Molen to analyze APA issues (.40)	в130	SJT	.60	630.00	378.00
08/26/15	Review W.VA permit list from D.Grucza and prepare for conference call	в130	SJT	.30	630.00	189.00



PAGE 247 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Review litigation schedule from bankruptcy (.30) and prepare disclosure (.10)	B130	SJT	.40	630.00	252.00
08/26/15	E-mails and call with A.Young regarding UCC call about derivative actions (.20); call with MoFo counsel regarding same (.40)	B280	JDWA	.60	480.00	288.00
08/26/15	E-mail from S.Brown regarding response to J.Cornelius in NLRB matter (.20); review response (.20); e-mails with J.Watkins regarding revisions to response (.30)	B250	JDWA	.70	480.00	336.00
08/26/15	Review filings by UCC and prepare for trial	В910	JDWA	1.60	480.00	768.00
08/26/15	E-mails regarding posting presentation to data site	в250	JDWA	.10	480.00	48.00
08/26/15	Conference call with MoFo, etc. regarding depositions (.40); prepare for depositions (.70)	В910	JDWA	1.10	480.00	528.00
08/26/15	Call from K.Cornish regarding follow-up with MoFo regarding depositions	в910	JDWA	.20	480.00	96.00
08/26/15	Meeting with S.Trant on preparation of 363 asset purchase agreement schedules (.60); work on preparation of 363 asset purchase agreement schedules (.60); telephone conference with C.Theil on Black Warrior companies issues (.20); begin review of Black Warrior companies documents (.20)	B130	JKM	1.60	575.00	920.00



PAGE 248 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Review revised disclosure statement and circulate comments regarding same to Paul Weiss attorney (1.30); review notice of filing plan and disclosure statement and comment regarding same (.20)	В320	JRB	1.50	610.00	915.00
08/26/15	Analyze issues concerning bankruptcy schedules and SOFAs and respond to questions regarding same	B120	JRB	1.20	610.00	732.00
08/26/15	Review revised plan and disclosure statement	в320	JPD	.40	725.00	290.00
08/26/15	Confer with litigation counsel regarding local rules and court admission	в110	JPD	.20	725.00	145.00
08/26/15	Confer with counsel regarding BP claims retention	B160	JPD	.10	725.00	72.50
08/26/15	Discovery review, response and strategy regarding CCO/RSA hearings, depositions and confer with client and counsel	В910	JPD	1.80	725.00	1,305.00
08/26/15	Prepare for depositions and trial preparation regarding cash collateral	в330	JPD	.60	725.00	435.00
08/26/15	Prepare for depositions and trial preparation regarding RSA hearing	в320	JPD	.30	725.00	217.50
08/26/15	Review and respond to UCC comments regarding trading motion	в110	JPD	.20	725.00	145.00
08/26/15	Review UMWA presentation and analyze disclosure issues (.20); discuss with client and team (.10)	B250	JPD	.30	725.00	217.50



PAGE 249 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Call from ConocoPhillips regarding production payments (.20); review proposal (.10)	B280	JPD	.30	725.00	217.50
08/26/15	Review multiple objections to RSA motion	в320	JPD	.30	725.00	217.50
08/26/15	Review multiple objections to cash collateral order	в330	JPD	.40	725.00	290.00
08/26/15	Review draft notice of plan and disclosure filing and comment	в320	JPD	.20	725.00	145.00
08/26/15	Work on schedules to asset purchase agreement	B130	JRB	.70	610.00	427.00
08/26/15	Review correspondence regarding ConocoPhillips relationship and confer with M.Mataya regarding same	B210	JRB	.80	610.00	488.00
08/26/15	Review committee objections to cash collateral motion and motion to assume restructuring support agreement	в330	JRB	1.10	610.00	671.00
08/26/15	Email exchange regarding Dominion's supplemental objection to cash collateral order	В910	DCB	.10	580.00	58.00
08/26/15	Electronically file pro hac vice motions for Paul Weiss attorneys in main bankruptcy case (.20); electronically file Ordinary Course Professional declaration (.20) and Notice of Filing of Plan (.10); update summary of case deadlines (.30)	B110	KAK	.80	235.00	188.00



PAGE 250 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Review, revise and confirm ordinary course professional declarations	B160	KAK	1.10	235.00	258.50
08/26/15	Dictate and finalized letter to Alabama Department of Revenue counsel enclosing documents for B.Hamilton deposition	B240	CRG	.40	530.00	212.00
08/26/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	B110	VCW	8.70	240.00	2,088.00
08/26/15	Phone call with M.Mataya regarding vendor issue	B210	ССМО	.20	495.00	99.00
08/26/15	Review final version of disclosure statement	в320	ССМО	1.30	495.00	643.50
08/26/15	Emails with ACE American Insurance counsel, regarding revisions to cash collateral order	в330	ССМО	.20	495.00	99.00
08/26/15	Work regarding conflicts issues for professional disclosures	B160	ССМО	.10	495.00	49.50
08/26/15	Multiple emails with P.Chen, and UCC counsel, and Steering Committee Counsel regarding revisions to proposed orders for matters set for hearing on 9/2.	B110	ССМО	.30	495.00	148.50
08/26/15	Revise application to employ special counsel to pursue BP claims and supporting declarations	B160	ССМО	1.20	495.00	594.00
08/26/15	Correspondence with L.Murphree regarding revisions to application to employ special counsel	B160	ССМО	.20	495.00	99.00



PAGE 251 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/26/15	Phone call with Steve Olen regarding Cunningham Bounds employment application	B160	ССМО	.20	495.00	99.00
08/26/15	Prepared OCP declaration of Robert Mowrey for filing	в160	ССМО	.20	495.00	99.00
08/26/15	Analyze potential settlement of Conoco issues regarding operating payments	B210	ССМО	.30	495.00	148.50
08/26/15	Analyze legal issues raised in UCC objection to cash collateral order	в330	ССМО	1.10	495.00	544.50
08/26/15	Analyze legal issues raised in UCC objection to RSA Assumption Motion	в320	ССМО	.70	495.00	346.50
08/26/15	Phone call with Adam Schlesinger at Blackstone regarding Blackstone employment application	В160	ССМО	.10	495.00	49.50
08/26/15	Work regarding amendment to OCP list	B160	ССМО	.30	495.00	148.50
08/26/15	Review UMWA Objection to Cash Collateral and RSA	в330	ССМО	.40	495.00	198.00
08/26/15	Review Second Lien Note Trustee objection to RSA assumption	в320	ССМО	.10	495.00	49.50
08/27/15	Review Walter Energy and subsidiary contracts to determine parties and notice provisions for Schedule G	В110	VCW	6.90	240.00	1,656.00
08/27/15	Review legal research on issues related to Dominion Trust litigation (.30); email exchange with counsel regarding same (.10); and vmail to C.Carson (.10)	B910	DCB	.50	580.00	290.00



PAGE 252 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Phone call with P.Tarry regarding capital lease issue and payments on same	B210	JRB	.20	610.00	122.00
08/27/15	Confer with J.Bailey regarding noticing issues	B110	JRB	.20	610.00	122.00
08/27/15	Confer with client about confidentiality agreement request	B210	JRB	.20	610.00	122.00
08/27/15	Analyze issues concerning executory contracts and extension of deadline for assuming real property leases	B260	JRB	.60	610.00	366.00
08/27/15	Phone call with P.Tarry of AlixPartners regarding questions regarding schedules (.3); draft insert to include in global notes for schedules and circulate same (.4); review correspondence regarding schedules and SOFA's and finalize same (.5)	В110	JRB	1.20	610.00	732.00
08/27/15	Confer with J.Molen regarding asset purchase agreement and schedules to same (.10); conference call with P.Tarry regarding asset purchase agreement issues (.50); review comments to asset purchase agreement draft (.60); review correspondence regarding asset purchase agreement and schedules to same (.40); conference with call S.Trant and AlixPartners regarding preparation of exhibits and tracking down information to assist with preparation of same (.70); phone calls with client's in-house counsel regarding compiling information for asset purchase agreement schedules (.30)	B130	JRB	2.60	610.00	1,586.00



PAGE 253 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Review research on Dominion contract and prepare motion to reject	B260	JPD	.40	725.00	290.00
08/27/15	Attend internal (.90) and lender (1.0) calls regarding status of UMWA negotiations; discuss debriefing with J.Watson (.40)	B250	JPD	2.30	725.00	1,667.50
08/27/15	Attend Board of directors meeting	B210	JPD	.40	725.00	290.00
08/27/15	Work on discovery issues and production to UCC	в910	JPD	.70	725.00	507.50
08/27/15	Research lease rejection issues and extension of deadlines (.20); discuss with counsel (.10); and prepare motion (.10)	B260	JPD	.40	725.00	290.00
08/27/15	Review objection to RSA assumption, supporting affidavit, research and prepare for hearing	B260	JPD	.60	725.00	435.00
08/27/15	Review objections to cash collateral orders supporting evidence, research and prepare for hearing	B330	JPD	.80	725.00	580.00
08/27/15	Analyze 363 sale issues (.30); preparation of schedules and exhibits (.20) discuss with counsel (.10)	B130	JPD	.60	725.00	435.00
08/27/15	Review recoupment issues regarding gas leases	в310	JPD	.20	725.00	145.00
08/27/15	Review budget issues and discuss with financial advisors	в330	JPD	.30	725.00	217.50



PAGE 254 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Conference with P.Darby regarding preparation for external UMWA debrief (.40); conference call regarding UMWA debrief (external) (1.0)	B250	JDWA	1.40	480.00	672.00
08/27/15	E-mails with S.Merkle, P.Darby regarding documents produced to UCC	B910	JDWA	.30	480.00	144.00
08/27/15	Conference call (internal) regarding UMWA debrief	B250	JDWA	.90	480.00	432.00
08/27/15	Review Section 365(d)(4) deadlines and possible extension argument	B260	JDWA	.30	480.00	144.00
08/27/15	E-mails regarding possible depositions of UCC experts (.10); outline and prepare for depositions (.30) and discuss with opposing counsel (.40)	B910	JDWA	.80	480.00	384.00
08/27/15	Review Dominion witness and exhibit list for cash collateral hearing	B910	JDWA	.10	480.00	48.00
08/27/15	E-mail from E.Doppelt regarding media update	B210	JDWA	.10	480.00	48.00
08/27/15	E-mails regarding Concord Fire District invoice (.20) and evaluate stay effect (.10)	В310	JDWA	.30	480.00	144.00
08/27/15	E-mails regarding confidentiality agreement for USW	в250	JDWA	.20	480.00	96.00
08/27/15	Meet with all miner managers and W.Sheller and R.Donely about strike contingency plans and return from Brookwood	B250	JWH	3.90	515.00	2,008.50



PAGE 255 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Research and review current UMWA actions at other mines for possible response (.50); draft and revise documents (.70)	B250	JWH	1.20	515.00	618.00
08/27/15	Review permits and various permit listings in preparation for call (.80); conference with J.Molen and review APA schedule requested by Paul Weiss for APA (.50)	B130	SJT	1.30	630.00	819.00
08/27/15	Call with J.Bender and P.Terry (Alix) regarding schedules and permits (.70); review schedules and email same to client with instructions and request for assistance (.90)	B130	SJT	1.60	630.00	1,008.00
08/27/15	Research regarding rejection of executory contracts	B260	JW	.90	330.00	297.00
08/27/15	Emails with J.Bender and M.Mataya regarding Dominion and rejection of executory contracts (.20); prepare motion to reject Dominion contract (.40); review documents (.30)	B260	ССМО	.90	495.00	445.50
08/27/15	W.Scheller deposition preparation	в910	ССМО	.20	495.00	99.00
08/27/15	Review UCC and UMWA cash collateral objections (.70); prepare for hearing (1.3); prepare proposed orders (.40)	В910	ССМО	2.40	495.00	1,188.00
08/27/15	Review global notes to schedules, comment and revise	B110	ССМО	.60	495.00	297.00



PAGE 256 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Emails with J.Bailey and KCC regarding OCP declaration service (.20); amend ordinary course professional list (.20)	В160	ССМО	.40	495.00	198.00
08/27/15	Call from C.Callies regarding hearing, (.10) email to legal team regarding same, work regarding addition of call-in information to KCC case website (.20)	B110	ССМО	.30	495.00	148.50
08/27/15	Revised application to employ special counsel to pursue BP claims, correspondence with UCC counsel, S.Olen, J.Lamar and P.Darby regarding same	B160	ССМО	.80	495.00	396.00
08/27/15	Draft and revise disclosure statement and solicitation motion (1.9); review comments from M.Hill at KCC regarding solicitation procedures (.30)	B320	JB	2.20	375.00	825.00
08/27/15	Emails with UCC and steering committee regarding adding PWC to OCP list (.20); conference with OCP outside counsel regarding OCP procedures (.10); Draft and revise notice of amendment to OCP list and emails regarding same (.40); advise on service upon retiree committee members (.10)	B160	JB	.80	375.00	300.00
08/27/15	Conference and emails with K.Brown of PWC regarding employment application	B160	JB	.30	375.00	112.50
08/27/15	Review courtcall order on docket and arrange for publication on KCC website	в110	JB	.20	375.00	75.00
08/27/15	Prepare and submit pro hac orders for certain Paul Weiss attorneys	B910	JB	.20	375.00	75.00



> PAGE 257 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/27/15	Preparation for omnibus hearing including review of docket and calendar to advise court on same and organizing pleadings for notebooks	в110	JB	.40	375.00	150.00
08/28/15	Review draft schedules and SOFAs, arrange filing of same, and review filed documents	B110	JB	3.30	375.00	1,237.50
08/28/15	Research, draft, and revise motion to extend deadline to assume or reject leases and emails regarding same	B260	JB	4.80	375.00	1,800.00
08/28/15	Email response to creditor's counsel regarding Black Warrior Methane inquiry	B280	JB	.10	375.00	37.50
08/28/15	Omnibus hearing preparation including agenda drafting and emails regarding same (.30); finalize Kravitz pro hac motion and arrange for filing and payment of filing fee and emails regarding same (.30); review UMWA pro hac motion (.10)	В910	JB	.70	375.00	262.50
08/28/15	Research and revise omnibus reply in support of cash collateral order (1.80); finalize notice of proposed cash collateral order and arrange for filing and service of same (.50)	B330	JB	2.30	375.00	862.50
08/28/15	E-mails with G.Hensley and local counsel regarding litigation	В910	JW	.30	330.00	99.00
08/28/15	Prepare summary of litigation/status and analysis	в910	JW	.30	330.00	99.00



PAGE 258 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Review and analyze executory contracts (1.90); analysis of facts and arguments to reject executory contract (1.80)	B260	JW	3.70	330.00	1,221.00
08/28/15	Review MSHA materials from M.Parris for schedule 5.22 APA (.30); email exchange with M.Parris regarding same and additional information requested (.20)	B130	SJT	.50	630.00	315.00
08/28/15	Review AL Business License information from D.Grucza	в130	SJT	.20	630.00	126.00
08/28/15	Meet with J.Molen to review progress on schedules for APA	B130	SJT	.80	630.00	504.00
08/28/15	Draft and send information for the APA schedule to Paul Weiss and draft narrative explanation of materials	B130	SJT	1.10	630.00	693.00
08/28/15	Draft and revise confidential agreement for USW negotiations at Walter Coke (1.20); draft related pleadings (.70)	B250	JWH	1.90	515.00	978.50
08/28/15	Review confidentiality agreement, protective order (.20); research and analysis regarding UCC request for UMWA redacted documents/information (.40); review document redactions (.30)	B250	JDWA	.90	480.00	432.00
08/28/15	E-mails with A.Arffa regarding deposition coverage (.20); conference call with Akin lawyers regarding depositions, hearings, witnesses, and preparation (1.0); research limits on depositions (.40)	В910	JDWA	1.60	480.00	768.00



PAGE 259 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Conferences with S.Trant on permits for disclosure schedule for 363 asset purchase agreement (.80); conference with J.Bender re disclosure schedule process (.20); review data room for information on permits (.70)	B130	JKM	1.70	575.00	977.50
08/28/15	Conference with J.Woodrum regarding UMWA confidentiality	B250	JDWA	.30	480.00	144.00
08/28/15	E-mails with Cederquist, S.Merkle regarding document production (.20); prepare document production (.20)	В910	JDWA	.40	480.00	192.00
08/28/15	E-mails regarding potential A.P. conflict issues and disclosure	B160	JDWA	.20	480.00	96.00
08/28/15	E-mails with counsel regarding Dominion witness and exhibit list issues and Dominion trial preparation	В910	JDWA	.30	480.00	144.00
08/28/15	Review Schedule 5.22 with M.Parris at Walter for research and reporting	в130	SJT	.60	630.00	378.00
08/28/15	Review environmental matters list from bankruptcy filing and send to D.Grucza for comparison to Schedule 5.5 matters requested	B130	SJT	.20	630.00	126.00
08/28/15	Email exchange with M.Parris and G.Hensley regarding MSHA matters for APA schedules	B130	SJT	.10	630.00	63.00
08/28/15	Conference call with D.Grucza regarding EPA schedules	в130	SJT	.60	630.00	378.00



PAGE 260 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Call from West Virginia supplier regarding use/purchase of equipment (.20); analyze transaction for ordinary course standard (.10)	B210	JPD	.30	725.00	217.50
08/28/15	Emails to and from Blackstone regarding sale procedural issues	в130	JPD	.20	725.00	145.00
08/28/15	Conference with E.Doppelt regarding litigation strategy	в910	JPD	.30	725.00	217.50
08/28/15	Analyze discovery issues regarding UMWA negotiations and discuss with labor counsel	B250	JPD	.30	725.00	217.50
08/28/15	Review pleadings, objections regarding cash collateral and prepare omnibus response (2.30); prepare for trial (.50)	В910	JPD	2.80	725.00	2,030.00
08/28/15	Review pleadings, objections and testimony and documents regarding RSA and prepare response to objections (.90); prepare for trial (.40)	B260	JPD	1.30	725.00	942.50
08/28/15	Analyze discovery issues regarding UCC and discuss with litigation team (.90); discuss discovery issues with lender counsel (.20); and counsel for parties objecting to cash collateral and RSA (.30)	В910	JPD	1.40	725.00	1,015.00
08/28/15	Review objections to cash collateral motion and to RSA motion (.6); conference with co-counsel regarding preparation for cash collateral hearing and RSA motion hearing (1.1)	B910	JRB	1.70	610.00	1,037.00



> PAGE 261 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Review and revise motion to approve disclosure statement and to establish solicitation procedures, and exhibits to same (3.4); confer with J.Bailey regarding draft ballots (.3)	в320	JRB	3.70	610.00	2,257.00
08/28/15	Review proposed revisions to schedules and SOFA's and confer with AlixPartners regarding same (.90); confer with P.Tarry regarding schedules of executory contracts and unexpired leases (.30)	B110	JRB	1.20	610.00	732.00
08/28/15	Confer with M.Mataya regarding rejection of certain contracts (.1); confer with M.Mataya regarding utility contract question and follow up internally regarding same (.2); confer with H.Walker regarding analysis of utility contracts (.5); review and revise motion to extend deadline for assuming and rejecting commercial real estate leases (.5)	B260	JRB	1.30	610.00	793.00
08/28/15	Work on preparation of exhibits and schedules to asset purchase agreement (.20); discuss with J.Molen (.20); review virtual data rooms to find information for asset purchase agreement schedules (.30)	B130	JRB	.70	610.00	427.00
08/28/15	Prepare draft answer to complaint in Dominion Trust litigation (.60); telephone conferences and vmail exchanges with various counsel for other parties in Dominion Trust litigation (.50); emails to P.Darby, J.Bender, and J.Watson reporting on same (.10)	В910	DCB	1.20	580.00	696.00



PAGE 262 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Analyze Alabama Code sections dealing with the PSC re potential procedures/actions to pursue relief in payment dispute with utility	B210	REP	.40	485.00	194.00
08/28/15	Conference call with PSC counsel re questions on procedure to get dispute with utility heard by the PSC	B210	REP	.20	485.00	97.00
08/28/15	Prepare and file Notice of Amending Ordinary Course Professional List, update summary of case deadlines, and attend to other case administration issues	B110	KAK	3.10	235.00	728.50
08/28/15	Prepare and transmit filed copy of workers' compensation May 1, 2014 settlement decree and satisfaction of judgment	B910	СКМ	.30	230.00	69.00
08/28/15	Review proposed final cash collateral order and blackline of same, prepare same for filing and oversee filing (1.20); discuss revisions with counsel (.20); draft notice of filing proposed final cash collatoral order (.30)	B330	ССМО	1.70	495.00	841.50
08/28/15	Analysis of local precedent resolving cash collateral objections and revise omnibus reply to reflect same	в330	ССМО	1.90	495.00	940.50
08/28/15	Emails with D.Meyers regarding revisions to Final cash collateral order to reflect changes requested by ACE	в330	ССМО	.20	495.00	99.00



PAGE 263 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/28/15	Emails to UCC regarding application to employ special counsel to pursue BP claims	B280	ССМО	.10	495.00	49.50
08/28/15	Multiple emails with counsel regarding Blackstone retention application and related issues	B160	ССМО	.30	495.00	148.50
08/28/15	Prepare Motion to Reject Dominion agreement	B260	ССМО	.60	495.00	297.00
08/28/15	Review amendment to OCP list to include PWC and notice of same and provide comments	B160	ССМО	.30	495.00	148.50
08/28/15	Multiple emails with W.Simkulak and J.McMillin regarding ACE bonds	B210	ССМО	.30	495.00	148.50
08/28/15	Review Dominion witness and exhibit list and review Dominion exhibits regarding admission	в330	ССМО	.80	495.00	396.00
08/28/15	Revise motion to extend deadline to assume or reject unexpired leases of real property	B260	ССМО	.80	495.00	396.00
08/28/15	Revise omnibus reply to cash collateral and RSA objections	В910	ССМО	.30	495.00	148.50
08/28/15	Reviewed revised and filed schedules and SOFAs	в110	ССМО	.60	495.00	297.00
08/29/15	Analyze issues regarding engagement of fee examiner and e-mails to co-counsel regarding preparation of application to employ same	B160	JRB	.20	610.00	122.00



PAGE 264 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/29/15	Review bankruptcy schedules and e-mail to asset purchase agreement team regarding use of schedules to prepare asset purchase agreement	B130	JRB	.20	610.00	122.00
08/29/15	Call from M.Hall regarding cash collateral trial preparation and strategy	B910	JPD	.30	725.00	217.50
08/29/15	Prepare Zelin affidavit for RSA/cash collateral hearing	в910	JPD	.70	725.00	507.50
08/29/15	Call from M.Hall regarding case administration issues	B110	JPD	.20	725.00	145.00
08/29/15	Review protective order issues regarding Dominion, UCC	B910	JPD	.20	725.00	145.00
08/29/15	Email co-counsel regarding production of documents and hearing exhibits	B910	JPD	.20	725.00	145.00
08/29/15	Research and discuss limits on depositions (.50); emails with P.Darby, K.Cornish, S.Shimshak and E.Doppelt regarding cash collateral, RSA hearing witnesses and hearing preparation (.40); review and discussion regarding witness/exhibit list (.40); emails with UCC lawyer regarding confidential treatment of exhibits at depositions and hearing (.30)	В910	JDWA	1.60	480.00	768.00
08/29/15	E-mails with trial team regarding admission Dominion exhibits	B910	JDWA	.20	480.00	96.00
08/29/15	Review S.Zelin declaration (.50) and revise (.40)	в910	JDWA	.90	480.00	432.00



PAGE 265 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/29/15	Review status of disclosure schedule items	B130	JKM	.30	575.00	172.50
08/29/15	E-mails with S.Brown regarding NLRB arbitration issues	B250	JDWA	.20	480.00	96.00
08/29/15	Review Caterpillar adequate protection proposal	B210	JDWA	.10	480.00	48.00
08/29/15	Research and analysis regarding priority and discharge of claims	в310	JW	1.30	330.00	429.00
08/29/15	Revise cash collateral reply and emails regarding same	в330	JB	.60	375.00	225.00
08/29/15	Review local authority supporting response to cash collateral objections and revise pleadings	в330	ССМО	.80	495.00	396.00
08/29/15	Research regarding fee examiner motion	B160	ССМО	.20	495.00	99.00
08/30/15	Draft response to Dominion cash collateral objection for omnibus cash collateral response	в330	ССМО	.80	495.00	396.00
08/30/15	Review complaint regarding removal of Black Warrior Basin Amended Complaint and review documents regarding same	В910	ССМО	.30	495.00	148.50
08/30/15	Research, draft, and revise motion to appoint fee examiner	B160	JB	3.70	375.00	1,387.50
08/30/15	Work on cash collateral reply (.20) and prepare for hearing (.20)	в330	JB	.40	375.00	150.00



PAGE 266 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/30/15	Review and analyze executory contracts (.60); research rejection issues (1.20); prepare motion (1.30)	B260	JW	3.10	330.00	1,023.00
08/30/15	Prepare for Zelin and Scheller depositions	В910	JDWA	.40	480.00	192.00
08/30/15	E-mails with counsel regarding confidentiality designations (.20); and prepare unredacted documents for filing (.30)	B910	JDWA	.50	480.00	240.00
08/30/15	E-mails from K.Cornish regarding S.Zelin direct examination (.10); review direct examination outline (.30); review Zelin exhibits (.30); preparation for S.Zelin direct examination (.70)	B910	JDWA	1.40	480.00	672.00
08/30/15	E-mails with G.Wang, J.Ezelle, P.Darby regarding hearing preparation securities litigation motions	В910	JDWA	.20	480.00	96.00
08/30/15	Review data room for business licenses and permits required for disclosure schedules (.90); email client and Alix Partners on additional information required for disclosure schedules (.10); review BWTC/BWMC documents for transfer issues (.60)	В130	JKM	1.60	575.00	920.00
08/30/15	Analyze issues regarding change of committee membership (.20); review emails from creditor counsel regarding same (.10); discuss with client (.10)	B110	JPD	.40	725.00	290.00



PAGE 267 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/30/15	Prepare motion to extend 365(d)(4) deadline to assume leases	B260	JPD	.40	725.00	290.00
08/30/15	Work on production, deposition and discovery issues with UCC	В910	JPD	.40	725.00	290.00
08/30/15	Email exchange with C.Wick regarding cell tower easement	B120	JPD	.20	725.00	145.00
08/30/15	Prepare for September 2 hearings on administrative matters, stay relief and retention applications	B110	JPD	.80	725.00	580.00
08/30/15	Review and revise cash collateral order (.30); review pleadings and arguments and prepare for hearing (1.10)	в330	JPD	1.40	725.00	1,015.00
08/30/15	Review bankruptcy schedules and SOFAs	B110	SJT	.20	630.00	126.00
08/30/15	Review union and committee objections to cash collateral motion and restructuring support agreement and provide comments	В330	JRB	1.20	610.00	732.00
08/31/15	Email exchange with Walter counsel and with Dominion counsel regarding issues related to upcoming hearing and confidentiality order (.20); email from M.Mataya regarding WBWB analysis related to Dominion Trust litigation (.10)	В910	DCB	.30	580.00	174.00
08/31/15	Conference with J.Molen regarding disclosure schedules (.1); e-mail correspondence regarding same (.1)	B130	TMT	.20	495.00	99.00
08/31/15	Phone call with V.Early regarding workers comp issue	B280	JRB	.10	610.00	61.00



PAGE 268 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Respond to creditor inquiries regarding case status	B280	JRB	.10	610.00	61.00
08/31/15	Review and analyze contract and adequate protection issues and documents regarding Caterpillar transaction (.50); phone calls with client regarding same (.20); phone call and e-mails with P. Tarry of AlixPartners regarding Caterpillar (.20); draft letter for client to send to Caterpillar requesting payment (.80)	B120	JRB	1.60	610.00	976.00
08/31/15	Review unredacted affidavits of committee advisors regarding cash collateral objections (.70); meet with co-counsel and financial advisor to prepare for cash collateral hearing (2.80); attend depositions of committee witnesses in connection with cash collateral hearing and motion to assume restructuring support agreement (4.70); retrieve and review documents relating to witnesses' past report (.20)	B910	JRB	8.40	610.00	5,124.00
08/31/15	Review and revise draft fee examiner application	B160	JRB	.60	610.00	366.00
08/31/15	Prepare trial notebooks and exhibits for hearing on September 2nd	В910	KAK	5.20	235.00	1,222.00
08/31/15	Telephone conference with M.Hurley and J.Ramsey on 2011 information request from Ala. Dept. of Revenue	В240	CRG	.50	530.00	265.00



PAGE 269 SEPTEMBER 21, 2015

0W1525-301028

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Review J.Molen email regarding business license and permits for APA (.10); Review analysis of APA schedule 5.22 MSHA from Walter and respond with additional input (.60)	B130	SJT	.70	630.00	441.00
08/31/15	Revise Zelin declaration for cash collateral/RSA trial	В910	JPD	.30	725.00	217.50
08/31/15	Work on discovery and production to and from UCC regarding cash collateral/RSA trial	B910	JPD	.80	725.00	580.00
08/31/15	Review and revise responsive pleading (1.30); and declaration (.60); in response to cash collateral objections	в330	JPD	1.90	725.00	1,377.50
08/31/15	Review Dominion trust exhibits (.40); and emails to and from counsel regarding admission and service (.20)	В910	JPD	.60	725.00	435.00
08/31/15	Research business judgment standard for cash collateral and RSA trial	в910	JPD	.70	725.00	507.50
08/31/15	Review and revise responsive pleading (.70) and declaration (.20) in response to RSA objection	B260	JPD	.90	725.00	652.50
08/31/15	Meet with litigators and witnesses to prepare for depositions and trial on cash collateral and RSA	В910	JPD	5.20	725.00	3,770.00
08/31/15	Review BWMC/BWTC documents and conform to bound volume documents	в130	JKM	.30	575.00	172.50



> PAGE 270 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Review regarding documents to be produced to UCC (.20); e-mails from court, A.Arffa, K.Cornish regarding unredacted exhibits (.20)	В910	JDWA	.40	480.00	192.00
08/31/15	Prepare confidentiality agreement for USW	B250	JDWA	.20	480.00	96.00
08/31/15	Review and revise S.Zelin declaration, pleading	B910	JDWA	.30	480.00	144.00
08/31/15	E-mails from R.Kravitz, A.Lawrence regarding UCC witnesses at hearing	B910	JDWA	.20	480.00	96.00
08/31/15	Deposition and testimony preparation with S.Zelin	B910	JDWA	7.70	480.00	3,696.00
08/31/15	Review updated UMWA pleadings	B250	JWH	.20	515.00	103.00
08/31/15	Review materials from D.Grucza for APA schedules	B130	SJT	.90	630.00	567.00
08/31/15	Review and analyze cases regarding rejection of executory contracts	B260	JW	1.90	330.00	627.00
08/31/15	Draft and revise motion to reject executory contract, notice, and proposed order	B260	JW	1.70	330.00	561.00
08/31/15	E-mail from G.Hensley regarding power of attorney	B110	ΜŪ	.10	330.00	33.00
08/31/15	Research and analysis for removal of litigation (.80); draft notice of removal and compile exhibits (.90)	B910	JW	1.70	330.00	561.00



> PAGE 271 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Emails with J.Watson and D.Cederquist regarding document production in response to UCC request (.40); emails with J.Watson and J.Hargrove regarding protective order and confidentiality order; emails with P.Darby, J.Bender, and L.Martin regarding access to and review of Ordway webinar (.20)	В910	SME	.70	310.00	217.00
08/31/15	Revisions to hearing agenda and emails regarding same (.30); prepare materials for omnibus hearing (.30); emails regarding procedures for telephonic appearances at hearings (.30); assist with preparation for omnibus hearing (1.30)	B110	JB	2.20	375.00	825.00
08/31/15	Review draft cash collateral reply and research and advise on revisions to same (1.70); assist with finalizing reply and declaration for filing and emails regarding same (.40)	B330	JB	2.10	375.00	787.50
08/31/15	Call from creditor inquiring about claims trading	B280	JB	.10	375.00	37.50
08/31/15	Follow up on status of payment of pro hac fees (.10); review notice of payment of pro hac fees (.10); prepare proposed order for Kravitz pro hac and submit same (.10)	B110	JB	.30	375.00	112.50
08/31/15	Emails with counsel for Sureties regarding Plan and Disclosure Statement	в320	JB	.20	375.00	75.00
08/31/15	Revisions to motion to reject	B260	JB	.10	375.00	37.50



PAGE 272 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Emails with J.Bender and M.Mataya regarding lease assumption and rejection issues	B260	ССМО	.20	495.00	99.00
08/31/15	Emails with B.Harvey, S.Zelin regarding Zelin declaration and background facts	В910	ССМО	.40	495.00	198.00
08/31/15	Respond to creditor inquiry from Lexicon Relocation Services	в280	ССМО	.20	495.00	99.00
08/31/15	Emails with C.Callies, P.Darby and B.Bensinger regarding UCC's motion to file documents under seal	B110	ССМО	.20	495.00	99.00
08/31/15	Work regarding conflicts issues and update disclosures	в160	ССМО	.40	495.00	198.00
08/31/15	Phone call with M.Griffin regarding gas sales proceeds	в120	ССМО	.20	495.00	99.00
08/31/15	Review draft of motion to appoint fee examiner and emails with comments	в160	ССМО	.40	495.00	198.00
08/31/15	Emails with interested parties regarding new telephonic hearing procedures	в110	ССМО	.20	495.00	99.00
08/31/15	Review draft motion to reject Dominion royalty conveyance and correspondence regarding comments to same	B260	ССМО	.70	495.00	346.50
08/31/15	Review amended RSA order and emails with A.Young, J.Bailey and C.Tobler regarding same	в110	ССМО	.30	495.00	148.50
08/31/15	Review Bressler OCP declaration	B160	ССМО	.10	495.00	49.50



PAGE 273 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

DATE	DESCRIPTION	TASK	ATTY.	HOURS	RATE	AMOUNT
08/31/15	Review and provide comments to draft notice of removal	В910	ССМО	.30	495.00	148.50
08/31/15	Find supporting authority for legal positions in reply to cash collateral objections	B330	ССМО	.80	495.00	396.00
08/31/15	Review multiple versions of cash collateral response and edits to same (1.40); emails with P.Darby and A.Young regarding draft cash collateral response (.20)	B330	ССМО	1.60	495.00	792.00
08/31/15	Review and supporting research regarding Zelin declaration revisions (1.60); review Steering Committee 2019 statement in connection with Zelin declaration and analyze (.20)	B910	ССМО	1.80	495.00	891.00

FEES

\$967,874.50

07/15/15 Copy	Charges	6.00
07/15/15 Copy		6.00
07/15/15 Copy		6.00
07/15/15 Copy		86.00
07/15/15 Copy	Charges	18.00
07/15/15 Copy	Charges	16.00
07/15/15 Copy	Charges	12.00
07/15/15 Copy	Charges	40.00
07/15/15 Copy	Charges	27.90
07/15/15 Copy	Charges	6.00
07/15/15 Copy	Charges	6.00



PAGE 274 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

07/15/15 Copy	/ Charges				6.00
07/15/15 Copy	/ Charges				6.00
07/15/15 Copy	/ Charges				6.00
07/15/15 Copy	/ Charges				18.00
07/15/15 Copy	/ Charges				6.30
07/15/15 Copy	/ Charges				16.70
07/15/15 Copy	/ Charges				5.20
07/15/15 Copy	/ Charges				8.40
07/15/15 Copy	/ Charges				7.00
07/15/15 Copy	/ Charges				12.60
07/15/15 Copy	/ Charges				2.20
07/15/15 Copy	/ Charges				5.20
07/15/15 Copy	/ Charges				2.20
07/15/15 Copy	/ Charges				26.40
07/15/15 Copy	/ Charges				3.50
07/15/15 Copy	/ Charges				4.80
07/15/15 Copy	/ Charges				9.00
07/15/15 Copy	/ Charges				8.90
07/15/15 Copy	/ Charges				8.90
07/15/15 Copy	/ Charges				5.90
07/15/15 Copy	/ Charges				8.40
07/15/15 Copy	/ Charges				11.10
07/15/15 Copy	/ Charges				8.40
07/15/15 Copy	/ Charges				5.50
07/15/15 Copy	/ Charges				7.10
07/15/15 Copy	/ Charges				1.10
07/15/15 Copy	/ Charges				1.10
07/15/15 Copy	/ Charges				1.10
07/15/15 Copy	/ Charges				1.10
07/15/15 Copy	/ Charges				1.10
07/15/15 Copy	/ Charges				3.50
07/15/15 Copy	/ Charges				3.50
07/15/15 Copy	/ Charges				3.20
07/15/15 Copy	/ Charges	Walter	Energy	Bankruptcy	9.60
07/15/15 Copy	/ Charges	Walter	Energy	Bankruptcy	2.90
07/15/15 Copy	/ Charges	Walter	Energy	Bankruptcy	2.00
07/15/15 Copy	/ Charges	Walter	Energy	Bankruptcy	1.30



> PAGE 275 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

es Walter	Energy	Bankruptcy		1.90
es Walter	Energy	Bankruptcy		9.60
es Walter	Energy	Bankruptcy		2.80
				1.30
es Walter	Energy	Bankruptcy		2.80
				2.60
				3.00
es Walter	Energy	Bankruptcy		3.10
				1.70
es Walter	Energy	Bankruptcy		2.70
				6.50
				1.80
es Walter	Energy	Bankruptcy		3.10
	Energy	Bankruptcy		3.70
es				6.40
				6.20
es Walter	Energy	Bankruptcy		2.70
				3.80
				5.00
				1.90
				4.50
	Energy	Bankruptcy		3.70
				1.10
				2.10
				1.10
				4.90
				8.60
				13.90
				6.80
				1.20
				1.10
				1.50
				1.50
				2.70
				2.10
				2.70
es				1.20
	es Walter es Walter	es Walter Energy es es es es es es es es es es es es es es e	es Valter Energy Bankruptcy es Walter Energy Bankruptcy es e	es Walter Energy Bankruptcy es



PAGE 276 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

07/16/15	Сору	Charges	
07/16/15			
07/16/15			
07/16/15	Сору	Charges	
07/17/15			
07/17/15			
07/17/15			
07/17/15			
07/17/15			
07/19/15			
07/19/15			
07/19/15	Сору	Charges	
07/19/15		Charges	
07/19/15	Сору	Charges	
07/20/15	Сору	Charges	

4		00	
4 5	•		
	-	50	
1	•	90	
4	•	20	
1	•	10	
2	•	90	
3	•	50	
2	•	60	
2	•	90	
1	•	60	
13	•	90	
8	•	80	
3	•	60	
1	•	80	
8	•	60	
3	•	00	
1	•	80 60 00 80 70	
1	•	70	
9	•	90	
4	•	00	
2	•	10	
5	•	00	
3	•	00	
5	•	00	
26	•	40	
2	•	70	
2	•	70	
1	•	20	
2	•	20	
2	•	50	
2		50	
2	•	00	
2	•	60	
1	•	40	
2	•	50 50	
1	•	50	
1	•	20	



PAGE 277 SEPTEMBER 21, 2015

0W1525-301028

2.80 11.80 2.20 1.20 11.00 4.20 2.20 11.80 1.70 1.60 5.50 1.40 1.80 1.90 5.30 1.70 1.00 1.00 1.80 1.70 2.90 2.90 1.70 1.70 1.90 1.80 13.90 1.20 2.90 4.60 1.30 1.10 1.10 2.10 2.10 5.20 1.70

FED ID NO. 63-0243316

07/21/15	Сору	Charges
07/21/15	Сору	Charges
07/22/15	Сору	Charges
07/22/15		
07/22/15		
07/22/15		
07/22/15	Сору	Charges
07/23/15	Сору	Charges
07/23/15		-
07/23/15	Сору	Charges
07/23/15	Сору	Charges
07/23/15	Сору	Charges
07/23/15		
07/23/15	Сору	Charges
07/23/15		-
07/23/15	Сору	Charges



PAGE 278 SEPTEMBER 21, 2015

0W1525-301028

2.50

FED ID NO. 63-0243316

07/23/15	Сору	Charges
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15		
07/24/15	Сору	Charges
07/24/15	Сору	Charges
07/24/15	Сору	Charges
07/26/15	Сору	Charges
07/27/15		
07/27/15		
07/27/15		
07/27/15		
07/27/15		
07/27/15		
07/27/15		
07/27/15		
		-

	-	•	-	~	
	0		2	0	
	1	•	6	0	
	1	•	6	0	
	1	•	8		
	5	•	6		
	1	•	6		
3	9	•	2		
	1	•	6	0	
	5	•	6	0	
	4	•	5		
	5	•	7	0	
	3	•	1	0	
	1	•	8	0	
	1	•	8	0	
	6	•	7	0	
	б	•	5		
	8	•	6		
	6	•	9		
	1	•	1	0	
1	5	•	9		
	5	•	2		
	1	•	2	0	
1	1	•	5 2	0	
	2	•	2	0	
	1	•	1		
	2	•	1	0	
	2 2	•	6		
	3 7	•	7		
	7	•	5		
	1 5	•	0	0	
		•	6		
	4	•	0		
	4	•	0	0	
	3	•	7		
	1	•	0	0	
	1	•	9	0	



PAGE 279 SEPTEMBER 21, 2015

0W1525-301028

7.10 12.60 6.30 3.70 1.70 1.60 1.00 1.00 1.00 4.20 8.40 3.70 3.40 1.00 0.80 1.00 0.90 1.80 4.40 2.50 5.00 1.00 0.80 0.80 0.80 1.50 2.80 18.50 2.20 1.10 3.70 6.60 11.70 11.30 2.30 8.40 1.80

FED ID NO. 63-0243316

07/27/15	Сору	Charges
07/27/15	Сору	Charges
07/28/15		-
07/28/15		
07/28/15	Сору	Charges
07/29/15	Сору	Charges
07/29/15	Сору	Charges
07/29/15	Сору	Charges



PAGE 280 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

07/29/15	Сору	Charges
07/29/15		
07/29/15		
07/29/15		
07/29/15		
07/29/15		
07/29/15		
07/29/15		
07/30/15	Сору	Charges
07/30/15		
07/30/15		
07/30/15		
07/30/15	Сору	Charges
07/30/15	Сору	Charges
07/30/15		
07/30/15	Сору	Charges
07/30/15		
07/30/15		
07/30/15	Сору	Charges
07/31/15	Сору	Charges



> PAGE 281 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

07/31/15 Copy Charges		6.30
07/31/15 Copy Charges		17.80
07/31/15 Copy Charges		26.70
07/31/15 Copy Charges		1.50
07/31/15 Copy Charges		1.10
07/31/15 Copy Charges		37.80
07/31/15 Copy Charges		1.10
07/31/15 Copy Charges		1.80
07/31/15 Copy Charges	jim walter	8.70
07/31/15 Copy Charges		1.10
07/31/15 Copy Charges		2.10
08/01/15 Copy Charges		1.50
08/01/15 Copy Charges		3.00
08/01/15 Copy Charges		1.10
08/01/15 Copy Charges		8.70
08/02/15 Copy Charges		1.80
08/02/15 Copy Charges		2.00
08/02/15 Copy Charges		1.10
08/02/15 Copy Charges		2.00
08/02/15 Copy Charges		1.10
08/02/15 Copy Charges		2.00
08/02/15 Copy Charges		1.00
08/02/15 Copy Charges		1.80
08/02/15 Copy Charges		4.70
08/02/15 Copy Charges		1.30
08/02/15 Copy Charges		1.00
08/02/15 Copy Charges		1.60
08/02/15 Copy Charges		2.00
08/02/15 Copy Charges		1.10
08/02/15 Copy Charges		1.00
08/02/15 Copy Charges		1.00
08/02/15 Copy Charges		1.00
08/02/15 Copy Charges		7.70
08/03/15 Copy Charges		8.70
08/03/15 Copy Charges		1.00
08/03/15 Copy Charges		6.60
08/03/15 Copy Charges		7.20



PAGE 282 SEPTEMBER 21, 2015

0W1525-301028

6.10 1.00 1.50 2.20 3.10 8.70 2.10 1.80 1.00 1.00 1.60 1.10 4.70 0.10 4.00 8.70 3.70 1.30 1.60 11.60 3.60 2.40 4.00 2.00 1.80 1.20 1.20 8.40 2.30 1.30 1.00 1.10 1.20 8.70 1.90 1.30 1.00

FED ID NO. 63-0243316

08/03/15	Сору	Charges
08/03/15		
08/03/15		
08/03/15		
08/03/15	Сору	Charges
08/04/15	Сору	Charges
		Charges
		Charges
08/05/15	Сору	Charges
08/05/15	Сору	Charges



PAGE 283 SEPTEMBER 21, 2015

0W1525-301028

4.80 1.60 1.40 4.00 8.80 8.70 7.20 6.70 5.50 7.00 2.50 9.90 2.00 4.40 9.30 1.50 1.10 1.90 2.20 1.90 2.90 1.20 9.30 10.30 1.00 1.40 1.30 1.70 1.00 1.20 3.70 1.50 4.00 4.00 8.70 13.90 0.50

FED ID NO. 63-0243316

08/05/15	Сору	Charges
08/05/15	Сору	Charges
08/05/15		
08/06/15		
08/06/15	Сору	Charges
08/06/15		-
08/06/15		_
08/06/15	Сору	Charges
08/06/15	Сору	Charges
08/06/15		-
08/06/15		
08/06/15		
08/06/15		-
08/06/15		
08/06/15		
08/07/15		
08/07/15	Сору	Charges
08/07/15		
08/07/15		
08/07/15		
08/07/15		-
08/07/15		-
08/07/15	Сору	Charges



PAGE 284 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

08/07/15	Сору	Charges
08/07/15		Charges
08/07/15	Сору	Charges
08/08/15	Сору	Charges
08/08/15		Charges
08/08/15	Сору	Charges
08/08/15	Сору	Charges
08/08/15	Сору	Charges
08/08/15		Charges
08/08/15		Charges
08/09/15		Charges
08/09/15	Сору	Charges
08/09/15		Charges
08/09/15	Сору	Charges
08/09/15	Сору	Charges
08/10/15		Charges
08/10/15		Charges
08/10/15	Сору	Charges
08/10/15		Charges
08/10/15	Сору	Charges
08/11/15		Charges
08/11/15	Сору	Charges

4.	20
	20 30
1. 1.	50
⊥. 5.	90
	20
	80
5.	90
1.	10 70
3.	
1.	60
1.	80
1.	00
5.	20
1.	90
1.	80
1. 1.	40
⊥. 1.	20
	40
4.	30
5.	40
1.	80
1.	00
7.	40
4.	00
1.	50
1.	50
1.	50
1.	50
1.	60
1.	50
1.	10
7.	50
2. 2.	30
2. 5.	30
5. 2.	00
2.	30
8.	70



PAGE 285 SEPTEMBER 21, 2015

0W1525-301028

8.70 1.80 1.00 1.60 2.30 5.40 1.10 4.00 1.40 1.00 3.50 6.30 1.80 4.40 1.40 4.40 1.20 3.60 1.20 4.40 1.90 5.90 7.30 1.90 4.20 4.50 1.40 9.40 1.10 11.20 8.90 8.90 8.80 1.00 6.70 2.20 1.60

FED ID NO. 63-0243316

08/11/15	Сору	Charges
08/11/15		
08/11/15		
08/11/15	Сору	Charges
08/11/15		
08/11/15	Сору	Charges
08/12/15		
08/12/15	Сору	Charges
08/12/15		
08/12/15	Сору	Charges
08/12/15	Сору	Charges
08/12/15	Сору	Charges
08/12/15		
08/12/15		
08/12/15	Сору	Charges
08/13/15		
08/13/15	Сору	Charges
08/13/15	Сору	Charges
08/13/15	Сору	Charges
08/13/15		
08/13/15	Сору	Charges
08/13/15	Сору	Charges
08/13/15	Сору	Charges



PAGE 286 SEPTEMBER 21, 2015

0W1525-301028

1.90

FED ID NO. 63-0243316

08/13/15	Сору	Charges
08/13/15		
08/13/15		
08/13/15	Сору	Charges
08/13/15	Сору	Charges
08/13/15		
08/13/15	Сору	Charges
08/14/15		
08/14/15	Сору	Charges
08/15/15	Сору	Charges
08/16/15	Сору	Charges

	-	•	2	0	
	1		3	0	
	1		0	0	
	2		0		
	2		1		
	1		5	0	
	2		1	0	
	2		9	0	
	0		8	0	
	0		6	0	
	1		0	0	
	1		6 0 4 0	0	
	1		0	0	
	1		8	0	
	1		8	0	
	1		8	0	
1	1		2	0	
	1		8	0	
	1	•	0		
	1 2	•	1	0	
	1		4	0	
	1 1		0		
	1	•	1	0	
	9	•	4		
	1	•	7	0	
	3	•	8	0	
	2	•	6	0	
	2	•	4	0	
	3 2 2 2	•	0	0	
	1	•	4	0	
	2	•	3		
	2	•	2	0	
	2 2 2		5		
	- 3 9 7 2		1		
	9	•	3	0	
	7	•	7	0	
	2	•	4	0	



PAGE 287 SEPTEMBER 21, 2015

0W1525-301028

2.60 2.10 1.00

FED ID NO. 63-0243316

#### DESCRIPTION OF DISBURSEMENTS

08/16/15	Сору	Charges
08/16/15	Сору	Charges
08/16/15	Сору	Charges
08/16/15	Сору	Charges
08/17/15	Сору	Charges

		т	٠	U	U
		2	•	4	0
1	0	9	•	4	0
		6	•	0	0
		1		0	0
	2	4		9	0
		6		9	0
	1	5		0	0
		3	•	0	0
	9	0	•	0	0
		2		0	0
		1		3	0
		3	•	0	0
		1	•	1	0
1	б	4	•	1	0
		0	•	3	0
		2	•	0	0
		3	•	0	0
		0	•	1	0
		1	•	0	0
		2	•	0	0
		1	•	0	0
	8	2	•	5	0
		1	•	0	0
		1	•	0	0
		3	•	9	0
		1	•	0	0
		1	•	9	0
		2	•	9	0
		1	•	1	0
		1	•	0	
		2	•	0	0
		1	•	4	0
		-		-	~

1.10 2.50



PAGE 288 SEPTEMBER 21, 2015

0W1525-301028

12.10 6.40 1.00 2.60 2.10 34.60 5.90 7.20 1.80 14.30 3.50 14.00 2.20 32.00 60.50 12.00 1.50 1.40 1.40 1.00 1.90 1.70 1.00 1.10 1.40 1.10 2.20 1.00 1.00 1.00 1.90 6.90 44.90 1.60 2.50 3.40 4.80

FED ID NO. 63-0243316

08/17/15	Сору	Charges
08/17/15	Copy	Charges
08/17/15		
08/17/15	Copy	Charges
08/17/15		
08/17/15	Сору	Charges
08/17/15		
08/17/15	Сору	Charges
08/17/15	Сору	Charges
08/17/15	Сору	Charges
08/18/15	Сору	Charges
08/18/15		-
08/18/15	Сору	Charges



PAGE 289 SEPTEMBER 21, 2015

0W1525-301028

4.00 1.20 1.60 1.60 1.60 12.20 1.20 2.40 2.50 1.30 12.20 9.70 12.20 10.50 1.80 2.80 2.80 6.00 2.40 2.40 1.60 6.40 2.00 63.00 2.00 1.60 1.60 1.20 1.60 9.50 9.50 1.90 5.60 1.20 1.20 11.20 5.60

FED ID NO. 63-0243316

08/18/15	Сору	Charges
08/18/15		
08/18/15	Сору	Charges
08/18/15		
08/18/15	Сору	Charges
08/19/15		
08/19/15		
08/19/15	Сору	Charges
08/19/15		
08/20/15	Сору	Charges
08/20/15		
08/20/15		
08/20/15		-
08/20/15	Сору	Charges



PAGE 290 SEPTEMBER 21, 2015

0W1525-301028

5.60 2.10 1.10 2.40 2.40 9.70 4.30 2.50 9.70 12.20 3.20 3.40 9.70 1.10 1.10 1.00 1.00 1.00 1.20 1.80 30.50 31.50 30.00 34.50 27.00 44.90 3.90 3.50 34.50 1.80 26.50 96.50 1.00 26.00 3.00 3.00 22.00

FED ID NO. 63-0243316

#### DESCRIPTION OF DISBURSEMENTS

08/20/15	Сору	Charges
08/20/15	Сору	Charges
08/21/15		
08/21/15	Сору	Charges

Case 15-02741-TOM11



PAGE 291 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

08/21/15	Сору	Charges
08/21/15	Сору	Charges
08/21/15		
08/21/15		
08/21/15	Сору	Charges
08/21/15	Сору	Charges
08/21/15	Сору	Charges
08/22/15	Сору	Charges
08/24/15	Сору	Charges
08/25/15	Сору	Charges
08/26/15	Сору	Charges

1 4 2 8 1	5. 1. 6.	.0 .5 .5 .9 .5	0 0 0 0 0 0 0
	1 . 0 . 0 . 7 .	. 5 . 4 . 5 . 2 . 3 . 8 . 0 . 0 . 0	0 0 0 0 0 0 0 0 0
1	3 1 1 2 3 1 3 2 5 3 4 1 1 9 3 2	. 3 . 6 . 0 . 0 . 1 . 6 . 5 . 6 . 3 . 3 . 5	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0



PAGE 292 SEPTEMBER 21, 2015

0W1525-301028

1.60 1.30

FED ID NO. 63-0243316

08/26/15	Сору	Charges
08/26/15		
08/26/15	Сору	Charges
08/26/15	Сору	Charges
08/26/15	Сору	Charges
08/26/15		
08/26/15	Сору	Charges
08/27/15	Сору	Charges

	-	•	-	~	
	4		7	0	
	3		5	0	
	4 3 2 1		5	0 0	
			3	0	
	6 2 4 1		4	0	
	2	•	5	0	
	4	•	8	0	
	1	•	3		
	9 0	•	0		
1	0	•	0		
	1	•	8	0	
	2	•	8	0	
	2	•	8	0	
	4	•	9	0	
	4	•	5	0	
	4	•	9	0	
	1 2 2 4 4 4 4 1		9	0	
	1	•	5	0	
4	8	•	5		
1	2	•	3	0	
	1	•	2	0	
	3	•	5	0	
	1	•	6	0	
	1	•	4	0	
	1	•	0		
	1	•	6		
	2	•	6		
	1	•	5		
	2		5		
	4	•	8		
	821311121242357	•	5	0	
	3	•	5	0	
1	5	•	6	0	
2	7	•	0		
7	8	•	0	0	



PAGE 293 SEPTEMBER 21, 2015

0W1525-301028

1.00 1.00 1.60 2.20 1.10 3.20 1.10 2.10 1.00 9.80 12.30 4.80 3.40 6.20 8.80 8.80 13.90 17.80 1.30 1.00 1.50 2.80 44.00 4.50 27.00 4.00 12.50 27.00 69.50 9.50 1.20 11.10 1.50 2.00 14.50 36.50 2.70

FED ID NO. 63-0243316

08/27/15	Сору	Charges
08/27/15		
08/27/15	Сору	Charges
08/28/15	Сору	Charges



PAGE 294 SEPTEMBER 21, 2015

0W1525-301028

86.90 3.10 3.60 1.30 0.30 1.50 4.70 25.50 3.40 5.00 7.80 3.70 17.80 6.20 6.20 2.10 5.60 2.10 2.00 2.60 1.00 2.00 1.00 1.10 13.90 1.50 1.80 1.90 1.90 1.60 5.60 6.00 4.80 4.80 30.10 30.10 1.40

FED ID NO. 63-0243316

08/28/15	Сору	Charges
08/28/15	Сору	Charges
08/29/15	Сору	Charges
08/29/15	Сору	Charges
08/29/15	Сору	Charges
08/30/15	Сору	Charges
08/31/15		
08/31/15	Сору	Charges
08/31/15	Сору	Charges



> PAGE 295 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

#### DESCRIPTION OF DISBURSEMENTS

08/31/15 Copy Charges	142.60
08/31/15 Copy Charges	1.40
08/31/15 Copy Charges	5.4
08/31/15 Copy Charges	4.8
08/31/15 Copy Charges	45.50
08/31/15 Copy Charges	34.3
08/31/15 Copy Charges	31.5
08/31/15 Copy Charges	33.6
08/31/15 Copy Charges	37.8
08/31/15 Copy Charges	9.6
08/31/15 Copy Charges	4.2
08/31/15 Copy Charges	30.8
08/31/15 Copy Charges	2.8
08/31/15 Copy Charges	45.50
08/31/15 Copy Charges	6.30
08/31/15 Copy Charges	33.60
08/31/15 Copy Charges	37.80
08/31/15 Copy Charges	2.0
08/31/15 Copy Charges	1.7
08/31/15 Copy Charges	4.8
08/31/15 Copy Charges	4.80
08/31/15 Copy Charges	1.40
08/31/15 Copy Charges	1.70
08/31/15 Copy Charges	0.70
08/31/15 Copy Charges	2.00
08/31/15 Copy Charges	9.0
08/31/15 Copy Charges	3.5
08/31/15 Copy Charges	15.6
08/31/15 Copy Charges	2.5
08/31/15 Copy Charges	2.5
08/31/15 Copy Charges	1.7
08/31/15 Copy Charges	3.4
08/31/15 Copy Charges	11.7
08/31/15 Copy Charges	1.90
08/31/15 Copy Charges	1.6
08/31/15 Copy Charges	29.10
08/31/15 Copy Charges	1.60

Case 15-02741-TOM11



> PAGE 296 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

08/31/15	Copy Charges	7.20
08/31/15	Copy Charges	4.00
08/31/15	Copy Charges	15.60
08/31/15	Copy Charges	15.60
08/31/15	Copy Charges	11.70
08/31/15	Copy Charges	1.80
08/31/15	Copy Charges	25.20
08/31/15	Copy Charges	11.70
08/31/15	Copy Charges	11.70
08/31/15	Copy Charges	7.20
08/31/15	Copy Charges	6.40
08/31/15	Copy Charges	83.40
07/31/15	Postage Charges	31.31
08/13/15	Postage Charges	12.20
07/15/15	Secretarial Overtime KPB 07/15/2015	149.45
	Secretarial Overtime KPB 07/16/2015	44.88
07/17/15	Secretarial Overtime KPB 07/17/2015	10.32
08/26/15	Filing Fees - U S DISTRICT COURT CLERK JB PRO	50.00
	HAC VICE MOTION FILING FEE	
	Bank ID: GENR Check Number: 201083	
08/26/15	Filing Fees - U S DISTRICT COURT CLERK JB PRO	50.00
	HAC VICE MOTION FILING FEE	
	Bank ID: GENR Check Number: 201084	
08/26/15	Filing Fees - U S DISTRICT COURT CLERK JB PRO	50.00
	HAC VICE MOTION FILING FEE	
	Bank ID: GENR Check Number: 201085	
08/28/15	Filing Fees - BRADLEY ARANT BOULT CUMMINGS LLP	176.00
	USBC 7-30-15	
	Bank ID: PCARD Check Number: P621	
08/24/15	Court Reporter Charges - FREEDOM COURT	60.00
	REPORTING, INC. JWH DEPOSITION OF MICHAEL	
	WARREN ROSS 6/22/15	
	Bank ID: GENR Check Number: 200987	
08/31/15	Court Reporter Charges - TYLER EATON MORGAN	788.50
	NICHOL PD DEPOSITION TRANSCRIPT WILLIAM G.	
	HARVEY 8/14/15	
	Bank ID: GENR Check Number: 201256	



> PAGE 297 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

07/27/15	Transcript Charges - J&J COURT TRANSCRIBERS, INC. JB TRANSCRIPT OF HEARING ON 7/15/15	130.80
08/12/15	Bank ID: GENR Check Number: 199369 Transcript Charges - J&J COURT TRANSCRIBERS, INC. CC TRANSCRIPT OF HEARING 8/3/15 Bank ID: GENR Check Number: 200284	44.10
08/06/15	Airline Tickets - JOHN W. HARGROVE - 7/27/2015 TRIP TO WASHINGTON, DC TO ATTEND CLIENT MEETING Bank ID: GENR Check Number: 200028	572.20
08/06/15	Airline Tickets - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARTZ Bank ID: GENR Check Number: 200101	504.20
08/06/15	Travel Expense - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARTZ (AIRPORT PARKING) Bank ID: GENR Check Number: 200101	12.00
08/06/15	Travel Expense - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARTZ (METRORAIL) Bank ID: GENR Check Number: 200101	3.00
08/06/15	Travel Expense - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARZ (TAXI - FROM AIRPORT TO MEETING)	25.00
08/06/15	Bank ID: GENR Check Number: 200101 Travel Expense - JOHN W. HARGROVE - 7/27/2015 TRIP TO WASHINGTON, DC TO ATTEND CLIENT MEETING (AIRPORT PARKING) Bank ID: GENR Check Number: 200028	12.00
08/06/15	Travel Expense - JOHN W. HARGROVE - 7/27/2015 TRIP TO WASHINGTON, DC TO ATTEND CLIENT MEETING (METROLINK) Bank ID: GENR Check Number: 200028	3.15



> PAGE 298 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

08/31/15	Travel Expense - JOHN W. HARGROVE - 6/11/2015 ROUNDTRIP TRAVEL TO TUSCALOOSA, AL FOR MEETINGS WITH MANAGERS/SUPERVISORS REGARDING STRIKE CONTINGENCY PLAN (114 @ .575)	65.55
08/06/15	Bank ID: GENR Check Number: 201361 Meal Expense - JOHN W. HARGROVE - 7/27/2015 TRIP TO WASHINGTON, DC TO ATTEND CLIENT MEETING (LUNCH)	4.99
08/06/15	Bank ID: GENR Check Number: 200028 Meal Expense - JOHN W. HARGROVE - 7/27/2015 TRIP TO WASHINGTON, DC TO ATTEND CLIENT MEETING (DINNER)	16.42
08/06/15	Bank ID: GENR Check Number: 200028 Meal Expense - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARZ (BREAKFAST)	8.77
08/06/15	Bank ID: GENR Check Number: 200101 Meal Expense - JOHN D WATSON III - 7/27/2015 TRIP TO WASHINGTON, DC FOR MEETING WITH J.WOODRUM, S.SCHWARZ (DINNER)	11.79
08/31/15	Bank ID: GENR Check Number: 200101 Meal Expense - ZOE'S KITCHEN INC 8/18/2015 LUNCH MEETING	46.19
08/19/15	Bank ID: GENR Check Number: 201457 Professional Consultant Services - JAMS INC JDW SERVICES RENDERED Bank ID: GENR Check Number: 200742	472.50
08/07/15	Express Mail/Fedex	8.19
	Computerized Legal Research-Westlaw Westlaw	98.90
57715715	User: MOORE, CATHLEEN C	20.20
07/30/15	Computerized Legal Research-Westlaw Westlaw User: BENDER,JAY R	9.90
08/06/15	Computerized Legal Research-Westlaw Westlaw User: MOORE,CATHLEEN C	68.80
08/08/15	Computerized Legal Research-Westlaw Westlaw User: MOORE,CATHLEEN C	68.80



> PAGE 299 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

#### DESCRIPTION OF DISBURSEMENTS

08/09/15	Computerized Legal Research-Westlaw	Westlaw	39.60
	User: MOORE, CATHLEEN C		
08/10/15	Computerized Legal Research-Westlaw	Westlaw	39.60
	User: MOORE, CATHLEEN C		
08/11/15	Computerized Legal Research-Westlaw	Westlaw	89.10
	User: MOORE, CATHLEEN C		
08/13/15	Computerized Legal Research-Westlaw	Westlaw	344.90
	User: MOORE,CATHLEEN C		
08/14/15	Computerized Legal Research-Westlaw	Westlaw	99.00
	User: MOORE,CATHLEEN C		
08/16/15	Computerized Legal Research-Westlaw	Westlaw	123.70
	User: MOORE, CATHLEEN C		
08/17/15	Computerized Legal Research-Westlaw	Westlaw	68.80
	User: MOORE, CATHLEEN C		
08/20/15	Computerized Legal Research-Westlaw	Westlaw	195.50
	User: MOORE, CATHLEEN C		
08/21/15	Computerized Legal Research-Westlaw	Westlaw	39.60
	User: MOORE, CATHLEEN C		
08/24/15	Computerized Legal Research-Westlaw	Westlaw	106.90
	User: MOORE, CATHLEEN C	_	
08/25/15	Computerized Legal Research-Westlaw	Westlaw	9.90
	User: MOORE, CATHLEEN C	_	
08/26/15	Computerized Legal Research-Westlaw	Westlaw	91.00
	User: BENDER, JAY R	_	
08/28/15	Computerized Legal Research-Westlaw	Westlaw	9.90
/ /	User: MOORE, CATHLEEN C		
	FED DOCKET SERV-PACER		115.10
	Ready Conference CMOORE 07/23/2015		8.97
	Ready Conference CMOORE 07/21/2015		4.17
	Ready Conference JBENDER 07/24/2015		4.88
	Ready Conference SMERKLE 08/10/2015		5.58
	Ready Conference JBAILEY 08/13/2015		3.55
08/20/15	Ready Conference CMOORE 07/30/2015		8.23

COSTS

\$10,853.19

Case 15-02741-TOM11



> PAGE 300 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

AMOUNT DUE THIS BILL

\$978,727.69

\*\*\*\*\* TOTAL DUE UPON RECEIPT \*\*\*\*\*



> PAGE 301 SEPTEMBER 21, 2015

0W1525-301028

FED ID NO. 63-0243316

### INDIVIDUAL SUMMARY

NAME	RANK	RATE	HOURS	AMOUNT
Sarah Merkle	Associate	310.00	40.40	12,524.00
John K. Molen	Partner	575.00	81.10	46,632.50
Charles A. J. Beavers, Ju	r.Partner	535.00	1.60	856.00
John D. Watson	Partner	480.00	138.30	66,384.00
John W. Hargrove	Partner	515.00	51.90	26,728.50
Sid J. Trant	Partner	630.00	55.60	35,028.00
Kenneth T. Wyatt	Partner	575.00	.80	460.00
J. Patrick Darby	Partner	725.00	225.00	163,125.00
Meade Whitaker Jr.	Partner	585.00	.30	175.50
Jay R. Bender	Partner	610.00	235.90	143,899.00
Tracy M. Thompson	Partner	495.00	67.60	33,462.00
Dylan C. Black	Partner	580.00	70.60	40,948.00
Christopher R. Grissom	Partner	530.00	11.60	6,148.00
Robert E. Poundstone	Partner	485.00	.60	291.00
Jennifer D. McGahey	Partner	465.00	.20	93.00
Veronica C. Henley	Paralegal	240.00	210.30	50,472.00
Kimberly A. Kirsch	Paralegal	235.00	58.60	13,771.00
Koni McBride	Paralegal	280.00	7.90	2,212.00
Cheryl K. Muglach	Paralegal	230.00	8.50	1,955.00
Cathleen C. Moore	Counsel	495.00	337.30	166,963.50
James E. Long	Partner	430.00	19.50	8,385.00
C. Jason Avery	Partner	405.00	6.80	2,754.00
James Bailey	Associate	375.00	189.50	71,062.50
Denetra Hartzog	Associate	325.00	31.60	10,270.00
Jay Watkins	Associate	330.00	157.00	51,810.00
Harvey L. Yarborough	Lit. Support	260.00	2.60	676.00
Zeke Couch	Law Clerk	205.00	21.30	4,366.50
Jim Thurman	Lit. Support	205.00	25.60	5,248.00
_				

Total

2,058.00 966,700.00

Case 15-02741-TOM11



SEPTEMBER 21, 2015 OW1525-301028 INVOICE # 1055703

BILL AMOUNT \$978,727.69

то:	Walter Energy, Inc.	TC Number:	
	c/o Earl H. Doppelt	Invoice Date:	09/21/2015
	Senior Vice President and General Counsel	Invoice No.	1055703
	3000 Riverchase Galleria	Period ending:	08/31/2015
	Suite 1700		
	Birmingham, AL 35244		

Case Management Number LD 0W1525-301028

	Curre	ent Invoice
Code Task	Hours	Fees
B110 Case Administration	542.90	\$195,696.50
B120 Asset Analysis and Recovery	110.10	\$ 48,282.50
B130 Asset Disposition	236.60	\$134,928.50
B140 Relief from Stay Proceedings	44.10	\$ 19,666.50
B160 Fee/Employment Applications	112.00	\$ 55,332.50
B210 Business Operations	93.10	\$ 52,593.50
B220 Employee Benefits/Pensions	8.30	\$ 5,389.50
B240 Tax Issues	54.30	\$ 23,134.00
B250 Labor and Union Matters	119.90	\$ 64,186.00
B260 Lease/Executory Contract Issues	60.20	\$ 26,097.00
B280 Creditor Inquiries	16.80	\$ 9,201.00
B310 Claims Administration and Objections	26.50	\$ 10,942.50
B320 Plan and Disclosure Statement	111.30	\$ 54,067.00
B330 Cash Collateral/Exit Financing	75.30	\$ 39,752.00
B910 Litigation	446.60	\$227,431.00
		, ,

## -----

TOTAL FEES	2,060.60	\$967,874.50
TOTAL FEES DUE TOTAL DISBURSEMENTS DUE TOTAL DUE THIS INVOICE		\$967,874.50 \$ 10,853.19 \$978,727.69

# <u>Exhibit B</u>

Verification of Patrick Darby

# UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF ALABAMA SOUTHERN DIVISION

In re:

WALTER ENERGY, INC., et al.,<sup>1</sup>

Debtors.

Chapter 11 Case No. 15-02741-TOM11 Jointly Administered

Objection Deadline: October 6, 2015, at 4:00 p.m. (CT)

# **VERIFICATION**

I, Patrick Darby, after being duly sworn according to law, deposes and says:

a) I am a Partner with the applicant firm, Bradley Arant Boult Cummings LLP.

b) I am familiar with the work performed on behalf of the Debtors by Bradley Arant

Boult Cummings LLP.

c) I have reviewed the foregoing Application and the facts set forth therein are true

and correct to the best of my knowledge, information, and belief.

Dated: September 22, 2015

Patrick Darby Partner, Bradley Arant Boult Cummings LLP

Ckš연15<sup>1</sup>02741-TOM11 Doc 769-1 Filed 09/22/15 Entered 09/22/15 17:32:36 Desc Part 2 Page 157 of 157

<sup>&</sup>lt;sup>1</sup> The Debtors in these cases, along with the last four digits of each Debtor's federal tax identification number, are: Walter Energy, Inc. (9953); Atlantic Development and Capital, LLC (8121); Atlantic Leaseco, LLC (5308); Blue Creek Coal Sales, Inc. (6986); Blue Creek Energy, Inc. (0986); J.W. Walter, Inc. (0648); Jefferson Warrior Railroad Company, Inc. (3200); Jim Walter Homes, LLC (4589); Jim Walter Resources, Inc. (1186); Maple Coal Co., LLC (6791); Sloss-Sheffield Steel & Iron Company (4884); SP Machine, Inc. (9945); Taft Coal Sales & Associates, Inc. (8731); Tuscaloosa Resources, Inc. (4869); V Manufacturing Company (9790); Walter Black Warrior Basin LLC (5973); Walter Coke, Inc. (9791); Walter Energy Holdings, LLC (1596); Walter Exploration & Production LLC (5786); Walter Home Improvement, Inc. (1633); Walter Land Company (7709); Walter Minerals, Inc. (9714); and Walter Natural Gas, LLC (1198). The location of the Debtors' corporate headquarters is 3000 Riverchase Galleria, Suite 1700, Birmingham, Alabama 35244-2359.